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tlon which says, Intelligence mea
Ss-rooms and from the readin butisa

‘ v,sse,nce of the faculties of understanding reasoning, judgmen

Iiggrt::;s ¥::hbe#eve in general intelligence, while there are some others
o o e dr'it class belongs writers like Ster. Meanman and Balla astot
e orndike. Wordsworth defies Intelligence" as that "whi ves doing a :
of things and do them right". Cyril Burt says, "Intelligence is t er of reasoning and
nNew situations”. Ebbinghans considers that "intelligence is the ability to abstract, compare,
nd classify. The formulator of "patient puzzle”, Binet, a well-known psychologist is of the view that

;cg consists of.(a) Consciousness of the ends to be attained; (b TEQe trial of possible means to end; (c)
icism of the trials made. &/

ntelligence Tests: A man, apart from the general intellgg has special aptitude. Hence, itis essential
san

persons should be chosen to hold different appointm{g’r{ d to do different jobs.

xperiments have been made and researches have b’e\ér/conducted in this connection and it has been
hed that intelligence tests are best suited for this ebject. Such intelligence tests have been evolved by
ublic Service Commissions and other various %f@hd military examinations in Pakistan to select suitable
; for filling various appointments in the diff{l’@’lt departments. Such tests are conducted by Inter Service
ion Board (ISSB), for candidates who are aﬁzgious for joining Army, Air Force and Navy Therefore, the test
elligence becomes the key Point of all (fj(% ion tests.
"4

igin of Intelligence Tests: The idea o @Iligence is said to have originated in France, where a French
ologist, M. Binet, conducted a greaf research in this field and finally designed different kinds of tests for
e candidates for the various jobs. M. Binet, in 1896, prepared various

to select candidates on those lines.

and decline of Inggence: Psychologists believe that the process of growth of intelligence continues in
s rapidly to the age of 13 to 15, and more slowly to age of 15 to 18. Researches and

f?t out that intelligence comes to its climax at the age of 26 years. Then at a certain age
r Return of Intelligence begins and it actually starts decreasing in old age.

8sB Intelligence Tests: These tests are conducted to select those men who are sound both in
tal faculties. In their service, the officers face many complicated situations, in which n
e lives of numerous soldiers under their command are under risk. If the officers

ellect, they cannot withstand heavy odds.

e are many kinds of intelligence tests. These tests co
athematical problems, military information, easy, scienti
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they are not allowed to as

or i Ily gets only 30 seconds fpr one qu
e e g the questions ant

candidate fails to concentrate on solvin o)

g behind.
ostions, the answers of which are notreadily known tQ;h capdidates. in suct
. uestions. On reac

as must leave them and pass on to answering the g%t»
- can find time and refer back to such unattempted gaestions and can answer th

Id not put any mark on the booklets which conta uestions. They should not tear
These booklets are to be returned to the test@/’o icer intact.

uestion booklets, the candidates are given /gﬁwer sheet. The candidates should be
ng the personal particulars on the top @ar sheet. Before starting writing answers.

ns, the candidates must fill in these particUfers.

first column of this answer sheet, sw,e'ri‘ai,number of the guestions contained in the bookle
e candidates should start givin@@vers in the second column. ﬁ

O
B
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easy questions. He must try to solve them ¢
ist be patient and steady in sowing the problems. H
e tests. In order to gain a high number of marks, t‘h_
g relationships between different things or patterns given in the Set ¢

st observe very minutely the words, figures, patterns, etc. The candld'ate Hd
relationship between these things. The verbal intelligence tests are of varia
ne-Word Substitution, Insertion of Missing Letter, Insertion of Missin eror slf
g, Jumbled words, Formation of Correct Sentence, Letter Distinction, Gen 'owlque T_e*
st, Completion Test, Synonym Test, Direction Test, Spotting the Stran de Test, Coding .
mmonsense Test, Multipie Choice Tests Arithmetic Test, etc. E ?‘

| Intelligence Tests: In non-verbal intelligence tests, the items are sed by materials for

line drawings, patterns, wooden or plastic pictures, etc.

tests are usually arranged to remove the inconvenience of mos%ﬁe candidates who are not fully &
ith the language. Besides, the Mujaheds or soldiers in the Pakistan Armed Forces have often to tackle

) situations in their practical military life. {:.:}

e non-verbal intelligence tests comprise of Matrix Test, Sequénce Test, Mechanical Aptitude Test, Word

e

ﬁﬁ%itude Test. Thematic Apperception (Picture-Story writing);Fhe Psychological Situational Test (The story of
THEO or Mr. "Block-Making Test, etc. _\0
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examples, and que

| together with th

ement or corres 3

in the phrase,
ol woF:d, a phrase with the

dinarily formed similarity of der

eir meanings,

\s "an agre

ce of relations,
Jess: correspondence ofa
words and phrases are or

. the missing word.

ithis to falsehood.

ce the word Falsehood has been inserted.

ove senten
choice gives the answe r

mple 3. Ring is to Finger as watch is to
\nn (ii) wrist (iii) leg.

’\'”‘
'*/\

e |y 1 1 : 1 i
2 In this test, there exists a @é’(‘a’m relationship between the pairs of the words.

e number of the two oﬁ}\}s which keep the same relationship as pen and ink in the followin

(iii) Player (iv) Hackey (v) Doctor (vi) Cobbler
D

jumbled s

Y elli
ace out the correct word and i Pellings of some common words are giv

te it. Sometimes, a hint is also given abol

ther wit : , '
hout order: to be mixeq together confusedly

the word from the following jumbled soefin
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g ing Test: Giving Code or artificial values to Letter of Alphabet. The word co
or digit of law: a system of rules and regulations, established principles or standa
b OF symbols which represents sentences or other words to ensure econom

"\ ice of army, perfect secrecy is required about the information with rega
army. For t‘hl.s object, often secret messages are to be conveyed in coad
. Hence, it is essential that the candidates should be in a position to_t

of alphabet, in this test, do not stand for themselves but they stard for some other letters which keepan
al or code value. These artificial or code values are given to the habets according to some fixed law
ern which are not difficult for the candidate to understand. B owing the same law or principle, the
message can by decoded into clear word message. This te be solved with convenience, if all the
. rs of the alphabet are first written and then, by compositi e real and artificial value of letter, set the
~ relationship or pattern of the code. For this object, usually bets are printed on the answer sheet for the
~ use of the candidates. Y

.:},_E_’aﬂmmple: IFYCVGTmeans WATE R, then what d<q<{33 KT G mean?
_-‘_ .fdution: In this question: /<\~}

i Y stands for W ]

. O

'i-':'. ?; stands for A QQ

%
~

'\g;)out that each letter in the alphabet ABCDEFGHIJKLMNOPQRSTUVWN
ed&tter two places preceding it. e

O
privdiple, the letters H K T G will stand for FIRE.
“that in the ISSB tests, the method of giving the same question is, usually, as under: v ,'
o1 AT

& mentions the first letter of the correct answer to the following?

v W ATE R, what does H KT G mean?

R
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- 1t ODSE!
| 5 inute C
Hy a Il 1 f

Bl # to A
equivalent nd therefore, itis equwale 5. Careful

herefore, it is equ
Number 5 is multiplied by 3a < multipl oes on inc

7‘ the number by which each succeeding figure !
- assume an artificial value. .
-iple, the figure 7 is to be multiplied by 5 in order to aiszu&m;&&an artificial value.

| or coded value will be 7x5 = 35.

e-question will be choice (i) and the n}{@b‘er or fi
/

nswer to th gure 35. Hence, the answ

ment is followed by some alternative

Itiple Choice Test: In this test, an incom plet%“’gtate
ble choices of answers that complete the

s. The candidate is asked to choose one ormore suita

tement. ! &\.../

- 1 A . P \ Ny
choice answers the following question?
o

3
A

Scanned with CamScanner




o " I '.I
h pairs of words with the same meal
s ir pair is not the same. Here the job of t
the same meaning and write down the number

st: The word antonym means “a word Q&is the opposite of another. The Urdu meaning of this

A

e the number of the pair wé§bhve a relationship different from the other pair:

Q
<
@Q*

npulsory, Voluntar

Te T& test requires a keen sense of section. The candidate must remember the di
. This will help him to answer the question correct.

point A and walk 5 miles towards the West, then turn right and walk
again and walk 3 miles, then which choices mention the direction in \

West (iv) East.
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‘b\
n of elemen ne

plicatio : ‘,
the app in this are om

i ~~ncerned with ’
st is concerned All these sSigns,

cation and division.

: This test measures t Qty of the candidates in word building. Here, the words are
r suffixing i@gg at the end) new letters or taking off from or adding new le

ine 2le word @Qwhen added to the body of the following words forms entirely new

that if the word “R”

is added to each of the given words, the new for

sharp memory, then this qu
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lowing statements:
gata speed of 60 miles per h

ine which was runnin

it was running at a speed of 60 miles per h
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t, known as “Non-Verbal Intellige

' 1 3
word matrix or matrix is “the cavity in which an anim S
hich anything is formed, a mould earthy or stony substanc

atical meaning) a rectangular array of quantities usually square—a mu
it has spaces.”

s Test lines, shaded designs, etc. are used. This test is mostly, similar
n this test, a series of designs is displayed. The candidate is required plete the ser
articular design which does not relate to the series. This test measures lities of the

in the field of quick grasping of problems, sharpness of the eye, keenn@ observation, etc.

A ther tests, in this too, a Séparate answer sheet is given to the candidates@‘e is required to give the
number or the figure or the pattern in question. ?‘*

The time for this test is also limited one. The candidate must try to mak %
1 attempting easier questions. If he finds that some questions are b

rs. He must go on solving the questions in a quick but correct way’ He must try to save sometime at the

~end. In the manner he will be able to find some time in solving the difficult questions which he has left out in the
first attempt. This methodology helps the candidate to stre gthen his position in the test. Thus, he can be able
to secure a high credit for him. &

er tests of

st use of the time. He must start
h, then he must switch over the

Helpful hints for solving Matrix Test questions: in the,@3ﬁ~Vérbal Test or Matrix Test, we shall find that there is a
great similarity in this chapter 1 viz. “Kinds of Verbalifitelligence Tests. In the chapter 1, we were dealing with:

Analogies, synthesis, Completion of letters and u‘iubers whereas in this chapter, we are dealing with Analogies,
Synthesis, Movement Sequence, Pattern Co ple ton of figures etc.

In solving questions of Matrix Test, we h

"4
QB establish some sequence in the fi
establish the relations of analogy, synth

gures, sometimes, we have to

T

have to establish some link or rela

tionship between the figures, after
res which solve our problem:s.

. » movement sequence, pattern completion, etc. in these test, we
have to observe the figures minutelyar
tracing the principle, we pick ou%éﬁ u

&
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Larious TO!

N
1

rts
Lber of ed oy
have been divided into the sameé numb

of the parts may be varied. o “That direction
n some cases, may be moving in ; gz[t,f;y be@e direction oppo

vise except one in which the move

in the figures given below:

AAA

five shaded fi f'gures four figures are g;gles and the fourth figure which is rectangular is
answer is shaded rectangular flgure\ierlal number 4.

e out the dissimilar figure in the f ng group of figures:

L&UL/Q

Imber of the ﬂgure whi
. > Which is strange in the f,
oIIowing group:
> p.
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Answer is 4 . < X

14. \\/
e B BRELT
j8) N
i 2 3 4

Answer is 2
.'
|

15.

\" o

\/
Answer is 1 S
estion No. 16-2%Q
the a@@rns are arranged in three rows. The first two rows contain three figures each, :

ns only two figures and one is required to select the requisite pattern out of the given
2, 3, 3 etc. the fourth row which when placed in the blank space in the third row wi

eertl

n will show that there is a certain relationship between the th
he three figures in the second and
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Q)
- —— = ©
el (Lﬁé@

Il circles outside D, gives you five s

ual to G: Three small circles outside A. plus tw

I'to C: Three small circles outside A, minn@) small circles inside B, give you one small circls

arly -minus F is equal to two small circlesﬁi{ ide, or G minus H is equal to two small circles
1swer is design No. 3. \.
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ndidate is required to complete the main p
n choices the suitable choice piece wh-uclj fits into th e
write the serial number of that choice in the suitable column Ir

wing figures, there are main Problem Patterns on the left r!and side a_ndI
lly numbered small Answer Patterns. One portion of the main pattern is SN
ave to choose the suitable choice, from the Answer Patterns, which suits IntC

pattern or the problem pattern, and write its serial number. ' \\Q

Problem Patterns Answer Patterns ‘}&\.\
Q;?;\
ol A
9 I 2 {\/ 4
® ~’T,\.
Problem Patterns - Answer Patterns

21.

? i 2 3 4
. o
O

<. |
)

Solution: In the Problem Patterns fi ' which is rectangle, we see that the right hand bottom quarter of the
main rectangle figure on the left is blank and is to be completed. Observing minutely the three other
eted quarters, will show\u§ at the pattern in the blank rectangle will have the lines as shown below:

ADiagonaljoiningwgright hand top corner to the left hand bottom corner.

vertical lin f@\ the center of this diagonal, and a horizontal line are to be in such a manner that

iumber 3. We place it in the blank quarter and find that it completes the main pa
nce, choice 3 in the Answer Patterns is the required answer.
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: PN
Answer is 1) «/

\.
<O

tion of Relationship <> :

n-verbal intelligence tes%%éarding “Completion of Relationship” contain three figures and we
th figure out of t@ iven choices.

ﬁ@a certain kind of relationship between the first two figures in the gr
exist between the third and the missing fourth figure. To complete this

inue
5@ required figure out of the various choices given. These relationship:

ir of figures. The main outer figure may be the same and the in

ve similarity with the third figure, and the s
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e test you are given a design with a part of missing. You have @nplete the design by filling it
figures provided below: ?‘

PROBLEM PATTERNS
%2(0
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ollowing questions from biology to practice for your
o attempt hundreds of further practice questions on bio

h
1. The distribution of organisms in space can be studied through

A. Biome
B. Zoogeography (b
C. Community ééz’

D. Social biology
In a biome, we can study the kinds of animals, plants and other organisms. Whereagggggeography involves the

study of hereditary and distribution of only animals in nature.

2. Age of trilobites lies in which of the following era? Ny
A. Proterozoic era N
B. Palaeozoic era $ P
C. Mesozoicera / \/\
D. Cenozoicera X

Age of trilobites was present about 400 M years ago in thgf\qlla'éozoic era. The trilobites evolved to give the
modern-day invertebrates.

3. To produce lactose, glucose and galactose undergo which of the following reactions?
A. Hydrogenation

B. Hydrolysis \
C. Dehydration ~A\J
D. Dehydrohalogenation S/

When glucose and galactose reacéz,ga/\w}ater molecule is released and a glycosidic bond is formed between them.
This type of reaction falls undeQn category of dehydration reactions. :

4. Acylglycerols are f@d by the reaction of glycerol (alcohol) and fatty acids. They fall under the ¢
A. Ether - -

ﬂ-ﬁ Ketone *3\ il
C. Ester,

on between glycerol and fatty acids, water molecules are released, ar
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drous, i.e. male seX cells develop first. é
i &
‘produced by splitting of water is used t0 \) ”
glucose &O
d by splitting of waterr g;% NADP to NADPH, during phosphorylation.

rb yellow to@g?ge light are
N

R
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ned by chitin.

hen abdomen of cockroach contracts
The first four pairs of spiracles open
The anterior four pairs of spiracles close
The posterior six pairs of spiracles open
BothBand C

i
When the abdomen contracts, the anterior four pairs of spiracles close and thg\‘;‘%’& rior six pairs open. This

forces air through the tubes and eventually out of the body.
i

27. The speed of water carried upward by xylem tissue in tall trees l{\

A. 8 ft/min

B. 8ft/h x;m\ /

C. 8m/min ‘

D. 8m/h
In tall trees, large quantities of water are carried at relatively high speed, up to 8 m/h.
28. Which of the following factors is responsipledor bleeding in plants?

A. Hydrostatic pressure

B. Root pressure "G

C. Cohesion-tension forces .\ _J

D. BothAandB </}
There are two main factors res {(sible for bleeding, the hydrostatic pressure in xylem and phloem, and th

pressure which is exerted by xylem cells. ‘
o

onia is the @u}ory product of animals.
ine
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During wilting,

gravitropism and positive gravitropism are re

A.
r B.

C. Abscisic acid R

phototropism,

. irections ant:
: - in different direc 2
which causes DENITE . 0 ting of plants-)

e unequal cell enlargement
lated to the

}
L
t\?\
X

hormone comes into action. )\
t"h

Ethene

Gibberellins
A ¢

(¥

D. Cytokinins " -
Abscisic acid promotes closing of stomata under conditiontsoo‘\f\hater stress (wilting).

34,

nh

AN/

umans, baroreceptors (blood pressure receptors).are present in
Y%

Left ventricle r X
Caroted artery , z\ D
Hypothalamus 0*1\
Branchial vessels QK"
otors are present in caroted a@aortic arteries of tetrapods. They play important roles in the

1 of blood pressure. Q"

S, there is alter 6@ of generation, meiosis occurs during
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susceptio
A |

- e e e

ividing cells. They are present in dicots and ns but not in

ity increases
e increases

plasm synthesis
one of elongation, volume increases, plasticity increases, cytoplasm @hesized but pressure

uring the zone of elongation.

ng DNA strand synthesis, the link between the phosphate gro@nd two sugars is by means of
1 ester bond

B. 2 ester bonds &
C. 1 etherlinkage ,»\\\)
\/

D. 2 ether linkages .
odiester bond is formed by dehydration synthesis and is

phate group and two sugars. Q\_,»/
he number of base pairsin a complete@ﬁcaQturn is/are

O
({/0

stance between two ¢ Qonding base pairsis 0.34 nm and a complete helix is of 3.4 nm. S
te helix will he 10.

made up of two ester bonds between the

[Wing is the shortest phase?
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-+ cegregate at meiosis, so th:

eles for each traits g ilization of gametes

e two coexisting all { random fe

i ain @
» two alleles. Alleles unité ag

number of elementen.

e~anf’d\the other from female par

X

: : al
as a pair of these particulate hereditary factors; one from m

1 of the following is not true about plasmids? ' ’<\

L7

arry genes for fertility
 carry genes for anti-biotic resistance
of the above

5 . H w/ 1
atural extra-chromosomal circular DNA'molecules which carry genes for antibiotic resista
nce, all of these are true about tlwé\ naracteristics of plasmids.

€rve as vectors.
cteria or organisms are refery
. ed as a clope not
‘ ‘ i £ genes/mol
S d when DNA ligase joins the sticky ends frokals
.V«rotem can be isolated after '

cloning,
eneora complete Organism

he dizin
Zing atmOSphEr
i '“T'€ means |jf
€Canno lo

nger arise
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e above 5‘ o
e study of various aspects of community like the origin, structure a {a’émposition of
tissue. Q)

Sclerenchyma
Collenchyma
Parenchyma
Vascular cambium
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the following compounds has the highest percergt{}
COzH

: Q‘. Mass of oxygemn in compound
m’qg}of Oxygen by Total = e « 100. Water ha

at ion: Simple calculate the perce
ercentage i.e. 88.9% 0

s constant, R, we value:
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1,-1,+%
Explanation: According to Aufb
subshell. The value of (n+1)for(b)is5, while for (a), it is 4. Hence,

au Principle, smaller the value of (n+ I), smalle
(b) is the correct choice.

n Hvdrogen de-excites to n =1, the energy emitte

6. Whenan electron i disinthe spectrur&%ctb
3. Lyman series (b

b. Pfund series . \gb

c. Balmer series . 0

d. Paschen series \\?N
Explanation: The level

L 3

N
n = 1 produces spectra in the uv region which is{/af[go\called the Lyman series.

N el

ded covalently into a doub,leih\élix structure. What type of force that is

7. DNA (deoxyribonucleic acid) is bon
of DNA? Choose the best.answer.

responsible to maintain this structure

a. Dipole-Dipole Force

b. Hydrogen Bonding

c. London Force

d. lon-Dipole Force

Ans: b

Explanation: Hydrogen bonding is resgo.n"sib!e for keeping the DNA in shaped. The hydrogen atom attached
guanine or cytosine) is attracted to the electronegative elements of

from the ends of polar molecules (either
the compound such as O and N lgcated at the ends of the same molecule. Because of this dipole contact

between polar bonds to hydr: é\ey polar dipole charge, it creates attractions at the ends of electronegative
molecules making a chainsf}é‘fm a double helix structure. a

What type of bondi%\bnvolved in BeCl; and AlCls?
BeCl, has ionic b nds while AlCls has covalent bonds

1) h&@alent bonds while AlCls has dative covalent bonds
Ve ionic bonds

e above
s a metal and Cl
petween Be (electron

1717

is a non-metal, however, they form a ¢
egativity 1.57)and C ro

is equal to or mc
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spontaneous reactions are highly €x0

the conjugate base of this reaction: -
j NH3+H2P04“HNH4“+HP04

d. HPO;?
Ans: d

Explanation: NH3 + H,PO;* & NHi' + HPO;? (\
H,PO;* is the acid an }%/

\Y9
. : -2
conjugate base 1 )‘jP’O,,,
3’“&&

’ ,&’\../’

. In a reaction 2A + B = 3C+ D, where all A, B, C,;’argé‘D are gases, t
increased. What happens to the value of Kp<?:> o

a. Increases &
' p. Decreases (:)
c. Remains the same O
d. Cannotbe determined 0
Explanation: The value of K& not change with a change i o 4
m with temperat w@ ge in the pressure. The equilibrium constant‘s\ 1

he pressure of the equilibrium mixture is

, solutions, the concentration should be calculated in parts per million?
illion

m* sample of sea-water
of urine
w', i "' - .
w"‘;’""@ very low concentrations

T "'"i"
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15.

16.

17.

C. Itis always less than 1
D. Itis the ratio of mole component to the total number of moles

Mole fraction is the ratio of a mole component to the total number of moles. It will give you values that is
unitless and will not exceed to one.

mole component

- ©
= total number of moles = c‘g}%

o

.,

What is the spectator ion of Zn(s) + CuS0,(aq) - Cu(s) + ZnS 04(aq)?
a. Zn

b. Cu

e. 504

d. None of the above
Ans: c

Explanation: Zn™°(s) + Cu™250,(aq) — Cu™

a. Cathode to anode in the external cir
b. Anode to cathode in the external ci
C. The solution to the electrodes in t
d. Positive to negative terminal ins
Explanation: In an electrochemi cal
conventionally use in electrolysissi
circuit that connects both &'N{ ctroa

Calculate the pH of .'
d. 14 Q
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o +p0H =1 E
~0=
18. What is true for a reaction with order zero?
te constant

a. The rate of reaction is equal tora

b. The half life is constant Sl t(__,mperature

c. The rate of reaction does not depen ion equd s the rate co@ The rate of
red but 15 alteff-’fb)b" he changes |,

d. None of the above statements is tru€  the rate of
Explanation: /t is a fact that for zero order reactlonntmmn of re cactants
reaction is not altered by changes in the conce Cf}

temperature etc. 3
<o°

19. Which of the following has highest melting point. Q\
A. Mg B. Be t\??“
C. Li D. Na 3
Answer: B

Explanation: Be has the highest melting point b
But that shouldn’t be the basis since there are
other groups of the periodic table. The trend
crystal forms. In this case, the melting point €

20. Which of the following is correct accordin
A. H20<HF>NH3<CH4
C. H20<CH4>NH3<HF
Answer: D
Explanation: Increase in boiling poi
area, the larger the force. The
Therefore, the increasing tre@&

21. Which of the foIIowun Q&e/s are amphoteri

a. GeO2
b. SnO
c. PbO
d All o
& f these
Ex ion: These oxid
22 y do transition metal

The ability of ligands
B. The ability to create
C. The ability to produ
D. It's because of the i
Answer: A
Explanation: Transitic
the metal, it fills the e
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is colorless. That is because ligands have the relative abilities to split d-orbital energy in order to change
the color.

23. Astudent sprayed water to a ribbon of CrCly and the color changed to violet.
CTC[3 5 6H20 =¥ CTC[3 : 6H20

In this equation, what is the complex ion produced? %3:}
A [Cr(H;0)sCI?* B.  [Cr(H20)aCla)™ ®
C. [Cr(H,0)sCl3]** D. [Cr(H.0)e)* \</‘)
Answer: D %Q)
Explanation: CrCl; - 6H,0 O
[Cr(H;0)6]Cly |

Since Cl has — 1 oxidation number, then there are — —
3 ions of chlorine surrounded by the complex ion. '
To counteract, we need 3 + ions. Therefore, the complex ion is|.

24. Which of the following property does not describe a noble gas? ‘b
a. Itisan odorless and colorless gas Q ?..
b. Itis monoatomic in nature @
c. It has low reactivity @ :
d. It produces light when burned .
Ans: d

Explanation: Noble gas doesn’t burn to produce Ié%cause it has low reactivity. #

(@-eases with e i

25. The oxidizing power of halogens increases

a. Atomic radii
% i Pt iy
‘.

b. lonization energy
c. Electro negativity
d. Atomic number

Explanation: A specie
and atomic number is
element and determin

when they react WKI':ﬁn
present in the at

26. Which |s/2*%smgle -bone
A. Amﬁg\

Q{er.
nation: Single-bon

hydroxyl group which i
atom connected to twc
and —O-alkyl group.

27. What can be the prodt
A. Octane and Butane
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: falk
roduct©
:.oduf,e :cfan nd butene:

uce less carbo

ill prod
owing hydrocarbons that will pro

asoline

Kerosene d
SO . |lation an
d. Diesel fuel actional disti
Explanation: Natural gases are collected at the toP i hert < would mean less ¢@  dioxide pr od

to C5. Less carbon atoms
bon dioxide emission

when comPlete‘l‘(\

hydrocarbons among all ranging from C1

i
Therefore, natural gases have the least car

i 29. Conversion of 2-Butyne to cis-2-Butene is done through
a) Partial hydrogenation
b) Hydro halogenations r>
c) Substitution ¢
d) Nitrification
Explanation: As partial hydrogenation is the process throught which H atom i
2 pi-bonds N\
Moreover by the reaction (N

\3

s only added across one of the

Pd(BaSO?) A cis-2-butene
Hc—c=c—cH, +H: ---—j;-’»::-'%——n—-b HiC__ CHs
\Qulnollne o
30. What is the leaving group of methyl: brq\m:de when it is reacted with aqueo i i
A OH ~ B ¢ queous potassium hydroxide?
C. CHiOH <>““’ D. Br
Answer: D

Explanation: Methy| t:oﬁde undergoes Sy, reaction where OH io
form a bimolecular ;{ ion intermediate for Br atom to leaye Th

31. Potassium cya
po,itasswm

o .
Ig:‘m with alkyl halide? n before it reacts With an alkyl halide. What dt

hydroxide ion that is beneficial in man
e 'ate many electrophiles

y industries
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group or —-COOH group each given % mole of H,. Hence to form 1 mole of il
of —~OH, 2 moles of -CO3H or 1 mole of ~OH and 1 mole OH —CO;H are required.

Which of the following is a secondary alcohol?

\\.
: : S
Answer: C
Explanation: Phenol cannot be classified as alcohol because it, haé benzene ring and it is sp2 hybridized. So,
the second degree alcohol is \
o*é\/ ‘ ) l

34. Name this compound: A
p> O~
Q~
A. 2-methyl-2-butanol ng B. 1-methyl-2-ethanol .
C. 2-methyl-2-ethanol\> D. 2-methyl-2-propanol
Answer: D &

Ea(planatlon The m group and hydroxyl group is attached at 2" position of propane base. -
1 e-c&mpound is 2-methyl-2-propanol or also known as tert-butanol.
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~ |‘ I 2 m
L] Ra C
u’ﬁ“a’”“ "

ine?

en acid anhydride is reacted with am

el

Acid nitrile

~Ans: b ine, it forms an amlde produc&f‘)b
Explanation: When when acid anhydride is reacted with am ;
o ® © _C. %O‘)
? 9 .1 . + m—nNH O R I~
,c\o,é\n + 2HN—F R”c‘ﬂ' 5{ N
) Amide - ’)\
Acld Anhydride Amine §
37. Oxidation of primary alcohol gives ‘ {~
a. Ketone Yl’«
b. Aldehyde {\\g\
G Ester , §
d. Amide «

Explanation: Alcohol oxidation is an important orgamcé\e\élon Primary alcohols (R-CH2-OH) caﬁ
oxidizedeither to aldehydes (R-CHO) or to carboxyhc\‘a’c;ds (R-CO.H), while the oxidation of secondal

alcohols (R'R*CH-OH) normally terminates at the ketor}e (R'R?C=0) stage. Tertiary aicohols (R'R2R3C-OH) an
resistant to oxidation. /& )

~ \

38. Which of the following reactions will prod {'Sgﬂ'l chloride and phosphorous acid?
A. Acetic acid + HC| + H3PO, \%‘ Acetic acid + PCls

C. Acetic acid + PCl3 Acetic acid + Cl, + HsPO,
Answer: C (.}

Explanation: Acyl chloride and@ssphorous acid are the products of the reaction of acetj id and PCl
etic acid an 3.

PC|3 O

T ————

OH

Hac/u\m * HiPO,

ion of amine will be produced if we react ac
B.  2°amide
& D. No reaction

Yl chloride With RNH,?

nucleophile RN, it forms 5
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e acyl chl i phosp :
B. Aceticacid+PCls

D. Acetic acid + Cl + H3POa FE

q Bels j\

HsC~ “OH H,e” ClI

41. Which classification of amine will be produced if we react acyl chloride with RNHz? z)‘
A. 1°amide B. 2°amide Oy
C. 3°amide D. No reaction 0\%

Answer: B
Explanation: If we react acyl chloride with a nucleophile RNHy, it forms a {?xg‘gi'de and HCL.

RS
“HCI

il
B & RN — TNRRC TR |
e e e T e o .

42. ldentify the following protein structure:
5 t28

e
8 z@°"
o
< c ) S
?2 [ ® ”Y
o
=

i 25 M

Asn
Ala Loy
lleu
8er
Lau
Sarleu
\

Lys

i

A= eQu

By

sz

vy
"

- =(v

=

-
~—z= & T

& o

%

A. i. Primary, ii. B-pleat ﬂ%'ii.a-pleated B. i. Primary, ii. Tertiary, iii. Secondary
C. i.Primary, ii. Qua ry, iii. Secondary D. i. Primary, ii. B-pleated, iii. a-helix
Answer: D \}

Explanation‘:i The‘following are protein structure:

i
iii. o 1 L
G L RS g

a

:I,E'*'

Primary Structure
B-pleated sheet Secondary Structure
a-helix sheet Secondary Structure
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OH |
CH,CICOOH<CH;COOH<CCICOOH
, 3C005H<CCI3COOH<CHC|2COOH
.QL-,DXH<CH2CI'COOH<CHCI2COOH<CCI3C00H _—
-substitute
; nation: Increasing strength of carboxylic acid with respect toec:L?;:ine 2 o that arei el
effectively a carboxylate ion can stabilize a resonance. The mor

. e sing pka trend. »§f>
more it stabilizes the conjugate base giving high acidity an: ? elfarii.29g) ECCI;COOH (pka&
CHsCOOH (pka=4.76)<CH,CICOOH (pka=2.86) <CHCI,COOH (P o)

s');
5. Reduction of acetone gives? Q\“

A. Isopropyl alcohol B. Pentahydride
C. Propicnic acid D. Aceticacid
Answer: A

Explanation: By the reaction

s
Hsc/i\c i

Hs b Hom {‘isopropyl alcohol)

3 $
N\
n \

. Phenols can’t react with
A. NaOH B. O

C. NayCOs3 D_s éﬁHaCOCI
Answer: C ~

Explanation: Phenol can’t really react witﬁ\N“a”ZCO.% and NaHCO; givi j
3 8Iving C 3 e
weaker bases. In other words, as an c@)phenol itself is not strong engoug; :21:;0 tbe((;iz)usfe carbor;aates are
rate CO; from carbonates.
47. Classify this alkyl halide: 0

O &

S

IS IS
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50.

 of molecule increases with number of its gﬁm‘

1g are the resonance structures of benzene

What type of organic reaction does this represent?

—C—X + AY - —C—Y + AX

A. Addition reaction B. Elimination reaction (‘)5
C. Condensation reaction D. Substitution reaction . ‘:}
Answer: D Q\
Explanation: It represents substitution reaction replacing X with Y frc{@é&' to produce AX.
3
The following choices are possible components of DNA except =~ "
A. Adenine B. Guanine X “ :
C. Cytosine D. Uracil "
Answer: D

Explanation: DNA contains adenine, guanine, cytosine,’and thymine while RNA contains adenine guanine,
cytosine, and uracil.
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B. rudely
D. nicely

M.A in English last year.
& B. an
C. one

They passed a dense forest at
night.

A. through B.
C. from

thorough

He was advised
. to abide by rules
. to abide at rules
. to abide with rules
. to abide rules

The deeper he went, his body
became.
A. heavy B

If the sun rose at 5:30. O
A. 1 will come B.

‘ uld come
C. Iwould come ]i.>

came

> last Sun ¢ badly sjck.

B. was

o )
. the heavy {“3(“
C. the heavier {:)/\

10.

13,

\‘.

4
14,

1S.

wim changing e ull

: !'i'ﬁha:‘t he may charLge glsad |
p. Thathe changed his I
150 st bféi? 2t b
Tou;i also study B, gonl %‘b
C: gone ,\Q.)

OP

The child has been mi w;g',
A. hasnot he :B‘i&ls he
C. washe N

f)

.

Ten years ag@;ﬁfﬁey live ina
village. °

A, will B. would

C.2 mhdy D. can

Fwould rather that he
A. came B.
C. coming D.

to me.
come
{0 come

She would rather drink a Pepsi.

. not B. no
C. don't

The chairmap, wi
is

— Your success.
with
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iy
B. Cunning A. Moustache B. Bear

1

C ‘e D. Receptive C. Locks
20. Lean: . Bald:

A. Bend . Tend A. Hairy

C. Mend . Straighten C. Blond hair
21. Reluctantly: 25. Grieved: S\? ; |

A. Willingly  B. Unwillingly A. Sadd B. Aided

C. Happily C. E%@ured D. Supported

D. Sympathetically N

Directions:
[Choase the correct answer from.the choices given below each sentence: ]

26. There was a match between the A. He showed honour to

professional and amateur players: B. He showed revenge to

A. Between professionaland their C. He showed obstinacy

rivals QO D. he showed hard temper
B. Between pro&s)'onal and non g
professiona 29.  He is a big stingy:
£ Betwee\rs?x y professionals A. He is a big miser
D. Betw@ on professionals B. He is a big lar
~\ C. Heis a big glutton
They sommenced with the recitation D. He is a big funky

from the Holy Quran:

' wlth 30.
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'meanings in this essay are
A. Concealed
C. Disclosed

B. Erased
D. Elucidated

His father patronized many charitable
organizations:

Directions:

P

A‘ He is blameworthy ©
B, Heis responsible %Q;
C. Heis entitled ?\43
He is deservin & 0o,
. O
ool

:"\~

QO
v

£

sentence:

o

Ei Ilin the blanks; choose the correct ans:{é?from the choices given below eacl '5

Who is annoyed you?
A. at B. with
. to

They demanded of me

rights. (}b
A2

A. of
C. to
pressed

He is badl
burden of*

o

B. with
D. of

Why is she very much jealous
you.

A. from

C. on

B. of
D. for

He is eager
things,
A to

C. on

—_ leam new

B. of
D. for

His mother Sioptalite

: . 1ds him
Ming|e
A g V1t bad boys.

C. B. of
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CXpensive: C. Finish timely
A. Cheap B. Dear D. Negate
C. Rotten D. Stale

45.  Tone: =

44. Eradicate: A. Manner B. Voice :
A. Finish from root C. Drawing D. Sculpture

B. Finish from top

Directions: ’\%
[Choose the correct answer given below in each sentence closest 111)%@ ning tj

the original sentence: ] 0%‘
~\
46. We need to muster up men for the D. Annoycd fe Sec
work:
A. We need to gather 49. The Musli"rﬁﬂ"s would have had to live
B. We need to master under the Hindus as perpetual
C. We need to develop political minority:
D. We need to acquire A.” The Muslims would forcibly have
lived
47. Would you like cider? B. The Muslims would hardly live
A. Applejuice B. Coke C. The Muslims were minor in
C. SourMilk D. Milk numbers to live
D. The Muslims did not consent to
48. They were astounded to seedthe live
results:
A. Astonished to see 50. He is a callous person:
B. Scared to see A. Insensitive B. Indifferent

C. Furious to se¢ C. Irrational D. Unreasonable
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. nce is physics?
Living things
Non-Living things
C. Experimental science
D. Study of action and reaction and
Experimental science

The magnitude of the resultant of two forces is
2F. If the magnitude of each force is F, Then the
angle between these forces is:

A 0° Bl "80°
C. 120° D. 180°

If the measuring scale has a least count of 10 Kg
then in 8,000 kg the significant figures are

A 4 g, il
GRS D. 0

Supplementary S.I units of radian and steradian
were established to measure

A. Geometrical quantities
Luminous intensity
Electric current

Temperature

oo w®

\
/

o~

N
Weber meter <>X‘”'

Weber Q/
Weber per meter Q“
Weber per metedQ}
The physical quan Q\
acceleration in the

\’ A
)

S.I unit of magnetic flux is

SNE

ich produces angular
body is:

,‘ t of inertia

the vector quantity

Itiple of the )
multip ction

opposite dire

antity

. 1e of the vector q.u. |

C. ml:g;pr:zicular to the original vector
pe

D. noné of the above

ctor A, B an%@‘g‘%‘e

8. The magnitude of ve

i ar X + ﬁ :‘.’
respectively 12,5 and 13;“'\'@:?'1 ¢
et

then the angle between £ \a}v d B is

B:

T

A O

C. =n/2 D. =/4

9. Three vectors satisfy the relation A . B=0and

A ,C£0,then A is parallel to

A. Exa B. ﬁﬁ

al
(wsj]

C. D.

10. No work is done by the body when angle
between force and displacement is

A, 0° B. 45°
C. o9qe D. 60°

11. If the acceleration ¢

ue to ra H 4 "‘:‘,
surface is 9.8 m/s2 gravity at the earth

' and the mass of the earth s
80t '
'Mes that of the moon ang radius of eartf

, moon, the val e
MOON’s surface wij| ue of g at the

A be:
2 9.8 mlsz
B. 196 2
C. 4.9 m/sz b. Nonem/S

> M at rest js act

S
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5,

16.

147/

~ when every@%cle

ts on a body, whose action line
ass through its centre of gravity,
ody will experience

Angular acceleration
Linear acceleration
No acceleration
None of these

oow>

In which case application of angular velocity is
useful?

A. When a body is rotating

B. When velocity of body is in a straight line
C. When velocity is in a straight line

D. None of these

Centre of mass is a point

A. Which is geometric centre of a body

B. From which distance of particles are same

C. Where the whole mass of the body is
supposed to be cantered

D. Which is the origin of reference frame

Angular momentum has the same unit-as

A. Impulse x distance

B. Linear momentum x tinﬁ\e
C. Work x frequency \>

D. Power xtime

Y

The flow is said tg@e streamline or laminar

in different direction
along the same path as

218

22.

23

24.

25

C. 4 42ms‘1

A. Mean Position

In case of a vibrating Pendul!
energy is maximum at

B. Extreme Position
C. BothAandB
D. None

Specific response ystem which is able to
oscillate with a-certain period, to an external
force actlngz\gt the same period is called

A. Timeperiod B. Wavelength

C. Resonance

D, < Doppler s effect

A\S|mp|e harmonic oscillator has a perlod of
0.01 second and an amplitude of 0.2 m. The
magnitude of the velocity in ms* at the centre
of oscillation is

A. 100 B. 100~

C. 20= D. 40=

A spherical wave front is that which has
A. Asource

B. A point source

C. Anextended source

D. None of these

We can hear sound around the corne
cannot see because of:

A. Interference B. Diffi
C. Polarization D. Disp
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er of electric lines of force passing
rough a certain area is known as:

Electric field
Electric flux
Electric intensity
Gravitational field

When a ray of light enters a glass slab from air

A.  Its wavelength night increases

B. Neither its wavelength nor its frequency
changes

C. Isfrequency increases

D. Its wavelength decreases

Which of the following statements is correct

for any thermodynamic system?

A. Theinternal energy changes in all e
processes.

AN
B. Internal energy and entropy are,.i%atfe
O

The work done in an a
always zero.

IC process js

functions.
The change in entropy cagn@r be zero.

f nature of working
|

39, The Coloyr Codeq ,

C.
Melting point of i

Increases with increasur.m,g press 4
s Decreases With increasing pres:

2. |s independent of pressure(b
D. Is proportional to pres(s/D
/ing parallel. If

ic wires are |
Two metallic wires are y%? At 7
current in these wnregﬁé lowing in the

direction, the wi(gst{y\f’ Il:

A. attract eagiji‘\ofher

B. repel ea&bi)ther |
C. havewno force of attraction or repulsion
D. remain stationary

Qn moving a charge of 20 coulombs by 2 ¢
d of work is done, then the potential differe
between the points is

AT 0l B. 8V
C. "2\ D. 05V

In a Millikan’s oij drop experiment the charg
on an oil drop is calculated to e 6.35 x 107!

The number of excess electrons on the dropi
A- 3.9 B. 4 )
C. 42 5 -

A charge Q is diyiged :
vided in ..
4 and separate g 20 two parts q and C

by a dista
Tepulsion het nce R. The
when: " c®N them will be ma;

A g=qu

C q=q B. q=qy

D. None
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resistance wire of length L and

ic ~d has a resistance R. Another wire of
same material has length, 4L and diameter 2d,
the resistance will be

A. 2R B. R

C. R/2 D. R/4

42. In RLC series circuit when the frequency of AC
source is very low, the circuit is a / an:
A. Resistive circuit
B. Capacitive circuit
C. Inductive circuit
D. Resonant circuit

43. AAn electron of charge e coulomb passes
through a potential difference of V volts. Its
energy in ‘joules’ will be

A. V/e B. eV
C. e/V D. V

44. The resistance of voltmeter must hay.g very
high resistance because ~\)
3
A. It does not draw any current
B. Itisvery accurate \2’
C. Itdoesnot changg«czr&ﬁt current

considerably
L

None of the

The s @‘lvtage-@%is applied across the X plates
yrovided by a circuit that is built in
is known as

46. A voltmet:
can measure up to 2V
its range to 10V the
series will be
A. 2000 ©
C. 6000 ©

I
47. InA.C. through capa(gib@%ircuit thevand o
as

v leads q Q\\ c

v legs q\‘\?‘
v aggd*‘are in phase .
None of these -3
/X
7 X .
48. - At resonance, the phase angle for RLC series
;;;,\Fésonance circuit equals

A. 0° B. 90°
C. 180° D. 270

onNn®2>

49. An inductor coil when consume no energy is
called y

A. A coil B. Choke
C. Toroid D. None

pid

50. The color of light emitted by light emitting
diode depends upon: o

A. forward voltage
B. reverse current
C. forward current _
D. type of semiconductor L
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— - 'f — = 1:5.
. A e
e a7, A 18 e L i 25, |
1 ;, B 22. ¢ = —’E"T B (‘,@0
ik o 27. C 28 A —w | B b 3c.
3. | B 32 A 33. D ' S O7
36, A 39 —
B3 6. A 37. B 38 “E}”} 45
41 B 42. B 43. B 44 Q\B d
4 49. !
46. D 47. C 48. A x\
L ,
Explanations:

2. For 0°angle both forces will be parallel and give maximum resultant i.e F+F=2F

- 2 :
6. t=Ia where|=moment of Inertia = MI'" constant and 190.0v'= angular acceleration

- =
13. When object is moving at constant velocity due to a constant force, then p= F V

b 20, Y=+28(h,—h,)= N2x9.8(2-1) = 4.42mg7t

w’

25. Sound waves are easily diffracted through bujldi
K\

35. According to right hand rule magnetic@"d

i 1

N ——

c X @
L-o “ X s
e el frequency “ e o) dominate «X
3 a capacitive circuit and-vice versa. O¥enga" L

s - of ener, I he W()rk done on an Electl on i“ dC( l
of ene gy E(lua ? e
[}

ence of one VQ called electron volt. One electron volt
tentialenergy = charee - ; i
BY =« ilangg X potential = q x \/

and circyijt will behave

€rating it thy

Ough a -
Sequaltg 1 Potential

6 x 10'19J

V5= (m <l
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15 17

% Bad habits

Then' choice . What will come next? @Q}
.2

2, 12,412 105294 .
i A 240 &

Teacher is to student as doctor is to: B. 260 {'b I
A. Other doctors C. 244 ~ {3
B. Surgeons D. 144 0\ .
C. Patients E. 136 )
D. Friends ?\\?‘ i
E.  Nurses 12. What is the&e imeter of square that has a side with

the lenf 8 cm?
What will come next? A. cm?
R0 4829.34,39, ....7 \/1 cm
A. 44 B. 43 &, 512cm?
e 32 D. 42 D. 32cm
E. 45 E. 4096cm
What will come next? 13. Love is to marriage as education is to:
5,15,30,90, 1807 A. Degree
A. 360 B. 380 B. Job
C. 520 D. 540 C. Respect
E. 580 D. Loyalty

el E. Relationships

What is the square root of 361? O\
A 12 B. 15 <>‘\~/ 14.  Which one is different from the rest?
e 7 D. 19 A. High School
E. 21 </ B. University

C. PhD
Math tutor is to math as dem{iﬁl@}oglst is to: D. Secondary school

Surgery E. College

Checkup D indness :
Work . What will come next?

CC,BB,CC,DD,CC, EECEH
DD’
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the most sensible answer. There’s no place
28.

Office
US. A
Pakistan
Home
Abroad

ich one is different from the rest?
Plant
Human
Zebra

s'"‘

30
2x10=15 P\ %

l ,&\ f

N,
='7 C .
Then 16 x 28 =7 S

" Xhatlig 10% of 15% of 1000? O«{M}
17

°y\‘3

w
(S

(U8}
=

Sunrise to sunset is ang ing to:
A. Twilight ™

B. Midnight ~ :)

C. Night \

D. Dawn, Q

E. Noon\

If 90 @eater than a multiple of 100 write A,
ot»her‘%use B.

A
\g, B

What was the speed of a car that
covered80milesin2hours?
40miles/hour

20miles/hour

30miles/hour

S0miles/hour

55miles/hour

t-togethers take place to-
Respect traditions
ring People together
€ar branded clothes
Enjoy g0od food
one of the abgye

order to coun

Covcr Y is as frame to:
Book

Photo
Plcturgraphy

None of the above

BOO0wmrm mUowmro muows
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E None of the above

43. If Alina is younger than Sana b
= . studying in the same class. Can
In a jar, black and green beans are in a ratio of 1:1. the given information that Alin

300 beans are black beans 1. How many beans are Aliza? Q}
there in a jar? A. Yes Q
A. 150 B. No O
B. 300 C. Uncertain X
C. 250 D. None of the
D. 600 E. Allofthe
E. 900
44. Why do wettiaa‘h our teeth?
537. What will come next? A. To in whiteness
49,47,44,39, ..... % B. gooq
A 31 C.. Toavoid stomach issues
B 32 )K\ To keep healthy teeth
C. 34 “E.. To maintain confidence
D. 35 <~ |
R3] 45. Lion is to deer as cat is to:
A. Deer
38. What will come next? B. Dog 2
1/52/53/54/5? C. Othercats g
A 0 D. Snakes p
B. 1 E. Mouse a
@ 2 -
D 3 2\ 46. What will come next?
E. 4 A 28,56 , 46,92 845w ?
BG ~\.J A 128
*\. ) B. 188
39. Which one is different from the re\t& C. 168
A. Refrigerator <</ D. 140
B. Air Conditioner Q" E. 136
C. Sandwich maker \>
D. Air cooler 47. If 52+18=16
E. Freezer Q\> 38+42=17
13 +28=14
“‘&nes take the number in the Then 37 + 78 =? g
i he sum of total numbers and ' ‘ :
- with the smallest figure in the series. 48. What will come next?

101,103,107, 113, .2
A 121 .
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at will come next?
%“,54,46,34, ?
A 18
B. 30
c. 22
D. 26

Justice E. 20
Truth

Loyalty What will come next?
Fidenty 1,22, 1,33, 11,44, 11,
A 54

. If0.9 is less than 2/5 mark A, otherwise mark B. B. 53
A. A C. 748
B. B D¢/ %5

¥, 11
What will come next?
893 , 858,823,788,

177

798

745

753

758

Whi?ch one of the following is different from the
rest

is to hexagon as 3 is to:
Square

Triangle

Circle

Octagon

A.
B.
(G
D.
E.
N6
A.
B.
(&5
D.
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A professional who operates on pe@@
A. Psychologist

B. Dietitian
-, C. Nurse
shing D. Surgeon
E. Respiratory therapist
Agenda is to conference as map is to: 76. Deer is arllJ animrz}lll as gc?ld is a: Q}
% %gents A. Metal b‘
B.  lrip B. Iron
C.  friends C. Thing Oy
D.  Book D. Jewel N\
E. Adventurer E. - Ornament 0\
70. If 12/2 is less than 3/5-mark A, otherwise mark B. 77. Pick the odd one out: "
S- g A. Table
. B. Cha
i
71. What is the area of a square that has length of one Comb
side as 10? \Dressmg Table
A. 20
B. 100 78. What is the square root of 257
C. 10 A. 3
D. 40 B
By 55 C., 7
D), @ i
72. On Valentine’s Day, the price of a bouquet of E. 5 -
flowers containing 12 roses increased from 500,to.
1000 rupees. What was the price of a single rose n 79. Find the area of a rectangle with a width of 8 feet
the Valentine’s Day? ~\J and length of 20 feet.
A. 83.33rupees ) A. 160 ft square
B. 41].6rupees \3 B. 250ft square
C. 50.9rupees </ C. 2560 ft square
[ | . IOOmpees Qs. D. 1l 80ftsquar e .
E. 5Orupees «\> E. 120ftsquare
the odd one out: \> 80. The meaning of zeal is:
VX, Q A. Passion
~3\ B. Truth
Q) C. Ability
& D. Mentality
© E. Life

. i o
" chk the odd one out:
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_memaxt'7 : (/:)
10, 130, 140, 170, 180,220, 230, : N

g. 280 94, Pick the odd one o &B;Q) ABC

- AT oPp K
‘What will come next? E. NOP \Q v

3,13,20,30,37, 47

A 55 95. The oppo n,e%'f significance 1;

C. 53 D. A B. Ethics
ES 51 wlmess D. Drift

/Tenor

. Find the odd one.

88. Dog is to puppy as cat is to:
A.

\_
é. E?i(::?:tl l g 96, What will come next?

E. Rugby ' CX/3,7,9,13,15,19,21,
; A 23 B.
. What will come next? \\ e 27 D.
43,38,33,35,30, 25 80722, 17, K E. 24
A 20 B. 19 \

G D. 16 Ch 97. Yellow is to color as rose is to:

ES3 o X
X A. Red B. Flower

l"’\

A J g Plants D. Trees
Kitten B. Pllp (:) . Ol‘ChldS

C. Cubs D. Skulk

i 98. Who i : |
E. Vixen 0 1s the current p
A.  Barack bamareSIdent of the USA?

89. Bees are to hive as bears areto: . Mike Pence

AN ~ Hillary Clint

‘ \)e that deals with celestia]
and universe is called:
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€
157 A 14
18 A 19 D
81¢ 22 D 23 B 24 B
D 27 B 28 @ 29 B
B 82 D 33 D 34 A
D 37 B 38 B 39 ©
B 42 A 43 € 44 D E
9 47 25 48 A 49 B A% B
E 52 D 53 B 54 D, M B
A 57 E 58 B 59 D\~ 60 A
61 D 62 A 63 A 64 NN 65 C
66 A 67 E 68 D 69 _[B 70 B
71 B 72 A 73 D 74 Q> C 75 D
76 A 77 D 78 E 79" A 80 A
81 C 82 D 83 A . % D 85 B
86 D 87 B 88 A 89 C 90 B
91 B 92 E 93 AT 94 D 95 ¢
96 B 97 B 98 R/ 99 @ 100 ®
EXPLANATION:
1.  The answer is “lion” because it’s the only large aninal:
2.  The answer is “criminal activities” because that €xplains why “people end up in jails” better than any of the other
answers. X
3. The answer is “patients” because a “tg{éégr”'helps a “student” like a “doctor” helps “patients.”
4. The answer is “44” because the p{tj}ta"éhows that you add 10 to the second and fourth numbers.
5.  The answer is “540” because t&%pattem shows that you multiply every other number by 6. Therefore, 90x6= “540.” ,
6.  The answer is “19” beca \9/7(1 9= 361

9
.

=)0
1
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The answer is “s]iii’%cause “math tutor” is a professional at “math” just like a “dermatologist” is a professiona
Bl




he pattern shows that you add the s

3et, and then repeat.
e them in the same m
d together or 2824 and so on. (3

er is “27” because the pattern is +2,

anner together on '*‘
the two numbers on the left by 4 in each case and plac

the required number. Thus 7 x 6 would be 7 x 4 and 6 x 4 place h number startgk)' ’}ith 9, then
- g num 7 3 AL
18.  The answer is “16” because the pattern shows that you take the square root of eac &,}t J ‘
SO on. 73 >§ v

19. The answer is “home” because the popular expression is “there is no place like home.: \,
20. The answer is “paper” because it is the only answer that is not alive. : .
21. Halve the digits and place them side by side. Thus (6 x 28 = 814. N
22. The answer is “15” because 1000 x 0.15=150, and 150 x 0.10=15.

23 The answer is “appreciation” because none of the other answers is the_opposite of “cynicism.”

24. The answer is “WHG” because the pattern is you go back one letter. for the first letter and then forward two letters fo

the next two letters. Therefore, the “X” goes back one letter to“W” while “FE” go forward two letters each to “HG » 0
the answer of “WHG. .

25. The answer is “blacksmith” because it’s the only person. The other answers are all tools

26. The answer is “Flee” because none of the other-answers mean quite the same thing as “absco d»
nd.

27. The answer is “1/2" because 500 x0.05 is 25, and 25x0.02 is 0.05, or “1/2.»
$ . > .

5 sy (Yl 37 . RN 4
28. The answer is “night” because sunrls@ the opposite of “sunset” j

ust like “morn ing”

29. The answer is “B” because “90” never be t :
e @ greater than any multiple of «]g»

is the opposite of “night.”
since “100”

alone is already greater

éo The answer is “40 miles@because when you divide “g( miles’

. " by «“27 «
31. The answer is “brin vle together” Y 2" younger 49

because that is the Primary reason ¢

swer is “picture” be ‘ ‘get-to »
Tk lsék"' €” because a “border” surrounds a “country” jys¢ lik getisls happen,
; 3 oo, o S e 3

because the pattern shows that a “frame»
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: ¢ all of the other answers are large appliances.
30” because 37+8+3+3+40+19=110, and 110x3=330.”

is “27” because the pattern shows that starting with the first, then third, then fifth, and / th
imber you add 3 to the first number, then 5 to the first number, and finally 7 to the first number.

_@’ ‘The answer is “uncertain” because we don’t know how old “Aliza” is compared to “Alina.” Q)
44. The answer is “to keep healthy teeth” because that is the primary reason web rush hour teeth. ’\3 .
45. The answer is “mouse’” because a “lion” eats a “deer” like a “cat” eats a “mouse.”

46. The answer is “168” because the second number is double the first, the fourth number is doublv%%ihird, and the
missing sixth number is double the fifth. Therefore, 84x2=168. \g\b

47. Consider all digits as independent units and add them up to get the sum in each case. 0§‘0

48. The answer is “121” because you add multiples of 2 to each number. Therefore, yoﬁ:\af 2 to the first number, 4 to the
second number, 6 to the third number, and finally 8 to the fourth number to f'm&\; answer of “121.”

49. The answer is “eyes” because a “heart” pumps “blood” like “eyes” are re f{{ed\for “sight.”

50. The answer is “P” because there is a 2-letter difference between each ett<;/r/ in the series.

51. The answer is “36” because you add 9 to the first, third, and ﬁﬁh \nﬁrﬁ;er Therefore, the pattern is 9, 18, 27, and finally
=

52. The answer is “deceit” because the other answers are good, but “deceit” is a bad thing.

53. The answer is “B” because “0.9” is equal to 90% .yglﬁle_:z/S is only 40%.

54. The answer is “753” because the pattern shows t;haft you subtract 35 from the previous number.

55. The answer is “triangle” because a “hexagon’has “6” sides like a “triangle” has “3” sides.
L 3 3

56. The answer is “78” because the pa;tefz;:;\ﬁb'ws that you subtract 10 from the first number, 5 from the second number,
and then you repeat. Therefore, 2.8<1/0 is 78.

57. The answer is “Arab” beca e\

“Arab” is a type of person while the other answers describe what a person believes.
58. The answer is “243” be{zi\}se the pattern shows that you multiply each number by 3. Therefore, 81x3=243.

The answer is “p‘i‘gs%ecause if you’re “rich” you have a lot of “money” like you’re “pious™ you have a lot of “pie;@.‘?@
60. The ,;answeK%’ because the pattern shows that 58-4=54, 54-8=46, 46-12=34, and finally 34-16=“18.”

Pis “55” because you add 11 to the first number and every other number after. Therefore, the |
44, and finally 55.

s “car” because it’s the only vehicle in the list.
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p »
%Baﬂse v ou’re umadmg: a “bOGk i a
«conference’ * like y

99 a
because you use an “agenda” at

is “B” because 12/2 is more than 3/5. of a square and since all sides @g S
. ver is “100” because you multiply two sides t0 find the area (3
it’s just 10x10, which his 100. g i bg\,gﬁoses) youll
e total C
The answer is “83.33 rupees” because dividing 1000 by 12 (the o) ,>§ 2

which represents the cost per rose. 2 f the letters in thEll
twee C@,Sﬁ ok
The answer is “LOP” because all of the other answers have only one letter be .

The answer is “S” because the correct complete sentence is: Shoot for the moon..and you will land among st;
The answer is “surgeon” because none of the other people perform oper aﬁqﬁg‘ on patients

The answer is “metal” because “deer” is a type of “animal” just as “g6ld’"'is a type of “metal.”

The answer is “comb’ because the other answers are kinds of furniture.

The answer is “5” because 5x5 is 25.

The answer is “160 ft square” because 8x20 is 160, and Yowalways multiply width by length to find the area of a
rectangle. ‘

The answer is “passion” since the other answers',do'ﬁot mean the same thing as *zega] »
The answer is “hair dye” because the om,e&&so(vers are kinds of clothes,

The answer is “49” because you add.

nding multiples of three (o :
each P
13, and so on. Therefore, 34+15 i Previous number. That’s why 443 is 7,
The answer is “Alex” becau
The answer is “280” bec

The answer is “54
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e foll "'*I Lmtto Fﬁdice o
e Is o ' questions visit tabir.pk
ssing spot:

Choose the correct option to fill in the mi

./s.
Y
\

G

\ ~
L O
s
"
<{
3
A
3 Q)Y
Y
.
@ g
¢
A ¢
N
\
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Pattern includes two vertical and

N/
0 horizontal |ines intersecting each other.
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lines,

<
Q.;s\

Pattern s!Q have vertical
D

LA



\/’\,
\2 .

s

nswer is D. When you [bok at the seq

sequence, you Se€ the triangle go from right in the first image to leftin

ains left in the third image. This means the solution will be paired with e ti
in image three. This points to the triangle being on

es. Looking a

d finally it
ysite side of the triangle with

Scanne d with CamScanner



: fimages, you notice that
Ing shown,
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<
&

Ve

The answer is D. When you look at the sequence of i images\jieing presented you see that the first and thirc
images are reflections of one another. This means thg\glmhjtlon will be a reflection of the second in

possible answer with that orientation is D, therefore'this is the solution.

»«/"\
~y
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«Jut’ion is C. When looking at the seq@n'"c'e of images you see the dark coloured sections of the shapes
casing the pattern of the first roy(éth‘e circle shows the same dark colored section of the square above it,
next image will shox@ same dark section as the rectangle in the second column of the first r

s to solution C. ' \>
f &
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e solution s C. When you look at the s
on will be an inversion, as the thirg i

Q,.
Qu‘
‘\"




= %
d P e

A\ ;

The solution is E. When you look at the other shapesyou see that the majority of the shapes have four sides,
this is in contrast to E which unlike the other images, E only has three.

13. ' ™

When you look at this sequence of images, you see the majority of the

o. This is in contrast to A, W

hich is comprised of four squares
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The High Scoring Guida fOrA
"

92

Career Finder
N. A

! C

d
rity of the (KN e triangies, thisism

B | - ) 0
he soiution is A. When you look at these images you see that the maj

ntrast to image A which is a semicircle

cont

Slele

= C

tton of the circlesis

en lo¢ r"{\r‘ﬂ ! [‘(“-\ f
h r ES w | x‘l} S qJ N( y()“ See t}
t e -, v Y ](1[1 dard

The answer s

[2+]

L

the same Size but ir d )
A ) arying ,37~"'1,le €ach S h
~dCN Circle Fhis |s
S| 2 1S Not C |
‘v‘v’”h ) i
,WhiC ?
13s 3 djf
a Ulllere

& MaBdy of the Shapes

the dark section tha,
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Answer:-

/
e

a

9
Q
answer is C. When you lo \)the first two rows of the images you see that the triangles are split in half
ally for the first two images in the rows. Then the third image is split horizontally, this means the soluti
> . aral =
ow a horizontal split'as shown in the first two rows, this means the answer is C.
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ge se
Ited. This rules oyt the ansy

duences, yq, See that th,
ers of C.D, andE, g
it the arrow js Pointing i the bott,

Urtherm
Om right, this
ar

ke fePetition of the TOW positio Thi
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Answer:- X

nces of the images, you see that each image only has twi

i at the seque . ¥
: ’%Vhen geutiook these dark sections are moy

aces dark coloured sections within it. Additionally,

b . i ontinues with the last row
h new ¢ f the image. This pattern ¢ ; _—
new column o point to the solution bet
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iangle, and the squar %s
s we have 3 tl"&e~
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swer is B. When you look at the first r \K};qf images, you see the arrow in a horizontal orientation, which is : .'
fted to a diagonal orientation in t ond image. This horizontal orientation is also taken on by the

e are presented with, this@ans that the solution will also hold a diagonal orientation. The'only,_ i

ch possesses the same t@’!’ation as the second image is B.
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is to K "f“} i
i
Q,%
NS
as l is to ? ~~(§b
- 60\
N
| N
Answer:- 2'e
X

a b c

<
E: nswer is B. When you 100 ‘tzfﬁe first row you see that the pattern and t
As that the second rows images will follow the same pattern,

ed and inverted. This /ba
3 L

ne ‘éS’WEI’. 4Q o
£ g

he shapes of the images are r
this points t
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career Finder 101 The High Scoring GM for M
24.

S 8

is to m |

©
as Q,‘)%
is to ? ’\%
Q;b
%)
‘bb‘
K
Answer;- Q)

The answer i
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This section is divided into 2 assignments: Q)Q}

Assignment 1

7%
: D
Solved Papers and Explanations ;@

Assignment 2
L

Levels at Online Learning Mod%@} p

Important: AMC Entry Test includes.a variety of knowledge from different sources. You are
suggested to cover your Matri¢-and FSc Syllabus and refer to additional sources of information

as well for a better preparation.

N
X
O~
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v
L

olved Papers and Explanatl0Q§>

d Explanations that have beE&i&Uded On the
Assignment 1 comprises of Solved Papers ar.l A
rn of the AMC Entry Test Past Papers questlons.. L answeﬁs;ﬁong with it
€ questions test 3 variety of concepts, and provide t U need hel?) By fol lowing the
- explanations. This will guide you to work on the areas where .y:: actiée‘ _
explanations, you can learn new concepts and polish them wit pr .

Itis recommended for the

candidates to refer to additional sources of in
skills and knowledge for an

formation to practice the

',UJR\‘.
A
all-rounded preparation. <
"
| After you are done with Assignment 1, proceed to Ass\xgn ent 2.
| NN\ J
Ik O \
1 Remember: Practice wil| help you score brilliant‘lﬁ\ l

2
1 &0

OC)

&0
S

A
N
)

(/

y
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questions from biology to practice for
undreds of further practice questions on b

4 Birds and mammals evolved from
~A. Reptiles

B. Amphibians

C. Fish

D. Archaeopteryx

Birds and mammals evolved from Archaeopteryx, that existed in Palacozoic era. This means
were the ancestors of birds as well as mammals.

2. At present, about 2,500,000 species of organisms are known to science. Of the@’rganisms, percentage of
vascular plants is about

\g
A. 53.1% %:\

B. 19.9%

C. 17.6% o

D. 9.4% Q
Of all these organisms currently known to science, 53.1% are insects, 19.9% are animals other than insects,
17.6% are vascular plants and 9.4% are fungi, algae, protozoa, and various prokaryotes.

A &

3. Which of the following is the main source of carbobv’d\}afés for animals?

A. Starch . \.

B. Sucrose o X%

C. Cellulose . ;\Q\ :

D. Glycogen AN

£ 3
Starch is the main source of carbohydrat&ss‘fe-'r animals. It yields glucose on hydrolysis.
N\ "4

4, Between which two carbon a\é(ﬁ;s I; the double bond in Oleic acid is present?
A. 4and5 Q»
B. 7and8 &\>
C. 9and10

D. 13and 14
The double bond i@?&ic acid is present between Cy and Cuo.

causes changes in
tion of amino acids at active site.
tion of substrates.
is in enzymes.
a

5. Change i
. JA- i
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| 'ure
ng movements occur

ytoplasmic
, : n cytoplasm du (a;\‘/top
ell organelles e.g. mitochondria move about in cytop 09"\)

mic r\?@'ﬂ}um7

of the following is not a function of smooth endoplas
Storage of vital chemicals
Maintenance of cell shape é
Transmission of impulses Q/
D. Lipid synthesis o8
ooth endoplasmic reticulum helps in the main ce of cell shape, transmission of impulsesa
iesis. However, storage of vital chemicals is a. fﬁq on of cytoplasm.

Which of the following diseases is not @g& by a virus?
“A. Influenza O
3. Hepatitis &
Small pox C)
Pneumonia

bove diseases Q
) ar d by viruses éxcept pneumonia which is 3 bacterial di
ial disease

ageslwag~ scovered by
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b . ES '
" lilll.

I \n‘q‘q‘}.h : - ':_i !r‘M‘\ :.

2 fng stage of slime mold is
- Plasmodium b
B. Sporangia ' A

¢ Swarmecell N
oP

=
¥

- D. Hypha
~ The feeding stage of a slime mold is plasmodium, a multinucleate mass of cytoplasm. @ 3 ml:l 5
14, Margulis and Schwartz divided the kingdom Protista into how many phyla? N\Q R
A 21 Q
B. 23 @?”' M
G 25 \2\ T 3
D.- g - %?‘ il td.J \
Margulis and Schwartz have listed 27 phyla to accommodate the dive\rzta/ ssemblage of organisms. ’\ o
r A
15. Saccharomyces cerevisiae reproduces by <%§/ * R
A. Spores \\5 y
B. Conidia ! ,&\../ ‘
C. Fragmentation PR !
¥ v F IR
D. Budding o X% i
 Saccharomyces cerevisiae is a yeast and yeast/i(:ej;{o;luce asexually by budding. ’
| . o1

2 {'*
16. The characteristics of the hyphae of{Zyge}mycota are
A. Septate and mononucleate <>“”' ;

- B. Septateanddi nucleate Q/

- C. Non-septate and mu}lfucleate
~ D. Non-septate and rrfc{ ucleate

hwhae of Zygomch e non-septate and multi nucleate.

ida?

7. Which of the@ing is false about hepaticops
ir&{ri on name is liverworts. \

B. Porella’is a liverwort. -
nt body is gametophyte.
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: sﬁilo:p'siida-and has becomeé extinct.
. r) has up to different types of zooids-

of war) has up to five different types of zooids, pé

B. 'Planaria
~ C. Leech
D. Seaanemone

The common name for Actin Cnidaria.

ia is sea anemone. It belongs to the phylum
21. Which of the following wavelengths is least absorbed by chlorophylls?
- A. Green )

B 1B Yellow
~ C. Indigo AL

D. All of the above "N\ :
elengths least absorbed by plants mclu"de éﬂ green, yellow and indigo. These wavelengths are reflected

’”\ /

long hydrocarbon tail of ch <|'|yl| is phytol given by

CioHa
‘,\\3‘?“

n_,t%ukchlorophyll which is attached to one of the pyrrole rings is phytol (CaoHas)
20H39

llowing category does aphid belongs to?
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4 ‘:l:‘er bronchi are termed as bronchioles when they attain the diameter of
2 mm
1cm
). 2cm
‘the smaller bronchi attain a diameter of 1 mm or less, they are called as bron@\qs

97. Closed circulatory system is present in which of the following? \a
A. Arthropods \2\
B. Annelids

C. Molluscs ,<i<

D. Protochordates
Annelids have closed circulatory system while arthropods, mo\uscef and protochordates have an open

circulatory system. C
\ l

In cockroach, the blood passes from haemocoeld m head to

A. Perineural sinus L~
~ B. Pericardial sinus ¢\
C. Perivisceral sinus m‘: )
D. All of the above
0ach, the blood flows from 25/

ral sinus, to pericardial s@{ and to heart through ostia. 3

o aorta to haemocoel, to perivisceral sinus, to perineural sinus, to

metanephridia.

arthworm, each s@nt contains

4

egment of the organism contains a pai

in earthworm is tubular. Eachs

hich there I1s3 S ructural an:

iR
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in arthropods. Their exoskeleton has made a variet

xoskeleton is found .
el live and grow within their exoskeletorkf)b

g o e environment that allow them to Q}

h of the following is not a part of axial skeleton? Q
Pectoral girdle \
Skull O
Sternum ~.\;\‘

D. Vertebrae
Both the pectoral and pelvic girdles are the part of appendicular ske
vertebrae are parts of axial skeleton.

B.

l%ftbn. However, skull, sternum and

o 33. The detection of vibration in monkeys is achieved by
A. Receptorsin cerebellum ¢
B. Receptors in cochlea in ear A\
C. Receptors in skin . '

D. Receptorsin joints <}: ;f;

The detection of vibrations of ground by tglieStrial vertebrates is achieved by receptors in the joints.

neurons branch pro@j{;l& giving cell a tree like appearance
Motor neurons Q g

Sensory neurons g

brain cells branch profusely, givi
, Y, giving ce i
d neurons. g cella treelike dppearance. The neuro

fe "aw,‘ n “iﬂtm UA Q ase (ual P

0
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o
owing is not the function of bl
ises cell elongation
nces cell division
Retards cell enlargement

ue rays?

All of the above R |
ys an important role in the growth of plants. Red light favors elongation of cells and blue light enhai
jivision but retards cell enlargement.

‘Which of the following gives rise to lateral root? Q)% !
A. Vascular cambium g)) w i
B. Cork cambium &N it
C. Intercalary meristem @
D. Pericycle &

Root apical meristem of the young embryo gives rise to pericycle which th “\%rms bud primordia. Bud

primordia then gives rise to lateral root.

N
39. 5 end of an RNA is formed by S

A. Phosphate group

B. Hydroxyl group

C. Nitrogenous base 3

D. None of these
Phosphate group is present at the 5" end of an RNA'molecule while the hydroxyl group is present at the 3" end of

the molecule. This structure allows hydrogen to-form long chains of nucleotides.

40. Which of the following model suggeststhat each strand of daughter molecule will be a mixture of old and ”

i new DNA?
A. Conservative model ‘I
~ B. Semi-conservative model

C. Dispersive model "

D. BothBandC -~
persive model Prggic%d that parental DNA be com
 would l@ mixture of old and new DNA. -

pletely dispersed and that each strand of all the d
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. f centrioles, one set of astral microtubules radiate outy
; ir of centrioles,
-otubules originate from each pa

' it,ert,wo sets of microtubules compose the spindle. '
} ratio of heterozygm.@ng
43. If a heterozygous round plant fertilizes with homozygous round, then the Qéb
homozygous round plants in progeny will be N

L A 11 ~B
i BN 152 {}?)
€, .ol *}(

by L : half will be
If we do the cross, we will see that half of the generation will be heterozygous rourta\and
homozygous round. O

44. All of the following statements are true about independent assortment except
A. Alleles assort independently into gametes. y
B. Independent assortment of alleles depends on independent assortment of their chromosomes.
C. Genes of homologous chromosomes assort independently.
D. Ratio of each joint phenotypic combination can be ebtained by product rule.
Genes of homologous chromosomes cannot assort independently because they are present on same
chromosome.

45. During DNA fingerprinting, result is obtalned in the form bands in
A. Autoradiograph Sé
B. Projectional radiograph \J
C. Panoramic radiograph {*/\
D. Tomograph \

~\)
The results of DNA fi anerprmtlng\/t;e obtained using X-rays that appear as black bands in autoradiograph.

(</

46. During gene sequencing..
K A. DNA strands /ivéut into pieces.
: B. Only chain \;1} inated nucleotides are marked with fly
DNA st of different sizes are synthesized.

. AII the above

ing gene sequencing, DNA strands are cut into pieces, they ar. "
ent sizes are synthesized. Y are marked with fluorescent dye and new

orescent dye.

o0

rding to membrane mvagmatnon hypothesns wh o

at is true abo
to form a Ut genome?

single genome ip Nucleys,
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liage lichen

rustose lichen
| <§>

). Herbaceous
ia and Dermatocarpon are the common examples of foliage lichen stage. b{g:, ~
b
yandruff in hair is caused by 3%?’
A. Bacteria 9?9
B. Lice \\%\
C. Virus : \2\ 1
D. Fungi & el
Fungi causes dandruff in hair. Itis an example of parasitism where the fungi behave as parasite and human hair
act as host. A~ r‘
k
51. Phytoplankton does not include j
A. Protista .
B. Small plants " 1
g

\¢

C. Bacteria

D. Algae

toplankton (Greek “drifting plants
sified as phytoplankton. V

i) include photosynthetic Protista, bacteria and algae. Small plants are

mals are most diverse in zone.

ts are most diverse in,\llgt%Fal sone of lake and ani

ittoral

e including water lilies and entirely subr
ake is also found in this zone. Littoral inve
vertebrates include frogs '

ommunities are most divers
diversity of animals in thel
ae, snails, flatworms, hydra;

R B

. + 'y Tl -
& > i e
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sestions from blology to practlce fory ?
hun"cilreds of further practice questions on D&

e cell is due to

on of labour within th
A. Number of organelles
B. Arrangement of organelles
c. Size of the cell

;D. None of the above our i
The arrangement of organelles in the cell speaks of the division of labou ,\\
N\ N\

2. Glandular tissue performs which of the following function? /

A. Contraction
B. Secretion
C. Conduction

D. Translocation ]
Glandular tissue is present in animals where they secrete of harmones and other secretions.
3. Which of the following is not an organic compound?

A. Proteins

B. Water

C. Metabolites

D. Hormones ,\\ )

Water is the only inorganic compound. Et:otems carbohydrates and lipids are the organic compounds.

O
4. Human bone tissue has { ,  water

A, 20% ‘
B. 65% Q{{/
C. 85% &\\}

D. 87%
The percentage;if ter in human bone cells is about 20%.
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gg]ls gwe support to the plant body. Food is translocated bvg
mtosynthems and parenchymatous cells store surplus food.

\at is the percentage of lipids in plasma membrane? \"
P
- %)
i o
D. 70-90% Q
' membrane is chemically composed of 20-40% of lipids and 60-80% of prO@;

Poaceae is the family name of which of the following species?
A. Corn

B. Rose

C. Human

D. Pea
ceae is the family name of corn, Zea mays.

). Which of the following is biologically not a ﬁs{i?x
A. Silver fish
Cray fish /\O
Jelly fish O‘()

Al of the above
the above do not fit in the &sts' definition of a fish.

e ‘germ theory of diQ\be’ was formulated by
Robert Koch
puis Pasteyr <
Leeuwenhoek

*»’v ahmve
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i - plants,
b and carotenoids aré presentin all of the above: ol

he following causes African sleeping sickness?
eba histolytica

oy \Q N
- _4ing sickness. It is transmitted
a is a human parasite that belongs to zooflagellates causes African SIE‘?gEng ]

e of tsetse fly. QN L
15. The hyphae which are not divided into individual cells by septum are
A. Non-septate hyphae
B. Coenocytic hyphae
C. Multinucleated hyphae
D. Allof the above
wyphae that are not divided into cells by septum are non- septate and consist of a large multinucleated
' body. They are also called as coenocytic hyphae because cytoplasm moves effectively distributing the materials.

'\
~\J y
Lignin QQ
Polypeptides

t}'l)-\andB Q/

principal deco
anr *ot break the

ir ioni .
s of cellulose and lignin, the main components of plant cell wall (most
os

lame oerAnthoceropﬁida is
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1he HIg

following is incorrect about deut
avage is radial.

ision is determinate.

astopore forms anus during development.

soderm is derived from archenteron.

age or division of the zygote is radial and indeterminate

erostomes?

Triploblastic animals are

Acoelomate Q}Q)

'B. Pseudocoelomate °)
¢. Coelomate ] o)‘z}(
D. Allof the above \%}

Triploblastic animals may be acoelomate, pseudocoelomate or coelomate. *,?-»

71. The rate of photosynthesis may equal to respiration rate at what time2_ )\
Ve

A. Dawn ¢
B. Dusk \
C. Noon

- D. BothAandB

| e rate of photosynthesis may,
nsity is low. At such time there is no net exchange of'gases with th

\pensation point.

for a short time, equal to respiration rate at dawn and dusk when the light
e environment, this is termed as

The oxygen released during photosynthesis.comes from
A. Water

B. Carbon dioxide

Glucose

BonEofthe above (N ¢ This was experimentally proved by Van Neil’s

-vnthesis comes from wate

1 of the @ing is false?

resent in protelns

' 's present in ATP
1t in cytochromes
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2 glycine = serine + COy

wStrom ; lycine molecules ar %e
- ; En di i itochondria where two gly
e soon after its formation diffuses into the mitoch \(/:) ‘

 and carbon dioxide molecule is formed. 0)

bohydrates by O

~ 26. Photorespiration reduces the amount of carbon fixed into car

B A - 15%
B B. 25%
C. 35% R,
D. 45% '
In most plants, photorespiration reduces the amount of carbon fixed into.carbohydrates by 25%.

27. Prosopis tree has root depth of

A. 30 meters
B. 40 meters
C. 50 meters
D. 60 meters

Prosopis tree of leguminoseae family have maximumdepth of their roots, which is 50 meters

28. Which of the following pathway is of E,ﬁirﬁeimportance for both water and solutes?

A. Apoplast pathway U
B. Symplast pathway '”\}
- C. Vacuolar pathway Q

D. All of the above Q/
plast pathway is of greatestimportance for both water and
int and moveme rough vacuolar pathway is negligibl

as

is thg{zﬁgexcreting organ in marine fish_
\ "
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A. Tracheids
B. Sclereids
~C. Vessels

- D. Heart wood
ereids are a type of sclerenchyma cells. They are shorter than fibers aﬁgyge present in seed coats and nut
s and provide protection to seeds. Q \

Which of the following helps in identifying the behavior o@pgn‘fs?
A. Variation in growth rate -

B. Change in turgidity O

C. Primary growth \&

D. BothAandB 7
rowth rate and turgidity caused by various hqr.r,i\'w@hes are the reason behind plant movement. Primary growth

not related to plant movement, hence do nghdétermine the behavior of plants.

N

, ~\./
34. Locomotion is seen in <§w}

Animals

Plants Qg/

Fungi
Both A and B &

N means mMove Q,t of whole organism from one place to the other, which is seen only in ani
V 'Wmover%{but not locomotion. it g

n'is important for the survival of
|
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B ism mature§>
Mirﬁeversfble increase in size that occurs as an organ

1 at root and shoot apices occurs in cells that lack
dria

1 at the roots and shoots occurs in small cells havng‘éﬁherical nuclei present in the ¢

vhich is non-vacuolated.
&

centromere is near the tip ofcﬁfbmosome which forms shape during anaphas
: &

R—— a .
___acts as magr et«: :
ENetic forms that promotes ang guides the coiling of DNA
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torage for chro \
g Mmosome movements, synthesis of mitosis specific proteins, RN/

e "

NA stores biological information in

Linear —_ order.
Helical Q;\ _
Globular %% s
None of the above (?:?& -

tores all sorts of biolog_ica! information coded in the sequence of its bases in a Ji Qorder and genes are
w parts of DNA comprising its base sequences. ?s?w :

4. Mendel used the word for the particulate hereditary factor ‘2\
- A Traits S?‘
B. Elementen
C. Mendeline factors d
D. Genetic factors gl
Mendel proposed that each contrasting trait was determin/id'\fg} particulate hereditary factors which he caleﬂ
aselementen. \_
@, Which of the following should be used if Iarg% ;m’"aunt of gene is required?
A ELISA A
B. PCR QV
C. Genetic engineering Q 2
Tissue culture
quantity of gene is require{b reco
g.

mbinant DNA technology is used popularly known as genetic -

bacteria?

O
nction@j?estriction endonucleases In
nofmal DNA
ywth of viruses
y ends in bacterial DNA

t harm “MWIQL 1romosomn es, he

P
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ol

es Celsius and seem t

e :
to 120 degr vent hypothesis.

temperatu® U 1 orts this

-archaeobacteria that tolerate s

! . e ec
ionary changes than any other living sp

jor unit of ecology is
Community
Biosphere
Ecosystem &
. Food web . : ~ht-within the confines of the
The-major unit of ecology is ecosystem. Organisms interact with their enwronme‘qb
ecosystem.

N

50. is defined as species occupation.
A. Biome
B. Niche
C. Habitat

D. Relay .
According to the definition by Charles Elton, niche is termed as specie’s occupation. He considered the nich

7/

the basic role of an organism in the community and itsrelationship to its food and enemies.

o

Scanned with CamScanner



Online Learning Module - tabir.pk

©

The High Scoring Guide for AMC Online Learning Module provides intensive learning f ’}ndidates AT

appearing for the AMC Entry Test. It is mandatory for you to attempt questions and cle: all levels on
the Online Learning Module to work on your weak areas and prepare according|y,3:)§‘

48 ~ ¥
Assignment 2 is designed for intensive learning, which can be accessed by Iog@gbn to The High Scoring
Guide for AMIC Online Module on tabir.pk. It familiarizes you with the nature of questions and how to

attempt them, improving your preparation. This Module is mandato.lz?\fé attempt for an all-rounded
preparation. While preparing on the Module: ‘

« If you attempt a question correctly, you can proceed further.
« Ifaquestion has been attempted wrong, the LearningBox will teach you the concept.

Simultaneously, you can monitor your progress on the/Progress Indicator on the right side of the
screen. '

AVoucher Code is given with this book to Jog.on to the Online Learning Module. This will start the
intensive preparation for the Entry Test. The Module tests the concepts included in the AMC Entry Test
through a variety of questions, and helps you prepare accordingly.

=

Good luck with the preparatio,r-\tjx...
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Y ¢ mmﬂ he corre
de bwd:onﬁnm he * You need
mmsmdpo&ﬂmm

thcandldatesmrefertoaddmomlmmsﬁf
foran all-rounded preparation. AR

one wllh Assignment 1, proceed to Assignment
- <
ze will help you score brilliantly! Q/Q/
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s to convert moles into mass: _ ’\~
Basis: 100 mols of air .
g

Number of mols of Oxygen in N

. . O
air: 100 mols (0.21) = 21 mols of 0, X
Number of mols of Nitr@n in

air: 100 mols (0.79) —5% mols of N,

(/32g0f 0
mass of oxygen: 21 mols o(ﬁz\(——g—z—) =672 g of 0,

Cn 1mol of 0,

o/
mass of nitrogen: 79 @$‘of NZ( 28g of N, ) 5
QA\ 1molof N,] ~ 2212 g of N,

Total W@f gases = 672 + 2212 — 2884 g of qi
T

oé/o/az by mass = 672 ¢4

< 2884 ¢ * 100 = 2339,

Q\) % N; by mass = 2212 ¢
4

2683 g % 100 = 76.79;

les 0 mass i Brams
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 following statement of Avogadro’s hypothesis is true?

he volume of the gas is directly proportional to the density of a gas
The varying pressure is directly proportional to the density\{)f a gs . »-
The atomic or molar mass is directly proportional to the densitygof-a gas
4. The varying temperature is inversely proportional to the density of a gas..
Ans: €

gxplanation: Avogadro's law: "equal volumes of all gases, at the same temperature and pressure, have
same number of molecules". The density equation of the gasisderived from the ideal quation. Avogadro
speaks that the number of moles is directly proportional to volume. Hence, the m@?}n

directly proportional to the density of gas. The higher the molar mass, the dens@\?@

ass should also be

4. Which of the following is the limiting reactant for the neutralization of O.@?gsmfuﬁc acid in 0.8 litres of |
water and 0.8 mole of sodium hydroxide in 1.2 litres of water? \2\
3. Sulfuric acid ?“
b. Calcium hydroxide Q
c. There is no limiting reactant Q/Q/
d. Cannot be calculated from this data {;:}
Ans: ¢ \\>
Explanation: 2 moles of sodium hydroxide react with.1 mole of sulfuric acid so 0.4 moles of acid will
completely neutralize 0.8 moles of the base. Do not get confused in calculating the concentrations and

Y

comparing them. P’

w

5. Which of the following has different empiricaland molecular formulas?

a. water
b. ethanol ‘
c. glucose \
d i y A/

. ammonia N (Ao
Ans: ¢ " O )

H;,06 which can be written as CH,0 for the empiric

E: ion: S olecular formula, Ce s 4
il o Glucose hadyhe m lar and empirical formulas, i.e. H,0, C;HeO a

formula. Water, ethgr@, and ammonia have the same molecu

vm\
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L nbli P
ar structure

g. They are isomorphs

i h
NS

®
f \@

uctures so (c) is wron

ation: NaF and MgO are both giant ionic str () and (d) are also WrOng.

in the same crystalline form - rhombohedral. Therefore,

8. Name the orbital n=5; [=2; m=0. : \\\;g)
a. 5s gz’z
| {3
b. 5p : : ‘.“:
c. 5d ‘
ol i
Ans: c

‘ : - rientation of the
Explanation: Quantum numbers are the basis of the sequence, arrangement, shape, and orientation ¢

elements in the periodic table. _
n =5 indicates the 5th energy level ( 5t period of the periodictable or the 5 principal quantum number
| =2 indicates the shape of the orbital (2 corresponds d<orbital-shaped quantum number)
m = 0 indicates the orientation of the orbital (z-axis magnetic quantum number)

9. Which of the following can be explained using de Broglie’s equation?
a. An electron in an atom is completely described by its 4 quantum numbers
b. The exact position and velocity of an g[ectron cannot be measured simultaneously
€. Macroscopic bodies emit waves thatcannot be measured by any conceivable method
d. The energy of an electron is/i«rl\\zefsély proportional to n?

Ans: c Y

Explanation: De Broglie’s wave equation can be rearranged to state th
atA =h/mv.
macroscopic bodies, the | is extremely large and the corres T Therefarciigy

. ponding wave| i : i
cannot be measured by conceivable method. For instance, for a T t':angtl? IS very mml-‘1te m,,,L,
~ wavelength is 6.62 "*m which is too minute to measure velling at 10 ms™, the

‘What bonds a@l%e

sent in a benzene ring? .

and 6 pi bonds
a and 6 pi bonds E
and 3 91 bonds =
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: lr'ﬂ_-,:_ -

: d B-F bonds are polar. However, CCl, and BF:

volar. NHs is polar bZT:uzleF:':“ pull from all direction, hence, their net | :
B Lt b € it has trigonal pyramidal structure with a lone pair on top
moment present making it a polar moleculepy i ‘
: d

oY,

9

oles of subst oA
Ui ance X was burned. It gave off 8.36) of energy. What is the energy released in cal mc

~ 1cal.mol?

‘b 2 cal.mol™ @Q',

5

N

c. 4.18cal.mol?

~d. 8.36cal.mol?

E Ans: a ' “’*\Q
Explanation: 1 calorie = 4.184 Joules of energy. 2 moles of X gave 2 calories Qg?argy released = 1 cal.mol?

13. The enthalpy change of the reaction H2(8)+%02(g) - H,0y) under standargﬁﬁditions is:
a. Enthalpy change of formation of water ‘{?“
b. Enthalpy change of neutralization <(
c. Enthalpy change of combustion of Hydrogen and enthalp%ci{!nge of formation of water both
d. Enthalpy change of combustion of Hydrogen &
Ans: c {M\\>
Explanation: Since 1 mole of H; is being combustedyitcan be called enthalpy change of combustion of Ha.
Also, 1 mole of water is being formed from its constituent elements under standard stated so it can also be

called standard enthalpy change of formation gf:ﬁater.
s \

14. Substance X is in Group 1 of the Periodié\;i'é'ble. The standard enthalpy change of combustion of X and its
allotrope X, are -32kl.mol™ and —48kJ».im1§I'1 respectively. What is the enthalpy change of conversion of X to

Xa? <>V’

a. -16ki.mol™?

+16kJ.mol™ \>Qg/

+32kJ.mol™? A

-32kJ.mol™ QO

b
anation: Eirst.of all, draw an enthalpy cycle relating to X, Xa and their combustion.
- -32kJ.mol™

QT Y

x+[0] > X0
AH N A -48kJ.mol™
Xa + (0]

.nthalpy change from X to Xa
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ity can be expressed all in the choices.
” n, solute

.——-———.‘_'
L, solution

- (molali X/%nass of solvent, kg)
"y @ume of solution

ctrolysis of CuSOs (aq) t happens to the cathode and anode?

- Anode
s decrease 0

s increa
incr ?
'S d\, nA % .
- 4. T argne;zredum and Cuy,

 IONS Thi

is deposited which incre
e,igsm decrez

e+ . ,‘, - -y
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: A =dCtion,

g Ng More ammonia m'smft IS QARG

B e oo, out.wul shift the reaction to the left

creas ure will shift the reaction to the right -

‘Increasing the pressure
a A ofthe v ; -
Introducing Al,0O3 as catalyst essel by adding Argon gas will have no change in the direction of r

i will shift the reaction to the left

iandii ~
iand iv Q}%
. i, i, and v t;?’
Ans: C . \f;}(b

a0 oo <

Explanation:
s
N>(g) + 3H,(g) ~ 2NH3(g) )\\\
° kj S P,
AH = —-92.6— /, 3
mol X

Adding more N»(g) and Ha(g) will have no effect on the equili.briu}n constant. The reaction will still go to the

right. If we are going to extract more ammonia out, the reactants will continue to react to form more
products to relieve the change. Therefore, the reaction will still go to the right. If we increase the
temperature, energy will be added to the system and there’s a tendency for the heat of reaction to increase
approaching to a positive value. Consequently,the reaction will shift to the left. Inerting a vessel with an
inert gas like argon to increase the pressure will-have no effect in the equilibrium constant. Therefore, the
direction of the reaction is still the same. Adding a catalyst to the reaction will have no effect to the direction
of the reaction because it’s not reacting to the reactant by definition. In fact, it will make the reaction fast.

20. The solubility of KCIO; decreases by-the addition of KCI. This observation is an example of:

4

a. Solubility product R

~ b. Hydration energy \J
c. Lattice energy \\/ .
d. Common ion effect Wl

partially soluble ionic compound.

il

ination: hgzresence of a com

mon ion decreases the solubility of a

reactions, the rate of the reaction is independent of:

jon of reactants
tion ‘mixture
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bstrat com:p.le_-x = enzyme + su b
bstrate complex = substrate + products
‘Q'.mzym'e-substrate complex = enzyme + products

y active sites where interactions with subst

- o "
the two interact each other, they forman enzyme-substrate complgx t:s "a“r:::aes:zﬂ:’
(.ér thé reaction, the substrate is completely broken down to proauc y

= - lex =
d. Therefore, the answer is substrate + enzyme = enzyme substrate comp

nzyme is a protein that contains man

Which of the following has the longest in bond length? K.
a. CH X

b. N-H )
e O-H

d. F-H

Ans: a

Explanation: The electronegativity trend across a period is increasing from left to right. Fluorine is the most
electronegative element and when it bonds to H will have shorter bond compared to others. Carbon, on the
other hand, is the least electronegative element among the choicés and when it bonds to H will have the
longest bond. Therefore, the answer is C-H.

24. Metal which can produce dihydrogen gas on reacting dil:H,SO4 is:

a. Fe
b. Au
c. Ag
dicl
Ans: a

Explanation: Fe can displace H from b@l;wdiher metals cant reduce H*
V!

ions as it is high in the reactivity series

Compounds contain CN-are toxic \D/m of CN- being f : ; E
e \\527 g g fatal to human. Which of these do not contain free CN-
a. CHsCN \§&

4

d it contains free CN-. In CH1iCN th
CN" acts as ligands and a & wp s _CW‘“
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ion: The methyl g i 4
YL group and hydroxyl group is attached at 2™ | SN

‘name of the compound i P
P IS 2-methyl-2-propanol or also known as tert-butanol

ich of the following will readi
Al ] ad . )
% atcohol ily react the most with sodium metal at room tempe

2° alcohol

3° alcohol

Phenol sl
R ?‘. o'
Explanation: In many experiments, sodium metal reacts read

- ily i(( methanol than any other lon
alcohols. As the chain increases, the sodium metal is less reacéﬂd requires more heatforittor
longer chain alcohol or phenol.

&
' What functional group is added to alcohol to undefg@\@\e%ﬁcation process?
~a. Water W
b. Aldehyde Qg’)
¢. Carboxylic acid O
d. Ketone &

O

Ans: ¢ _ )
Explanation: Alcohol and carbo@@cid will generate a fruity smell called esters and condensat
occurs. Q/
* yoxvlic acid is ofte&ed with the use of Jones reagent from the oxidation of which orga
Alcohols : y
etones.
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The Mg SEUTINg 'm..'
136 "ty

‘eer Finder

d.  The molecular weight d on how likely an OXYREN alog

epen i
Ans: d hyde and ketones will d npumb"' of alkyl Broups affect the "m:'""
Explanation: The reactivity of alldcetr:;nic factors and the »
electron rich. Steric factors: ele weight
aldehyde and keton€ except the MmO ecular

_ Oxidation of aldehydes will have @

43.

a. Decrease in the number of c-H bonds

b. Increase inthe number of € e
c. Increase inthe number of bonds in &=

d. Decrease in the number of bonds in &=
Ans: a
Explanation: The oxidation

form carboxylic acid.
Therefore, oxidation decreases

of aldehydes will definitely lose @ hyd f

the number of C-H bond. ,\Q

Which of the following is false about lipid? . \2\\
a. Itis a biological molecule that aré amphipatic in nature. Q %\h

b. Itisthe fundamental unit of fats Q/
c. Itis made of esters and alcohols Q/

d. Itis a storage of energy 0

Ans: €
Explanation: Lipids are biomolecules that act as fatt ,Qacid:s. They are fundmmental unit of fats where the
most boxylic group and a long chain

store their energy. Fatty acids re amphipatic mostly
~dc ‘4‘ \’.

A
e following group except

An alpha amino acid is composed @
a. Amino group "
b. Side chain

c. Carboxylic acid
d. Amide group
Ans: d

d.
Glycine, the s
attached (rat
Glycine’s stru
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ich of the following is not a prima
Carbon dioxide

Carbon monoxide
Sulfur dioxide
Ammonia
~ Ans:a “ ;
.' ~ Explanation: Carbon monoxide, sulfur dioxide, and ammonia are primary ‘o@a ts except carbon dio i
Carbon dioxide is naturally occurring gas. It is not a primary pollutant@sp?‘se it is essential for pian

X

%
X

ry pollutant of the troposphere?

make food and produce oxygen.

" 45. Gases from landfills do not contain &
! an CH,
D, HS
?n ¢. NHz
d. O
- Ans:d
~ Explanation: The disp
: % excavated pits is called a landfil

‘ ?
hich is the most abunda@nhouse gas

Water vapor \>’\

Carbon dioxideQ

'
s B
: I

SriaT by burying i ing in and reclaiming
£ burying it, especially as a method of filling in and reciaim ing
osal of waste m:gu;enal by burying ‘

( i m' " . I -
| and\g}t\fgen does not rise from the _ ,T#

greenhouse effectamo
L s ":L (R

rect contribution of

Lk

por has the most di

' o T o
o7 antci & n L
i [ g ,

¥
' L
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o the nt"orbital is inversely prowalﬁ .

to the electron i o
N

 §
S

po ‘\s.}
QO

The energy associated
 becomes 1:—;~= 9:1

o ~"7“
\?

.I.

~ Ans:d 3
~ Explanation: In most cases, the trend of atomic radius-generally decreases from left to right (acrossa
- period) because the number of protons and electrph@a"re increasing. The greater the number of pri
 the stronger the pull. On the other hand, the atomic radius increases from up to down (along the groug
cause the principal quantum number is i ea”sfing with the number of shells. The element thatf

1 iggest radius is bromine. the chromiurxr{isxi ion form same goes with iron. Positive ion form of an
' iﬂlses e"?Ctm"S- The numb?r of protons is greater than the number of electrons ca using a greater pu
~ making it smaller. Oxygen is at t @ principal quantum level and Bromine i th o rine
: g{;’r Y ine is at 4™ principal qua

: e higher the “n”, the big; is. Therefore the an +=70
N 3 7 . e i 1 1 )
e i H . t swer is bromine. To prove it: Fe? ) pn

the hy ‘I}ation is: o
T
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Sl el
Sl

hemistry to practice for your ¢
rther practice questions on chem

Ing questiQHS from c
Mpt hundreds of fu

To atte

ch of the following is not 3
{ A molecule has empty spa
Molecules cannot exist ag

Property of a molecule?
ce between its atoms

ions
5 The collison af e clement are similar in AL respects oP
a. of molecules accounts for the chemical reactions

.‘ . planation: Molecules do exist as ions too e.g. S0O4?, NOs™. All the other statemen%b‘g‘ true. oy
i

[k

A hiker went at the top of Mt X (2,954 \ . .
A ’ m) and M .
pressure of oxygen. What did he find out? AR A i compa‘r%@ \Elfference o

a. Mt Xhas higher partial pressure of oxygen than Mt. Y o\
b. Mt. Y has higher partial pressure of oxygen than Mt. X >

c. Both have the same value since height doesn’t matter. ’

d. None of the above

Ans: b

Explanation: At high altitudes, the barometric pressure islow. Therefore, the partial pressure of oxygen
becomes low as they are directly proportional to each‘other. This is because the number of oxygen at high

altitudes became less. Since Mt. X is higher than Mt. Y;.the partial pressure of oxygen at the top of Mt. X is
lower compared to Mt. Y.

3

b

Which of the following is not a postulate of the Kinetic Particle Theory?
a. the pressure exerted on the walls'of the container is due to the collisions of gas particles with the wall

~ b. the gas particles have negligible.mass and volume as compared to the container

the velocity of all gas partgelfi?.s,is not the same
the collisions of the pa,ri\ié!QES suffer no energy loss

nati i ve negligible volume as compared to the container but their
planation: The parti \zre assumed to ha glig ; &

i i hoice.
ses are not negligible so (b) is correct ¢ i i
e t Dﬁé}‘é}e the velocity of all the particles is not equal, therefore, we calculate the mea[:llv e
fcause the collisio

= e W oo BE GRS
i 3 ul " *‘, -_.I-. L

ns of all the particles are perfectly elastic. L

the same energy level are called:

Y e

a=
i

L
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ive enthalpy chargsj
the electron is being forced ir

o

ndothermic i.e. posit

! electr ity is €
Eoran ¥ this change because

utin energy to perform

o pr ee. Q‘§>

ie molecular shape of XeF2
\edral (2BP, 2LP)
bipyramidal (2BP,3LP)
nal planar (2BP, 1LP) &

- (28P, OLP) Y\}\/
N

\/
Total number of v;gl<l\ence electrons:

8e~ o2 7e”
m{é‘%‘mm 3 1F atom =
O(:}F atom = 22¢-
Total @ber of bonding pairs: 2 F atoms are
@'u.nched on central atom Xe. There fore,

it must have 28p
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e

b. iandii Qv
c. i ii,iii, and iv e
d. None of the above L OV

Jt. HF is weak acid compare

E -, I k acid or weak base and lt?{aﬁ : ;
Explanation: A buffer must have a wea B > orrectly paired buffaf o

choices which are strong acids and KF can be its sa
X

&

Which of the following is false about colloids?
a. It ranges from 1x10? pm to 1x10° pm {,,3.

b. It exhibits homogeneity. a\%
c. It contains a dispersed phase and dispersipg\ﬁwe‘dium

d. It can be distinguished by Tyndall effect. A\
WS

Ans: b 7
Explanation: Colloids are heterogenec@‘s%-‘d do not exhibit homogeneity. The rests on the choici
properties of colloids. (/)& “ :

In osmotic pressure, where :{@ow happen?
a. Inthe solution
b. At the semiperme gﬁnembrane
c. Inthe surround%’
i. Inthe press

ion: &mqﬁc pressure is the minj

able membr
' membrane,
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0.
-':hey' are both reducing agents so they will not produce any Voltage. ' e -
,p"lanation: Ecell = Ereduction - onidation \% o
~ In this case, the element with the more positive value will act as the reducing agentﬁ the other one v
be oxidized. Therefore the cell potential will be 1.32 - 1.20 = +0.12V (b’)‘
47. What is the rate of formation of A in terms of Rg if R = —k[AJ2[B]1*? Q\%
3 1
e W
B Ry X
(S 2RB f ?k
d. Cannot be determined &<

Ans: c 9
Explanation: R = —k[A]*[B]*

24+ B — f?igducts

N\l

Ry~ Ra = ~Rg
.,<V 2
< “A in terms of B

L )
}../ 1
"‘\iw’ -——R = __RB
= A

_-RA = —'ZRB

Ry = 2Rp

Qg sionis completed in 36 minutes. What is the half life of the reaction?
é yrder react! :
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B jus?
srrect according tO increasing ionic rad

1 a2 ,"‘
Na _ " 9\6.)1

ioni ius. Atomic r@g?)s incre
' e up so as ionic radius. ‘ i
B Seteaces down e have different trend. TQ'S'%‘ caution that
left to right. However, the ionic radius will 371V i e O cloctraniaii
e e s3to7.
sser jonic radius than some ions in group 1S iow the trar il

, electron-nucleus attraction, and electron Shleldlf-lg. It does r]g%s;»f ol '3

er jonic radius than Na+. 02- has lower ionic radius than %2@ !:nat 'IS efause at v
down the group so as ionic radius. Alkali metals will have lesser ionic radius than

G VI). Therefore, the answer is Li*<Na*<S*>0%. This can be rearranged to Li*<Na*< 0%<
A

ch of the following has highest melting point.
- Mg B. Be o

lncompletely filled d

-orbit
all of the ahoye al system
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yation: The shells of nob A
B eouisons becole gafes are completely filled with electrons creating stability. Conseq
me high resulting to an increase in atomic size. Also, as the period num

increasing, so thus the energy level (shell [
: cr ic radi ' »
atomic radius than Cl and Ne. e T

26 Arrange the following increasing toxicit ivi idizi 1li
! Y, reactivit .
 Cl<R<Bral y, oxidizing ability of halogens b(?}

p. 1<Br<F<Cl (Sb

c. F<Cl<Br<l <’§\

d. I<Br<CI<F "
Ans: d A
Explanation: Halogen is arranged in terms of high toxicity, reactivity, an \g)?idizing ability from fluorine to
iodine in decreasing order. Therefore, the answer is <Br<CI<F. < '
4
77. What does bromine exhibit if it reacts with alkene? \%

a. Nucleophile \
b. Electrophile '
c. Free radical

d. Stereoselectivity

Ans: b
Explanation: Alkenes have completely filled.pi orbitals that are ready to donate pair of electrons to the

empty orbitals of bromine to form a neﬁ!”bond or product. Bromine is definitely an electrophile.
3

\

3
28. Solid enantiomers (optical isomejisy) osses the same

a. Infrared spectrum \>
b. Melting point A

c. Chemical prope é€>

d. All of the above -

None of the above

i n?; chemistry, an enantiomer, also known as an optical isomer, is one of two ster
0 oot ’each other thatare non-superposable, much as one's left and righ
mirror images 0 5. Enantiomers share all the same prop

ed along one axis. Enantt i
plane polarized light in €qua | but opposite d
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ecular formula of the compm‘,ﬁ@;.‘g' i ol roo%&erat‘"%
. llﬂ' T T R \
by Q)Q)
>
P
ne it is lik%a@}be unsaturated i.e an alkene

: Since the hydrocarbon decolorizes agueous bromi hence the hydrocarbon <hi

) baing a liquid the Van Der Wal forces must be relatively stro@
igh relative-molecular mass \2\

nzene will undergo
bk ~a. Addition reaction Q/Q/
'y ;_’% Elimination reaction C::’
~ c. Substitution reaction \> '
" T d. Condensation reaction
~ Ans:ic O\

1 _ Explanation: Aromatic compounds such as bgm;‘r‘re mostly undergoes electrophilic substitution reaction

3 “especially when it is reacted with alkyl hali@s:’/

How many hydrogen atoms are the@cycloalkane if n=5?

O
({/0

N

v ct n, R-MgX is commonly used to react with which functional group in order to produce:
¢

)Jlli s P "..I.' e WG ty-T
RIS G amns 4 ekl iy B

e
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w’f:as'sff bo.nd polarity the bond having greater polarity will be the
ith nucleophile (nucleus loving specie). This reactivity depends upon the ¢

X atom. Greater the electronegativity greater is the bond polarity.

:_; ﬂl)llowing will readily react the most with sodium metal at room temperature?
lcoho

“phenol %‘2}
nation: In many experiments, sodium metal reacts readily with methanol than
ols. As the chain increases, the sodium metal is less reactive and requires more{;}

ger chain alcohol or phenol. 0}

a ?s&@er longer chain
for it to react with

ich inorganic reagent may be used to distinguish between phenol and m@anol?
Alkaline aqueous |, O

b. Aqueous NaHCOs

¢. KzCr;0;in dilute H,SOa4

d. Na

Tﬁxplanation: Option a and b are incorrect since bo
_ jodine and aqueous iodine and aqueous NaHCO1.0
rns orange Cr,0>” to green Cr3* .Option D is incorrec

- togive Hz

th phenol and methanol do not react with alkaline aqueous
ption Cis correct since only methanol is oxidized and it
t'since both phenol and methanel react with sodium

. Which of the following tests cannot be useful-in identifying aldehydes or ketones?

Benedict’s test

Tollen’s test

Fehling's test O
cas’ test </ b 1

on: Tollen’s tesgg / E}Iing’s test, and Benedict’s test are chemical tests to differentiate aldel

r hand, Lucas’ test is a chemical test used to distinguish the classiﬁ.

- - o2 5
wing ketones will give a negative iodoform test?

y
LI JERRIE | s '-rvf_'," i1
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D. @
{3\&

~ oS

Ans: a O\ -
Explanation: lodoform test is used to distinguish a ketone with methylcarb )bgjroup. To qualify for this test,

the compound must have 3 alpha hydrogen in methyl group and a kétene group. Among the following
choices, the compound that will have a negative iodoform test is \

It doesn’t have a 3 alpha hydrogen atoms

39. Why carboxylic acid is more acidic than phenols and\alcohols?
a. Carboxylic acid has a high degree of unsat(iration than phenols and alcohols

b. Its conjugate base is more effectively stabifized by resonance
€. It contains single and double bond at the same time.
d. Carboxylic acid undergoes two-stép;process and phenols and alcohols do not.

Ans: b
Explanation: Carboxylic acid is more acidic than phenols and alcohols because its conjugate base is more

effectively stabilized by resonance. Anything that stabilizes the conjugate base makes the starting acid more

acidic. &Q
40. Carboxylic acid canQ\e>prepared by hydrolysis of nitrile in acidic condition. If acetonitrile undergoes “\

hydrolysis, what is the product?
A. Formic aci@

B. Acetic acid
Propio cid D.  Nitric acid

ydrolysis to form a carboxylic ac
> Broup contains two pi bonds and is hydrolyzed by hydronium ion (acidic proper
e bond. This bond is protonated with water until it forms an acetic acid ar

‘ "-Tr}- '

P+ .i
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What is the product when acetic acid is reacted with sodium hydroxideg?-.
CHO'Na* B. CHOONa*

C. CHsCO'Na' D. CHs;COO'Na* Q/Q/

Ans: D &

anation: This is simply an acid-base reaction. When a,av\tjbacid, a weak acid, is reacted with a strong

ise such as sodium hydroxide, it forms a carboxylate.;a\&.ahd a small molecule water. The carboxylate salt

dium acetate (CH3;COONa“). o~
o~

mple for neutral amino acid is &
Valine C’\{':}
[ - 3
2. A;langne Q /
. Glycine <> ’
. Aspartic acid %
& Lt Al
n: Neutral amin éﬁhs are those acids which have equal amount of NH2 group and —COOH group.
s the only acid v@y has equal NH2 group and equal COOH group with ratio 1:1 respectively. .

< -, e

tide is not found in RNA? s 4
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ﬂ'}}-‘l 1 'L f ! ‘Y
ccuples a volume of x cm‘ at 10°C. Prawded the me"mﬂ tﬂﬂ” is ki
\Lll the volume of the gas become J!SXGFI g - R

s's Law, we know:

r that this law is applicable if we use temperature in Kelvins, so: Q:)
X 283 = 424.5K or 151.5°C Q;\

f the following statement is true? g;‘b

An ideal gas does not have any force of attraction (f}

An ideal gas can only have covalent and London dispersion forces "\

Nitrogen deviates more than Ammonia in ideal gas behaviour ?,,0

Helium can be assumed to be an ideal gas

ination: /deal gas can have intra molecular force of attraction i.e. cov bond so option (a) is

rect. NHs deviates more than N, because NH; has Hydrogen Bondi, g?ﬁd will experience a very strong
of attraction as compared to N> which is nonpolar and only ha der Waals’ forces operating
between its molecules. Noble gases like He being non-polar and hdying very weak van der Waals’ forces due
to less electrons can be assumed to be ideal because they devi e least from ideal gas behavior so (d) is

correct. O
What is the electronic configuration of Cr? . é
1522522p%3523pf4s23d" Qf_ff/‘
15225%2p®3s%3pf4s'3d® {;}
15?25?2p°35?3p°4s*3d° A
1s?2s22p®3s23p*4s'3d’ (:_)

b

ation: The Aufbau principle sta@that you must fill the orbitals with electrons according to

ing energy. For chromiu opper, experimental evidence shows that they do not conform this
ciple and have achieved gr stability without following the rule. For chromium, the greatest ground
stability results f"°m\§9 iguration 1s?2s?2p°3s?3p®4s'3d°in which its 3d and 4s orbitals are half-

< ;
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152

Assignment 2

Online Learning Module - tabir.pk =
e

- 1 \ 1
The High Scoring Guide for AMC Online Learning Module provides intensive Iearnlr'\\‘g,féib Cﬂr;dldates
appearing for the AMC Entry Test. It is mandatory for you to attempt questions an,d‘gtea" all levels on

the Online Learning Module to work on your weak areas and prepare accordingly.

Assignment 2 is designed for intensive learning, which can be accessed by logging on to The High Scoring

Guide for AMIC Online Module on tabir.pk. It familiarizes you with the nature of questions and how to
attempt them, improving your preparation. This Module is mandatory to attempt for an all-rounded

preparation. While preparing on the Module:
If you attempt a question correctly, you can proceed further.
If a question has been attempted wrong, the Learning-Box will teach you the concept.

Simultaneously, you can monitor your progress on the-Progress Indicator on the right side of the

screen.

A Voucher Code is given with this book tolog.on to the Online Learning Module. This will start the
intensive preparation for the Entry Test! The Module tests the conceptsincluded in the AMC Entry Test

through a variety of questions, and helps you prepare accordingly.

Good luck with the preparation!
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The High Scoring Guide for AMC

ENGLISH

©
oS
P
e

. section is divided into 2 assignments: O
i | Solvgd Papers and Explanatuons \}\\;; =% G |
| Levels at Online Learning Mogdihe.
i arrarred R el

owledge from different sources. You are

ortant: AMC Entry Test inclugeda variety of kn
d refer to additional sources of information

ggested to cover your Matrifcarid F5c Syllabus an
well for a better preparé{oﬂ,

. <\\;
@“‘“‘\
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concepts and polish them with |

the candidates to refer to additional sources of
an all-rounded preparation.

Scanned with CamScanner




A alers  B. altering e

C. altered
B. the better 9, he write these ansWers but also
speak them.
A. noonlycan B. not only Q}Q)
is very soon going to be C. only not Q;\ca
nploy B. employed 10. The line is busy; someone Q)(b
C. toemploy using telephone. ' i@
[ A. must B. be
He had scarcely crossed the road C. 1s D\ ill be
~__the bus came.
A. then B. when 11. The power faimﬁ\remdlned, it
C. before D. than was repaire ‘
g A. asﬂ,@%ﬁs B. solong as
 They had hardly reached their shelter C. utli{éss
- itrained.
A. then B. when 12. @Ic didn't go anywhere his
C. before D. than % “tother allows him.

3 7 A aslongas  B. solongas
‘Aslam and Akram are painters; A C. ullless

B 1S the better K./
A. thelatter  B. the lath 13. The trees, uprooted by the windstorm
C. the letter & are in the middle of the road.
L \>Q“ A. lie B. lying
; ted to make @ C. lain D. laid
_ wrote 14. Heavy rains the sea level. :
4 Q) D. to write A. rose B. raised ‘
C. raising D. rising

. visit this place? :
X R& holw)ivoﬁen]y 15.  Would you please,  makea

noise?
A. not
n t« a‘u
TR
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'Sﬁ
nﬁ
C Shrink

Brink:
A. Edge
~ Suggestion: C. Peak
A. Proposal . Advice
C. Order . Request . Fake:
A. Real
Tribute: C. Copied 0\» D Attamed
A. Homage . Abasement
C. Reluctance D. Fidelity \ Hind ’%*
B. Front

Farewell: %{ M:ddle D. Damaged
A. Reception . Good bye

C. Welfare . Welcome ,} Mammals :
N A. Animals that give birth

Feats: \\ B. Animals that lay eggs
A. Tricks . Plans &y~ C. Animals that don't reproduce
C. Proposals . Magicis:%(”" D. Animals those are fierce

Directions:

& —~
Choose orrect answer from the choices given below closest in meaningto |
the otiginal sentence/underlined words & phrases. R

e PR

28. He knew why he abhorred the
A. Why he detested the
B. Why he favomd"
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‘! i ’n,'.," A - l, m ﬂﬂm‘ﬂ
ENEY WA 1CU _...___ﬂle p"ze‘

IB; :rt;) 33, Kashmir has been a boj ¢ o o contention
. from between lndiaand?ukimnf ' -

A. Cause of dispute
igation, the Muslims B. Cause of ha:nuony
PR C. Cause of compromise
. while slavery D. C
B. while freedom — <§> |
o~ g : -
G Wh%‘*‘- ?’“‘e. 34.  The police confiscated illicit arms: Q) :
D while imprisonment A. The police found illegal w
b W _ B. The police seized illegal
" onalistic_fervor was witnessed C. The police licensed ill weapons
* during the match between Indian and D. The police producg ore the

Pakistan cricket tcams:
A. Excitement court illicit dnns?.,
B. Boredom ‘2\\’

DII'ECDOI‘IS‘ <</</
Choose the correct answer tofillin the blau&js elow ]
A_ \ 7
" Who was held responsible ______the <~ "C. for D. of
e O
A. of B. for AN 40. He is not capable __the job.
C to D. by (} A. for B. of
. C. to D. with

They are much inclined arts. .
" B. 41. If they failed me .
A. lwillagree B. 1would agree

® C. lcanagree D. Imay agree

the room. : ]
20 42, Heis crying, he broken his
leg.
X 10
B, o A. maybe B

¢ willhave D, could]
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"'L @B' ‘mmm 1 m&mm
“books.
2 do A. any B. one
e C. either

-lm
f o (§)
‘the trees__ dead.
‘A, are B. is . of the two towéf?ls Mine,
g ""'.f‘? D. has been A. none ot

. C. neither b{g)

lﬁd‘my friends,  Qasim. rb
"% is B. arc . He has twg\hns Ahmed is

am B. thetaller

g

i
5 =

\ﬂ. Notrees __ overnight.
A. grow B. grows
C. growing

o

B

A

B
A

A



159 The High Scoring Guide for AMC
Solved Paper 2
ﬂmn before. C. mices D. souse
B. more happy : '
D. happiest 9.  He climbed up and down hill
- before he reached his destination. Q}
s cessary 1o stop when the red A. many a B. many ‘2}
I y C. much D. very rr@
. glows B. glowed
. glow D. glowing 10. Theresultis _ that @ t control
myself. Oy
is success was earned with A. so shockmg ‘\Q
~ hard work. B. very shocki
,&. hard B. sheer C. verym ocking

C. heavy D. heavier D. such

Irony and satirc the tone of this  11. It essary that all documents, in

drama. ﬁg al, submitted.

A. are B. is 4 \\§ are B. be

C. am AC. tobe D. aretobe
wnuid have stumbled \24"1 B my experience is concerned.
. Ifhe had not taken a step bauk&{v’ A. as regards B. as faras
~ Ifhe did not take step back C. as much
Efbe not take step back
ifhe would not take step back 13.  Heis living as you are.

é‘ A. as happily B. as happy

S&k}u this problem. C. as happier
O™ Q worried

D. to worry 14.  His wallet lay him.
A. besides B. beside

igadm sion to this college he C. close

" oot
oy A. enthusiastic B
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1.

18.

19.

20.

%

C Beds of plants
D. Stems of plants

Voyage:

A. Travel on sea
B. Travel on land
C. Travel in space

Indeed:
A. Ofcourse B. Essential
C. Achievable D. Deed

Curious:

A. Eager to know

B. Tired of knowing

C. Unfit to know ‘
D. Incapable of know:ng:

Specimens:

- A. Samples §‘ Designs

24

7

24.

25.

C. Imported things
D. Glimpses

Merry:
A. Married
C. Gloomy

Fertile:
A. Good for. ht?vatlon
B. Bad fi “ghihvatmn

@ Unou‘hrvable

D. Unrich

Stretch:

A. Expand B.
C. Loosen 1D
0dd:

A. Strange B:

C. Variable D.

Plough:
A. Till soil B.
C. Manure soil D.

Shrink
Thicken

Favourable
Soothing

Water soil
Look after soil

Ji8

rrect answer from the choices given below closest in me: " '
tence/ underlmed words & phmses-

Scanned with CamScanner




161

s scholars have agreed that
er of Adam was predestined:
replanned  B.  Prehistoric

. Pretire D. Premature

He is studying cosmology:
A. The study of cosmos 33.
B. The study of cosmetics
C. The study of stars and planets
D. The study of philosophy

They ridiculed him, however he

spoke with them: 34.
A. They mocked him

B. They admired him

C. They tended him

D. They compelled him

32. He fell down the roof his leg

~ Directions:

The High Scoring Guide for AMC

smashed:

A. His leg broke into pieces

B. His leg remained intact

C. His leg was lightly fractured
D. His leg was safe

Quacks are non qualified doctors: %)
A. Herbal doctor (§>
B. Medical Physicians ‘0

C. Surgeons Q)O)
D. Specialists x.’,}

We look forward to re{\ g you
service:

A. We eagerly wa\t\to serve you

B. We look at'yo white service

C. We come forward to service you
D. We ate already at your service

[Choose the correct answer from thegiven choices to complete the sentence: )

35.  This ornament is studded O 39.

Jjewels. Q

- A. with B. fr
C. to D.
& 4.

recall \Byour mind those
SERY % .

. into

__his courage.
1 " : dtawg

@ D. from 41.

ﬁ.' A
-

'. A0
i L

He wanted to get rid his disease.

A. from B. with

C. of D. to

May God be pleased you.
A. with B. from

C. to D. for

He likes :

A. the music  B. music

C. a music

He i
A.
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. Murdered
. Killed

. Merciless
. Sympathetic

. Meticulous

49,

Elevated:

ice:
11 will
. Loyalty

A. Upliﬁ N
C. A

B. Fidelity
D. Fair will
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Assighment 2

] “Online Learning Module - tabir.pk %Qgc@

QN

' \"4
scoring Guide for AMC Online Learning Module provides intensive learning fgf.";é'andidates
l g for the AMC Entry Test. It is mandatory for you to attempt questions and .C“?" all levels on
nline Learning Module to work on your weak areas and prepare accordingly.

ment 2 is designed for intensive learning, which can be accessed by logging on to The High Scoring
le for AMIC Online Module on tabir.pk. It familiarizes you with the nature of questions and how to
mpt them, improving your preparation. This Module is mandatory to attempt for an all-rounded
;aration. While preparing on the Module:
.+ Ifyou attempt a question correctly, you can proceed furthér.
If a question has been attempted wrong, the Learning-Box will teach you the concept.

Rl
p
@UMNEOUS‘V. you can monitor your progress on the Progress In
creen.

dicator on the right side of the

o.log'on to the Online Learning Module. This will start the
odule tests the concepts included in the AMC Entry Test

repare accordingly.

oucher Code is given with this book t
. iye preparation for the Entry Test. The M
\ gﬁ avariety of questions, and helps you p

=
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164

to 2 assignments:

Assignment 1 . Solved Papers and Explanations

This section is divided in

| Levels 3t Online Learning Module

Assignment 2

porta

:';stendt tél\c"O(i/;ntry Tfjt LnCIUdZS a'variety of knowledge from different sources. You are
your Matric-and FSc Syl

Rl for 2 better preparatiod yllabus and refer to additional sources of information
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Solved Papers and Explanations K

3 ; N
ssignment 1 comprises of Solved Papers and Explanations that have been includ d}%ﬂ the
of the AMC Entry Test Past Papers questions. c (%

. . \
questions .test-a raniety of concepts, and provide the correct answers along\?fi’g the
eplanations. This will guide you to work on the areas where you need help. By\‘fbi owing the
explanations, you can learn new concepts and polish them with practice. N

o
oy

[tis recommended for the candidates to refer to additional sources ofinformation to practice their
skills and knowledge for an all-rounded preparation.

After you are done with Assignment 1, proceed to Assignment 2.

Remember: Practice will help you score brilliantly!
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a4

’.‘ o , o Ji{‘ﬂﬁ-ﬂ Tﬁ- _,ﬁkﬁ#.‘r.;l_‘: 3
I\ L A

T
L T

3

D. Pole

8. Bodies which fall freely under the action of
gravity is an example of:

A. Uniform acceleration
B. Variable acceleration
C. Uniform velocity
D

Average acceleration (éf}
o)

- B. 3 steradian
¢ A4nsteradian
-~ : ‘ D: 2n steradian 9. Crystalline solids have the p'rOpfé?lies such as

| A. Regulararrangement_

JI | 2 If7.635 and 4.81 are two significant numbers, .
. iy ' B. Covalent bonding &’J

their multipiication in significant digits is: ;
j . . C. Somewhat def&;?t}/e

A. 3672435 B.  36.724 O
. All of them
E a2 BRotts 36,7 D, A

10. A man throwsa ball vertically upward in a
compartment of an accelerated train. The ba||
will fall

3. The magnitude of the resultant of two forces is
2F. If the magnitude of each force is F, Then

the angle between these forces is:
A._In front of him

A. Oo B_ (s} “

C. 120° D 180° £ B.” In his hand |
' . C. Behind him
D. Beside him

4. i(E X f) is equal to

é\- 11 B. Zero 11. Abomber drops a bomb, when it is vertically
: D. 2 above the target. It misses the target because
of:

5. Three vectors of equal magnitude are acting on ; ) |
the three sides of an equilateral triangle. The A Vertical component of the velocity of ..
magnitude of their resultant is bomber |
. . i 2\ : B.  Force of gravity

&\3 C.  Acceleration of the bomber
C. \/5 D. 1.73 D. Horizontal component of the velocity of
bomber
ﬁ»’ The physical qua@whieh produces angular
- ration iw@e ody is: 12. Th? property of the moving object by virtue of 1
B Moientof inertia Wthl-T l't exerts force on the object that tries ©
D. i stop it is: ;

| A. Inertia of the body
e B.  Quantity of motion of body
ym t is: | C.  Acceleration of body
T | D. All of these ;
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ity of @ body becomes half, the
of the body will become:
B. Double

D. Half

man in a lift which is moving upward
cceleratlon of 4.9ms? will have

294N

588N D. 882 N

e app: rent weight of a pilot when diving
jet plane with an acceleration of 9.8
ill become:

O
(/
3
nary satellités are:
with r ct to earth

i&e speed of earth
ry.fastly

167

215

22.

23.

24,

25.

_ The powers of the ol

L et
s E .

The High Scoring Guide for AMC

A. 49ms

B. 9.8ms*
C. 4.42ms*t
D. 3.75ms

The quantity which specifies the displacement
as well as the direction of motion in simple
harmonic motion is the: Q)

&
Q)%
The number of loops m‘f}&‘?‘naw waves

depends upon:
A. Velocity of ‘@
~ Wavelength of waves

B
€ Natun f he medium
D Frequency of waves

A. Phase angle

B. Angular frequency
C. Pathdifference

D. None of these

When the light enters from air to glass, it
cuffers a change in the:

A.  Wavelength of light

B. Speed of light

C. Frequency of light

D. Wavelength and speed of light

Which one of the following properties of light
does not change with the nature of medium?

A. Frequency of light
B. Wavelength of light
C. Speed of light

D. Allof these

We can hear sound around the corner but
cannot see because of:

A. Interference
g. Diffraction 2
C. Polarization -
D. Dispersion
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ic process

t expression for the coulomb's force

F=k

% 'p. q,;

' The wave nature of an electron is lllustratew
ts: ,<\.J

~ Photoelectric effect G

B. Compton effect
~ Penetrating effect Q/Q
Diffraction Q“

ntial gradie tween the two
tes h 7 separation of 0.5cm and
erence of 12volts is:

B.
D.

24 NC?
2400 NC?

N

A
N

I

.../

°""-

A e  One half

c. Double
34, Two metallic conductors have the same vz,

of resistivity. These conductors can be

differentiated from the values “"g‘

A, Temperature ooefﬁaent

B. Resistance ,\43

C. Conductance Q)
oL

D. Conductivity

35, Two metallic wi@e lying paraliel. f the
current in th es be flowing in the same
direction, ires will:

A A act each other
B. el each other

ng( Have no force of attraction or repulsion

Remain stationary

\56 The SI unit of magnetic flux is weber whichis

D.

equal to:
A. NmA? B. Nm?A?
C. NAm* D. NmA?

An electron and proton are projected with
same velocity normal to magnetic field which
one will suffer greater deflection?

37

A. Proton

B. Electron

C. Both will suffer greater defection
D. None of these

38. The magnetic field due to current in solen®®

can be increased by

A. Increasing the number of turns péf

length
B.  Using soft iron core
C‘ "m"smem

b
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ies circuit when the frequency of AC
ery low, the circuitisa / an:

- law of thermodynamics
ond law of thermodynamics
ird law of thermodynamics
of these

4
S
{::

of combining low freq qugnal

quency carries w SQK called:

n

:’)
|

Brittle substance
Plastic substance
All of these

®

(0". k

¥

. AN oo h

. Choose the region of the spe@wﬁlch e
would be used to determln& structure ?f_ ey
crystalline solids: Q{b

A. Visible &\ Infrared

C. X-rays Ultraviolet
48. The depletlo'%e jon contains:

¥

Céﬁ)(ectrons and holes
{m\@ No holes and no electrons

’5&9 The process by which the potential barrier of
the depletion region can be increased or
decreased is called:

A.

Amplification

B. Biasing

C. Modulation

D. Doping

. The colour of light emitted by light emlttlng,
diode depends upon:

A. Forward voltage

Reverse current

Forward current

Type of semiconductor |
WS s T

LT
ol

B.
C.
D

sﬂ 'I-.I - "
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a ol b e 3, A 4. B 5. A
s : B 8. A 9. A 10. "
1‘:. ‘ s 12‘. A 13. A 14. C 15. A
16. D 17. D 18. A 19. D 20. c
21. A 22. D 23. D 24. A 25. B
26. C 27 D 28. B 29. B 30. 0° p
31 D 32. A 33. A 34. B 350 | o
36. A 37. B 38. D 39. C @;Eo. C
41. C 42. B 43, B 44. 9 as. A
46. A 47. ¢ 48. D 4. c8’ | so0. D

‘ ) e

Explanations:

2. Product of values will contain the least number of significant figures of the given multiples 4.81
contains 3 digits, so that the answer.

8. Free face bodies fall with uniform acceleration, g =9.8/s2 near the earth surface.
(a) Not possible
(b) Might be possible if we consider fluid friction but-not here
(c) Not sensible
16 T m(g + a) = 60(9.8 + 4.9) = 882N
- 24. (a) ds upon the source of generation
m denser medium
in den: er medlum

{Pe and P-type side.

Scanned with CamScanner




atom refers to
te measurement of mass of

ilated to produce energy to

nce in number of neutrons and
oto sln the nucleus

hating current the average value of
cycle is:

B. Constant

D. Maximum

d is not affected by

Physical or chemical reaction
Temperature

Pressure

All of these

dioactive reaction is ©;U»%-> g;,Pb?%°. How
a and P particles are emitted?
10q, 6B

protons, 8 neutrons O
ectrons, 8 protons L)

9,
8a <)
 taken by the entire el Q‘h pulse to

de, in Geiger Mué eis

tivity is purely a nuclear phenomenon,

e

10.

13

SOLVED PAPER 2

In a nuclear reaction, which of the following is
conserved?
A. Atomic number only

B. Mass number only
C. Atomic number, Mass number and Ene@
D

Energy only %
The half-life (T) and the disintegration‘constant
ted as

(A) of a radioactive substance

A AT=1 X
B. AT=0.693 ..{)(b
T O
C. A =0.693x§;\?‘
Ao

B [

<0. 3

Whyié\f\;}/the following is true?

A.% Lyman series is a continuous spectrum

B. Ballmer series is a line spectrum in the
ultraviolet

C. Panchen series is a line spectrum in the
infrared

D. The spectral series formula can be derived

from the Rutherford model of the

hydrogen atom

Typical source of f —particle is

A. Radon 222

B. Cobalt 62

C. Strontium 94
D. None of these

The effect of the decrease in pressure wi
increase in speed of the fluid in hori:
gives that: - ‘

A. Torricelli's effect
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wing processes will result
ction?
is bombarded with fast moving

52U is bombarded with thermal
neutrons
U?% is bombarded with slow moving
neutrons
U? being unstable breaks into smaller
fragments

y
14. Which one of the following is possible?
A.  NY+on*> ;N + H!
B. 165°2+1H'> 1,C1*° + ;He?
C. 0™ +on'>;N¥+3 ;H +2 ,4p°
D ;|_H1 eE 1H19 2H(’.““l

5. Which of the following is an example of vector

- product of two vectors? O™
A Linear momentum _ Q
B. Angular momentum Qi{/

Force
D.  Electric flux \>
i : Q

s of seco@%rblt of Hydrogen atom is

SN -B- 2.12 A°
L 4.12 A°

unchanged is |
g Frequency
s S D, Intensity

20. Rutherford’s experiments o@emmg:ﬁfﬁ;
particles proved that: 63
A. Atom is mostly e
B. Positive charg&% iformly distribute@”i
the atom
(@ Numbe@%ositive charges in equal to
num negative charges

D. A contain electrons

21. Whié?ﬁ“of the following sources give discrete
‘emission spectrum?
A. Incandescent electric bulb

: Sun

Mercury vapour lamp

Candle

o0 ®

22. When a hydrogen atom is raised from the
ground state to an excited state
A. P.E.increases and K.E. decreases
B. P.E. decreases and K.E. increases
C. Both kinetic energy (K.E) and potentia
energy (P.E) increases i
D. Both K.E. and P.E. decreases |

23. The half-life of a radioactive substanc
days. This means that
A. The substance completely
20 days
B.  The substance compl
40 days e
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he mass of the substance
s in 30 days.

sition of the electron takes place from
pit to n = 1 orbit. Which of the

g give the shortest wavelength?
Hydrogen atom

Deuterium atom

Single ionized helium

D. Doubly ionized helium

Aone microfarad capacitor of a TV is subjected
00V potential difference. The energy

stored in capacitor is
A 8)J B.
C 4x10%) D.

16
2 %103

. Aparallel plate condenser with oil between the

D. 2/Q

2 of thicknes l{ﬂf the separation
‘apacit%‘?ates of capacitance C

'he new capacitance is

C/2

2C

N\

) D.

ohr orbit of hydrogen atom
=2 to n = 1, the kinetic
v U change as

173

30.

31.

398

33.

34.

35.

The High Scoring Guide for AMC

C. K four-fold, U two-fold
D. K two-fold, U four-fold

In Bohr’s model of hydrogen atom, let PE
represent potential energy, and TE the total

energy. In going to a higher orbit
A. PE increases, TE decrease

B. PE decreases, TE increases
C. PEincreases, TE increases

D. PE decreases, TE decreases

©

®

A photon of X-rays of 10.2 eV ener, %
absorbed by hydrogen atom. T raise an
electron from n=1 orbit to w@?‘bone of the
following orbits? O\~

“~\./
A. n=2 ’i‘@"}‘
C. n=4 \ =
AR
Aging process of the human body is slowed by
motion at
A. Very slow speed
B. < Very high speed
C.  Very high speed along a circular path
D. None of these

The amount of energy needed to remove
electrons from the metal surface depends
upon

A. Work
C. Power

B. Work Function
D. Wavelength

When scattered X-ray photons are observed at

6 =90°, the Compton shift A4 equal to

A. Compton shift

B. Compton wavelength
C. Full wavelength

D. None of these

The transitions of inner-shell electrons in heavy
atoms give s
Tl i- ]

A. arays | ﬁ-@; |
C. y-rays B y:
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Br7.9's
D. 9.8s

A photocell with a constant potential
difference of V volt across it illuminated by a
point source from a distance of 25 cm. When
the source is moved to a distance of 1m, the
slectrons emitted by the photocell

A. Carry 1/4th their previous energy

3. Are 1/16th as numerous as before

C. Are 1/4th as numerous as before

D. Carry 1/4th their previous momentum

The heat engine operating in reverse is called:

A. Electric generator
B. Refrigerator
Carnot engine
Electric motor

Q\
it of certain wavelength lﬁﬁ}ntensity ejects
ectrons from a gplate. Then this

eplaced byﬁqther beam of smaller
th and smaller intensity. As a result:

e! géirbns stops
lectrons decreases but

42.

43.

44.

45.

46. InL.C.R series A.C. circﬂ'ﬁ;

G i St e A
s S R

B. Mass num

C. Atomic number,
D. Energyonly

» RS

When X-rays pass through ﬁrong’uﬁ#mw L&

magnetic field, then they -

A. Do not get deflected at all

B. Get deflected in the directi

C. Get deflected in the dirg\
“the filed Q)

D. Get deflected in Ke%rection

perpendicular e field
\)

opposite tg

The freque nci?@‘f\(-rays, y-rays and
u|travio|et{£§ are respectively a, bandc.
Then ©O

A.2,4$>b,b>cC

g¢,"a<b,b>c

¢. a<b,b<c

D. a>b,b<c

Emitter of the transistor has greater
concentration of impurity as compared to

A. Base only

B. Collector only

C. Both base and collector

D. None of the above options

Two inputs of NAND gates are shorted.
gate is equivalent to il
A. ORgate B. ANDgate
C. NOT gate D. XOR gaté

between current and v
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,‘ 3 - = L
ok . T
T = . - R,
X 5 ekt i :
(1 . i i ' i
B S & L -
M + ; E
gy -Il'ﬁr g 5
[ - . A

I
(U
il

L8

ectric field of 10° NC-

B 1.6 10
1.6x 101

duction in a current carrying

: f free electrons with one the air at S.T.P.
B A. 591 ms?
ift speed of free electrons C. 396 ms?
s of free electrons with atoms or
ductor
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Career Finder
- Physics -
Answer key: Phy = = 5 - a D BT
A C 8. B 9, C |
C B 13. B 14. C 15. | a
_ B B 18. A 19. B ‘ZF\‘K“‘
i ¢ A 23 D 24. B N
. . |
L L A D 28. D 29. C 3., | o
. | A . B 33. B 34. B 35 B
.\
| 36. | D 37. C 38. B 39. B 40. -
|4 | ¢ 42. A 43. B 44. C 45, -
| 46. | A 47. D 48. C 49. A 50. B
i85t | B 52. B 53. B 54. C 55. c
/86 | B 57. c 58. B 59. A 60. c
Explanations:

2. As number of values of + ve half cycle are equal to number of values of —ve half cycle. Its r.m.s is not zem0

11. A. Itisrelated to speed of efflux
B. Itis a theorem not effect
D. Itisrelated to waves

12. (a) More diffracted
(b) Less diffracted
(c) It affects the resolution
(d) It depends on both, design and light

15. L=rxP

19. Wavelength, speed and intensity decreases when waves move from rare to denser medium.

24. By this the energy will remain conserve.

36. D. An electromagnetic wave of high energy and very short wavelength, which is able to pass through many
materials opaque to light.is called X rays, X-rays are emitted when a highly energetic beam of charged
particles such as electrons is rapidly decelerated.

B. Beta particles area fast-moving electron emitted by radioactive decay of substances (originally
regarded as rays).

C. Gamma raysare classically produced by the decay of atomic nuclei as they transition from a high ent®
state to a lower state known as gamma decay

36. The working of the rest of the scares dependent on working substance. It is the absolute measure of "

39. Refgigégﬁator takes heat from low temperature and transmit it to high temperature i.e reverse of heat
e

47. &%action that changes the number of protons or neutrons in the nucleus in the nucleus of an atom B
called nuclear reaction, But total number, mass and €nergy remain conserved.

47. F=q,E=16x10"x10*=1.6x10"¢
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Assignment 2

nline Learning Module - tabir.pk

N‘!for AMC Online Learning Module provides intensive learning for candidates
AMC Entry Test. It is mandatory for you to attempt questions and clear all I%z\:?}s on
o Module to work on your weak areas and prepare accordingly. @Q}

\

‘e;i‘ned for intensive learning, which can be accessed by logging on t High Scoring
( Module on tabir.pk. It familiarizes you with the nature of ions and how to
mroving your preparation. This Module is mandatory to aﬂ@& for an all-rounded

e preparing on the Module: O
ot a question correctly, you can proceed further. ‘\?\

n has been attempted wrong, the Learning Box wal{ztgéch you the concept.

can monitor your progress on the Progress@cator on the right side of the
\}fb

,&\/

en with this book to log on to h%bhlme Learning Module. This will start the

) for the Entry Test. The Mo ests the concepts included in the AMC Entry Test

,-ﬂlnlestlons, and helps you eiﬁpare accordingly.

paration! QO

<
\5@

<<\)
,\@
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BAL INTELLIGENCE

TEST

This section is divided into 2 assignments:

Assignment 1 Solved Papers and Explanations
Assignment 2 Levels at Online Learning Module

QS

S

'\
O\
<< /
2
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SOLVED PAPER 1 o of dainty?

9. Whatis the oppo: B sensitive

1. Give the most sensible answer. The recent rise
in crimes is due to: A. Delicate D. Vulnerable
A. Unemployment B. Opportunities C. Crude 12
C. Employment D. Pollution E. Potent
S RS 10. What will come next? (-4,*1,+3)
2. What will come next? 8,4,4,7,3,3,6, ..... ?
201,29, 26, .....7 A, 2 B.
A 31 B. 32 Gy 2 D. B2 %
¢ 33 D. 34 =
E 35 R9)
11. What is the square root £841?
3.  What will come next? ] B :
13,24,35,46,57, .7 éb 29
A. 65 B. 66 {‘b
c. 67 D. 68
E. 69 >
4. What will come next? Y ”“5;8
13,23,32,41? w5 B
A 57 B. 51 < 4
Tt \3% Which one is different from the rest?
0 A. Indigo B. Orange
é C. Yellow D. Black
E. Pink

srent from the rest?

14. Which one is diffe
o A. Bones ~ B. Tissues

,Am&ﬁdﬁ'@m-
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ome next? 99,66,35,6, .7

56,168, 191, .-? A =2d g 22
B. 572 Comes23 By =24
D. 574 25

27. Give the most sensible answer. People go to

.n at the coffee shop charges 20 hospitals:
To rest in over-priced rooms

for a plain cup of coffee. The charges e
100% if milk or flavor is added to it. B. Forchange
~rders 5 cups of plain coffee and 3 C. To get treatments %QI}
) cappuccinos, what would be his total D. To see their friends %Q}
| E. Todie N
B. 200 Q,%
ol 28. What will come next? bsb ‘

11113182544 By

A. 73 ‘\7
alsehood as subtlety is to: G i @ 0

B. Art E. 69
D. Kindness
29. Doctors Eb‘use job to:
AP
ne next? B. arn to stay at home
57,715, ....7 joy free time
G 674 C@ Prepare for exams
~ D. 678 & . None of the above

O
Qg}“ 30. What will come next?
O

6, 12, /815 1625107

B. Magician C)& A, 18 B. 24
D. Celebrity Q C.on22 D:. 16 A v :
E. e £

0 p % = .f

n the series éﬁultiply it 31.
ber ar @ ivide it by

32. Which one is diffe '
A. Pencil '

A. A
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¥ 3 B E. 3x
g‘ z:g'\:"n g s il 45. What will come next?
: 18,8,24,16,32,....2
36. If 6 is greater than 6 into 2 then write A, A. 16 B. 24

otherwise B. C. 38 D. 46
A. A B. B E. 20

37. Bilgram goes to a supermarket and buys 2 46. People swim to:
grams of chocolate. The price of chocolate per A. Enjoy the water
kg is 1000 rupees. How much did Bilgram pay? B. Become an expert swn%ner
A. 2rupees B. 20 rupees C. Become healthier
C. 200rupees D. 50 rupees D. Become popular Q:)
E. 15 rupees E. Become upto %te

38. What will come next? 47. Kick to foot bal Cbs throw to:
988,970,934, 880, ... ? A. Dishes. " B. Sweep
A. 760 B. 789 C. BIo&”I\,'Q D. Ring
C. 808 D. 763 E.
ES 777

48. \@}wﬂl come next?

39. Physician to treatment is as Judge to: 63,189,567, ....7
A. law B. Courts Q/QA 1690 B. 1780
C. Advocates D. Judgment C. 1701 D. 1789
E. Legislation \}% E. 1678

- 40. How many times can you subtract the numbeféo 49. What will come next?
S5 ! (‘b 99,66,33,....?
B. Thrice A, 22 B. 30
D. Twice «(}Q' C. 00 D. 11
E. .35

gest? Q 50. Goose is to geese as cactus is to:
A. Appendices B. Cactuses
C. AlotofcactusD. Plants
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Then7+6=?

an as Chinese is to-: 63. Peppermint ice cream recipe requires 2 cups of
B. Japan cream for 5 servings. How much cream would

D. USA be required for 80 servings?
A. 20 B. 25
C. 30 D. 28
E. 32
..... ? O
by 64. What will come next? Q)
23 27,45, 63,81, .7 %‘2}
A. 80 B. 88 N,
C. 90 D. 9 Q)
- E. 101 Efb
’ i”— ’28!: 65. Which one of the {@ing is different from
- the rest? 0
D. 290 A lion  HS'B. Wolf
C. Fox \2$§ D. Tiger
E. Cat
than P mark A, otherwise B. ?"
: B. B 66. What'will come next?

1,72,62,51,...2
v 35 B. 39
\5?2. 42

D. 43

&‘ ES 38

360 \
Cb 67. 50 % of the students like white chocolates and
Q~ 60% like dark chocolates. Are there any
&O students who like both chocolates?
C} A. 50% B. m

C. 20% D.
.;g 00 E. 5%

68. What will come next?
12,24,48,9, ...7 7
A. 188 B. 190

C. 192 D. 194

E. 196 R

. What will come nm;
) q 1 ’ 3 ’ 5 ’ 10 ’ 15' .“‘“U'

ent from o

28

(o
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—T 4 n 2
- [::?-_,——_’:ﬁ—«-—%’j —— |- 9 Jﬁ € 0 1 A
s
R 8 | _c | 19 B S
. i S T D 24 A | 2
__JL___’_E_,__,T————C—"‘ o8 s T 29 | A 1 3
[ % | A 1 ——T—F | 33 X ] 24 A | 3 ¢
31 A | 32 | = AT ¢
==L = 37 A 38 C 39 | 4.
r A 42 C a3 A a4 B__| ¥
46 C a7 D a8 c 49 C__ 450
51 E 52 D 53 12 54 E O S5
56 A 57 A 58 D 59 BT 60
61 E 62 85 63 E 64 (U 65
66 B 67 D 68 e 69 (:\\s 70
71 D 72 B 73 A 74 &> _C 75
76 C 77 A 78 E 79N\ C 80
81 B 82 B 83 D 84 D 85
£6 B 87 . B 88 A _1- 89 C 90
9 D 92 B 93 B, % 94 D 95
9% | D 97 B 98 2 99 C 100
\
EXPLANATION: ! Wy
1, The answer is “unemployment” because{n & of the other answers explain “the recent rise in crimes”
petter than it. ~/

2, The answer is “32" because the pa).gﬁp chows that starting with the first number, you add 9, then 8, then
7, and finally 6 to get “32.” 9,
3, The answer is "68" because e<;§ttern shows that you add 11 to each number to get the next one.

4, The answer is “51" becau pattern shows that you add 19 to the first and thi
rd numbers.
5. The answer is “5200" becduse 0.5 kg of apples sells for 200 rupees, and therefore 13 kg sells for 5200
rupees.

6. The answer is ”9&"&}8&@@ the pattern shows that you multiply the second and fourth numbers by 2:
7. The answer is “41% because the pattern shows that you add 7 to the second number, 6 to the fourth
number, a lly 5to thc sixth number to find the missing eighth number, which i's “41.”
) ris“vested political interests of big powers” because none of the other answers explains ‘"¢
reason beliind rising terrorism in the world” better. g

“
er is “crude” because none of the other answers describes the opposite of “dainty” better "'

e’
answer is “2" because the i show
second by 1, add 3 to the m‘mm, andsﬂ?e;tuyeopeatu B ——e, ooy o
11 :'hh: answer is "z‘:"fm 29x29= 841,
12. The answer is "440" because the pattern shows that
i3 ff: w'::: ::W Because it's the only color thovto’: :l::t t!r:t ::efr:;: qﬂ;tw =

g appendicitis” because it is the only answer that is not a part of the body. It is a M9’

“labal” and “Leo” are lighter than “Anees *
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i gwer 18 “grooming” because a
of good “grooming.”

! " T ' )

: home” is strong because of “bricks” just like “behavior” is strong

b cause i e

e answer 15 subsist” because the other answers mean to improve or get better while “subsist” means to
elygetoy. .

n;fe answer s 573" because the pattern shows that you multiply the first number by 3, then add 23 to the

I8 i (L number, and then repeat.

;ﬁe answer is “220” because 5x20=100, and 3x40=120. Therefore, 100+120= “220.”

he answer is “crudeness” because “truth” is the opposite of “falsehood” just like “subtlety” is the opposite

o “crudeness.”

?Le answer is “674” because the pattern shows that you subtract 45 from the first number, 44 fromthe

I second all the way until you subtract 41 from “715” to find the missing number of “674.”

The answer is “poet” because that’s the profession of “Rumi.”

The answer is “366” because 12+4+8+24+13=61, 61x24=1464, and finally 1464/4= "366.”

The answer is “benevolent” because none of the other answers means “humane.”

The answer is “tomato” because it is the only answer that is not a spice. :

The answer is “-21” because the pattern shows that you subtract 33 from the first num?er, %1 from the

cecond, 29 from the third, and finally 27 from the fourth to find the missing answer of “-21.

7. The answer is “to get treatment” because it explains why “people go to hospitals” more than any of the
other answers. .

)8. The answer is “73” because the pattern shows that the first number is I'squared +9, the second number is
2 squared +9, and then repeat. . -

9. The answer is “practice” because “doctors” learn how to become doctors in a house job.

1. The answer is “24” because the pattern shows that you double the first number to get the second number.
Therefore, when you double the final “12” you get “24.” ;

3. The answer is “A” because “8/2” is equivalent to 4, which'isfarger than “2.

3. The answer is “pencil box” because it is the only container in the list of answers.

3. The answer is “94” because the pattern shows thatyou.add 4 to the first _number, .12.to the second b
number, 20 to the third number, and finally 28 t0 the fourtt) r?um”ber 'to flr:’d the rrllssnng nu['nber of “94.

34. The answer is “patients” because “students” pay a “college” like “patients” pay a hospital.

3. The answer is “pillow” because it’s the only answer that you rc_est your head on to sleep.

%. The answer is “B” because “6” is larger than “6 into 2,” whichis 0.33. : |

31. The answer is “2 rupees” because when you divide 1000 kg by 1000 to git the‘ dprlge of 1 gr’alzm of chocolate,

ou is 1 rupeé: Since “Bilgram” bought two grams, he pai rupees.
38. ¥he f:sr:/: ?st ’?;(fg”glgzgtlxsse eaFc)h number subtracts by a power of 18. Therefore, there is 18 between the
i tween

first 2 numbers, 36 betweenmnumbers 2 and 3, 54 between numbers 3 and 4, and finally 72 be

numbers 4 and 5.
9. The answer is “judgment” because a
0. The answer is “5 times? because 5x5 is 25.

4L The answer is "%4 ecause every answer hasa0a
by ibe th ite of “calm.”
2 The answ ‘g}gr:xious" because none of the other answers describe the opposite of “calm.

43 The a . f ”PNRV-”
“ o the reverse O ) b
- The a:‘im,' is ,,\lezrj:etc’: 32: Sti:flgrmula to figure out the area of a rectangle is length x width. Therefore,

g eSS
~ The answer is “24" because the pattern shows that the

the pattern i “24.” y o

% SE 36, and finally : é imary reason why “people swim compared to the
answer is “become healthier” because that’s the primary

0 Other answers.

3 . " - 2]
€ answer is “ring” because you “kick” a

“physician” provides “treatment” like “judge” provides “judgment.”

fter the decimal, but then the 4 is the largest next

second set of numbers increases by 8. Therefore,

“football” like you “throw” a “ring.
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48. The answer
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ncrease by increasing powers of 42. Therefore, there is o
s 2 and 3, nine 42s between numbers 3 and 4, ;

2 ’ the numbers i
is “1701” because between number

and 2, three 42s
3 s between numbers 4 and 5. |
hows that you subtract 33 from the previous number.

he pattern s o 4 puc.
e than one “goose” are called “geese” like more than one “cacty ¢~

between numbers
finally twenty seven 42

i & use mor
50. The answer s “cactuses” beca

”

are called "Cacwses'because the pattern shows that 2+13=15,13x2=26+15=41,13x3=39+41=80, and finally

51. The answer is “132”
3x4=52+80=132 | | |
52 11'he answer is “Google” because the other answers are social media platforms, and Google.is a search

53.
54.

55.
56.
57.

58.
59;

60.
61.
62.
63.
64.
65.
66.

67.
68.
69.
70.

71,
72.

73.

74.
75.

76.
i 8
78.

engine. : i |
Square all figures and do plus and minus to get the third figure.

The answer is “China” because “Urdu” is the language spoken in “Pakistan” like “Chinese” is the language
spoken in “China.”

The answer is “20” because the pattern shows that you subtract 5 from the firstnumber, 6 from the
second, and so on until you subtract 9 from 29 to get the missing number of “20.”

The answer is “255” because you add 39 to the first number, 40 to the seeond, 41 to the third, 42 1o the
fourth, and finally 43 to the fifth to get the answer of “255” since 212+43=255.

The answer is “A” because “X” is after “P” in the alphabet.
The answer is “360” because the pattern shows that you add 8Q ta each number. Therefore, 280+80=36,

The answer is “40” because the pattern shows that you subtract:multiples of 8, since the difference
between the first two numbers is 16, then 24, then 32. Therefore, when you subtract 40 from the final

number, you get the missing number of “64.”
The answer is “Z” because the pattern shows that there’is only one letter between each letter in the list.

The answer is “tomato” because it is the only fruit in the list.

Sum of the squares of the first two numbers is the third number in each case.

The answer is “32” because 80/5 is 16, and then when you multiply that by 2 cups, you get “32.”

The answer is “99” because the pattern showsthat you add 18 to each number. Therefore, 81+18 is 99.
The answer is “cat” because the other answers are all large animals, but a “cat” is a small house hold pet.
The answer is “39” because the patternshows that you subtract 8, then 9, then 10, then 11, and finally 1:

from the final number.
The answer is “10%” because atleast half of the students like both kinds of chocolates, but 10% more like

dark chocolates in addition to'white chocolates.
The answer is “192” because the pattern shows that you double the previous number. Therefore,

96x2=192.
The answer is “21” because you add 2 to the first number, 3 to the second number, 4 to the third numbe
5 to the fourth number, and finally 6 to the fifth number. Therefore, 15+6 is 21.
The answer is “43” because you add 5 to the first number, 6 to the second number, 7 to the third numbe
8 to the fourth-number, and finally 9 to the fifth number. Therefore, 34+9 is 43. '
The answer is.“39” because the other numbers are all even numbers, and “39” is the only odd number.
The answer is “J” because there is 1 letter between “X” and “V,” 2 letters between “V” and “S.” 3 letters
between “S” and “0” and finally “4” letters between “Q” and “J.” '
Thewanswer is “60” because you add 6 to the first number, 8 to the s . b

y ’ ec um
and finally 12 to the last number. ond number, 10 to the third 1
The answer is “uncertain” because we don’t know if the “x student” i

: ent” is a boy or a girl

The answer is “36” because you add 5 to the first number 7 -

, 7 to th : be!
and finally 11 to the last number. € second number, 9 to the third nu™
The answer is “down” because “white” and “black” areo oo 1 .

7 »” y OSItES “ 7”7 “ »”
The answer is “France” because the Eifel Tower js Iocatedpi‘l)1 Parisjcjftigrﬁs il:'\pF R ssn.
¢ rance.

The answer is “142” because you add multiples of 9 to r
61, 61+36 is 97, and finally 97+45 is 142. each number. Thus, 749 is 16, 16418 is 34, 32’
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: is “it is goo i "
““_erwer g or the environment because that is the most important reason of all of the

3

. ll41” b '
o Thea _ris' i ecause each of the three tea sets includes seven pieces for a total of 21, and the one
jnner set includes 20 pieces. Therefore, 21420 is “41” things on the table.

= answer is “a’+b?+2ab” because the equation b

§1. mr ) g quation breaks down to (a+b) x (a+b) and then a(a+b)+b(a+b),
which gives you 2 +a'b+b2+ab. ’Ther‘EfOFE. when you add it all up, you get “a*+b*+2ab.”

o, Theanswer s wolf” because “Ahsan” is a boy, and all the boys are called “wolf.”

. " *M
& The answer is chocolate brownie” because the other answers are all drinks, and a brownie is something
eat.
- 54 2
. The answer is ivory” because the other answers are all metals.

. ol 44 g5 . n
g5 The answer is _dn_wlng room” because all of the other answers are places you can live, and.“dining room” is
just one room inside a place to live.

%. The answer is “Sew” because it does not rhyme with the other answers.

§7. The answer is “uncertain” because we do not know how much each mango and each-banana weighs.

g3, The answer is “DIVE” because when you substitute an “I” for the “0” in “LOVE”.you get “LIVE.” Therefore,
when you do the same for “DOVE” you get “DIVE.”

g9, The answer is “Z” because the difference between each letter reduces by one, starting at six. For example,
there are six letters between “A” and “H” five letters between “H” and “N” four letters between “N” and
“s” three letters between “S” and “W” and two letters between “W”and “Z.”

90, The answer is “75” because each tomato costs 15 rupees.

_ The answer is “Brother” because Anna’s son’s aunt would be the person sister to Ali. Therefore, Ali and
Anna must be brother and sister.
92.

The answer is “12056” because with each successive series of numbers, you double each number.
Therefore, two times “60” is “120” and two times “28” is “56.”

The answer is “Computer” because the “human body” requires a “heart” to keep it alive/make it run, and a
“computer” requires a “CPU” to make it run. In.other words, the “CPU" is the “heart” of the computer.

The answer is “Iram is 48, Meena is 24” because when you multiply Meena’s age by 5, you get 120, and
then when you subtract 48 from 120, youget 72. When you add Iram’s age of “48” and Meena's age of
“24” you get 72. {

The answer is “13” because starting with the first “9” you add one number to get the third number, then
one more for the fifth, one more for the seventh, and then one more for the hidden number. That's why
the pattern is 9, 10, 11, 12, and the correct answer of “13.”

9. The answer is “Hatred” because “enemy” is the opposite of “friend” and “hatred” is the opposite of “love.”
97. The answer is “Vehicle” b@ause a “cell” fuels a “torch” just like “petrol” fuels a “vehicle.”

%8. The answer is “cure” because the job of a “juror” is to “judge” like the job of a “doctor” is to “cure.”

95. The answer is "12"b§:ause person 1 hugs all 11 other people, person 2 hugs the other 10 people, person 3
hugs the other 9 peo

93.

94.

95,

: ple, person 4 hugs the other 8 people, person 5 hugs the other 7 people, person 6
hugs the oth er 6.people, person 7 hugs the other 5 people, person 8 hugs the other 4 people, person 9
h“gs_i}:\e other 3 people, person 10 hugs the other 2 people, and person 11 hugs the other person. At this
100, pTa:" person 12 has already hugged every one for a total of “66” hugs.

er is “62” because the pattern shows that you add 12 to each number.

1#—
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Career Finder

B R "

1. What will come next?
9,27,45,63, .....7

A 56 B. 47
C. 58 D. 81
E. 99

What will come next?
BDFH , JLNP, ....?

A. QRST B. RTVX
C. TuvZ D. SUVX
E. TVWX

Arya and Sansa are of the same age and live in
the same kingdom. Jon and Tyrion are the
eldest members of the kingdom. Margaery,
Jon’s daughter, is in the same class with Arya
and Sansa at the school, and all are age
fellows. Can it be assumed from the given
information that Tyrion is older than Sansa?
Yes

No

Uncertain

None of the above

All of the above

Mmoo

What will come next?
1,9,25,49, ..°

A. 76 B. 81

€.« 56 D 72

Ew. 73

Oxty)(x—y)=?

A 2x-2y QS
B. 2x+2y \/

C. x*y? : 6\ :

D. 2x N\

E.  (xy)? - | <\

Which one is @krent from the rest?
A. Lion: Q?

B. Sn @ lither

C. Chicken : Hum

D. Goat: bleat

E. Dog:Bark

What will come next?
9,81,648, .. 7

190

10.

11 13

1.2

13.

Ine 1p--

SOLVED PAPER 2

A, 4536 B .78
C. 4632 D. 4589
E. 4443

The media has the responsibility to:
A. Entertain different cults

B. Promote religious extremism
C. Help strengthen democracy

D. Promote shows for ratings

E None of the above

Ali earns 1120 rupees every week. His ren;
costs 420 rupees per week and car costs 93
rupees per week. Heialso donates 10% of
weekly salary to charity. How much money i
he left with?

A. 440 B. 48

C. 432 B 495

E. 500

Which one is different from the rest?
A. Wheat

B. Maize

C. Sun flower

D. Rose

E. Sugarcane

What will come next?
585,500, 425, 360, .....?

A 4320 B. 280
C. 290 B 295
E. 305

What will come next?
95,190,570, 2280, ....?

A. 11,300
B. 11,200
C. 11,500
D. 11,400
E. 11,600

Women learn to drive to:

Kill people

Enjoy their life

Educate masses

Play a constructive role in society
None of the above

mMoO®>
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ar is 10,000 dollars in the o
r Aslarr_\ manages to get a 22. “Bark” is to “dog” as “moo” is to:
jue to his relationship with the A. Cat
e showroom. Moreover, he buys B. Cow
. He pays 20% of the cost C. Jackal
s. How much is he paying every D. Rabbit
E. Frog

23. A pizza recipe requires 4 eggs for 1.5 kgs
of flour you use. If you had 12 flour, how

many eggs would you use? %

A 23
C. 24
E. 32 (‘\??‘
24. Which one ISQ@ rent from the rest?
B. Cake

A Cook 2
@ e D. Fudge

éﬁ‘@

25! t is the meaning of abhor?
\} . Love

0 B. Abscond
& C. Berate
'r U D. Hate
E. Value

26. What will come next?

(:) 99,33,66,33,33 33,..“
A. 00 ek
amtfromth@@’ B. -33 i,
B. Oce C. 66
D. Str D. 33
e E. 99
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32.

33,

34,

35.

36.

37.

- 64
If 23
- 4)(5:108
7><8=1614
Then5><6-
1 WhatwiHcomenext?
5 15,6,16,7, -
A, 13
c. 15 D. 16
E 17

What will come next?
10,13, 15, 16,19,21,22, okt

A. 23 B. 24

Cc. 25 D. 26

E. 27

Forest is to trees as ocean is to:
A. Salt B. Animals
C. Fish D. Seals

E. Water

What will come next?
9. 41290, 72, ....?

A. 89 B. 20
C. 128 D. 136
E. 144

What will come next?
1,5,30,150,900,°?

A. 1500 B. 3000
C. 4500 D. 6000
E. 7500

If 2 is greater tha@\@multiple of 4 write A,
otherwise B. .
A A Q& BB

Which one is different from the rest?
A. ~Chihuahua B. Ragdoll

C. o\ “Persian D. Siamese

. Mainecoon

solid is to liquid as ice is to:

A Water B. Ocean
- River D. Melting
Canal
next?

what will come
/5, %, 8%, 11/10 , e?

192

40.

41.

42.

43.

44.

45.

46.

47.

The High Scoring Guide for

A, 3/4 B. 2/8

c. 12/4 D. 7/5

E. 6/7

Which one is different from the rest?
A. Consume B. Devour
C. Ingest D. Inhale

E. Chew

Give the most sensible answer. People get
married to: &
A. Get government supervision
B. GetIDcard

C. Have children

D. Follow thetradition

E. Fulfil their emotional needs
What is.the 20% of 40% of 12507
A. +.200 B. 250

€ ‘100 D. 150

E. 300

Smoke is to pollution as war is to:
A. Peace B. Happiness
C. Victory D. Defeat

E. Destruction

What will come next?
101,112,104, 115, 107 P

A. 113 B. 114
C. 116 D. 118
E. 120

Which one is the smallest?
A. 9/13 B. 12/15
C. 3/5 D. 3/7
E. 18/19

Give the most sensible answer. Girls should 8

to school becauyse:
A.  They are equal humans

g. mey don’t like sitting at home
: €y wWould want to get married
otherwise
g. They want to play games
They are cleverer than boys
X\Ihiczrzl:ais different from the rest?
- Stir
C.  Fragrance D. silen:t
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i A. 20 . 1
n 24/3, write A, otherwise B. C. 10 g 480
B. B E. 55

s to Juliet as Farhad is to: 59. What will come next?

B. Heer 53,53,40,40,27,27,....? ~
D. Shirin A 14 B. 12 x©
C. 33 D. 40 @%
E. 27 : N
guare root of 36 is 6, mark A , otherwise (‘Z}
60. Sonis to a father as art @
B. B A. Artist B(gé?ama writer
C. Lover icture
yeare is to drama as Picasso is to: E. Artlover 0\\
graphy B. Art N\
D. Pictures 61. There are dents in White hall foot baii
Pain rush club. D»gﬁzlzuctions, 60% voted for Brooke
' Edw . How many students voted for Brooke
yunger than Zarah, but Zarah is older Eq Qgs?
could it be assumed that Zarah is Cié/ 20 B. 32
n both Ali and Sana? \> . 34 D. 38
B. No % E. 36
/& . The opposite of gross is:
Cm\ A. Crude B. Vulgar
ys has: Q,;/ C. Glad D. Sophisticated
: B. Daughters 0 E. Cheerful
D. Children & 63. Women wear jewelry to:
(:) A. Look pretty

B. Attract men

C. Show of their possessions
D. Use money

E. Get uncomfortable

Q 64. A bird was sitting 3 m away from th
1 the pole. It flew 4 m to reach at the
tower. What is the height of the tov
A 3 B. 4in

ES
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67. What will come next?

A, 22 B. 23
77,88,99,110,121, ...? C. 24 D. 26
A 128 B. 131 E. 27
c. 138 B 332
E. 133 75. What will come next?
, ext? 96,88,80,72,...7
B0 Wi EicamBIaREy A 60 B. 68
100, 120, 140, 160, .....}
A. 180 B. 170 €. 62 D. 64
C. 190 D. 200 E. 58
E: 220 .2 )
76. The meaning of mischievousis:
69. If 34x52=5423 A. Harmful B. Gleeful
16 x 28 = 2681 C. Jovial D. duvenile
9x7=79 E. Cheerful
Then 327 x 403="? 77. Ifit takes a plane 5hours to fiy from 3 count
to another covering the distance of 3060 miles
70. London is the capital of: what is the speed at which it moves?
A. UK A. 612 miles/hour
B. USA B. 345 miles/hours
C. France C. 888 miles/hour
D. ltaly D. 270 miles/hours
E. Europe E. 360 miles/hour
71. Stars are to night as sun is to: 78. Which one of the following is different from
A. Morning B. Day the rest?
C. Evening D. Daylight ' A. 144 B. 25
E. Sunlight C.. 10 D. 64
E: 16
72. Which one of the following is different from
the rest? 79. What will come next?
A. Friends 1,7 08y 220300 3
B. International relations A. 39 B. 40
C. Relatives C. 41 D. 42
D. Parents E. 43
E. Children
80. Glasses are to eyes as ring is to:
73. Mina needs to carry 10 liters of water to 3 A. Hand B. Jeweler shop
place. She goes tq a store to buy buc!<ets. : C.  Wife D. Finger
There were two kinds of buckets available in E. Eyes
the store: White ones that could contain 3.5 _
litres of water and black ones that could 81. If 17 is smaller than 19 then mark A, otherws
contain % litres. How many would Mina buy to mark B.
meet her need? A A B. B
A. 2 white and 6 black buckets i
B. 1 white and 11 black buckets 82. Like is to love as dislike is to:
C. 20 black buckets A.  Disgust
D. 3 white buckets and one black bucket B. Agony
E. 2 white buckets and 3 black buckets C. Pain
D. Hate
74. What will come next? E. Odium
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A. 200 B. 320
 will come next? C. 360 D. 480
0,12,24, .72 E. 500
2 B. 26

C. 49 D. 46 90. What will come next?
E 40 23,45,6.75,...7 O

i A. 10 *2;{}
What number comes next in the following B. 9 <’~}
series? C. 10.125 , o;\
21,28,35,42,...? D. 10.75 {.}9}"
A. 50 E. 11 N~
B. 49 D
C. 48 91. What will comenext?

D. 47 10,15,8,%\ A s I

E. 51 A 4 \ B. 3

C. 2 \2\% D. 1

What number comes next in the following E. 7?‘”

series? ' (<

HISPGES 2495 . 565,625, .....7 92. ‘What will come next?

A. 695 B. 685 ($2,42,21,-1,-24,-48, .7

C. 675 D. 665 \\5 A. -70 B. -71

E. 655 O c -72 D. -73

L E. -74

Hannah is smarter than Ben. Ben is as smart C:)

Clay. Hannah is the smartest in the whole %§‘ 93. If a kilo of grapes is sold at the price of 30
Assuming the first two statements as trué« rupees, how much would 100 grams of grapes
the third statement also true? O cost?

A. True A. 10rupees B. 2rupees

B. False Q C. 3rupees D. 1lrupee

C.  Uncertain ‘ Q/ E. 15rupees

D. Alloftheabove -

E. None of the above 94. The opposite of pain is:

A. Ache B. C
Miser is the @ppos:iﬁ C. Suring D. G
B.

. E. Health
tf@ r._ DoRL iy Kt plal T aQt  |If A Vil

EN ﬂm;d:"i". sl ok

e
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B 3.

A 8 2 B

e

18 C

B 23 E A

A 28 A C

c 33 E E

A 38 A 5 ‘

C 43 E = >

B 48 B D D

A 53 D A
E ‘ \ D —\

B 58 B 59 A An;)‘ 60 J A W

D 63 A 64 9\*{\} 65 | Db 1

D 68 A 69 | 470233 | 70 | A |

- i A 78 NE 75 | D |

E i C 799 C 80 | D |

D 83 B | .8 | B 85 | C |

E 88 A ;Eggﬁ‘%g B %0 | C |

D 93 C 94 B o5 | C |

E 98 | AB 99 B 00 | A |

2
O

tter @g‘&s that starting with the first number, you use 9x3 to get the
third number, then 9x7 to get the fourth number, and finally 9x9 to get

srn shows that you skip one letter between each letter in the series.
an and get “V” and finally skip W and get “X.”
embe < of the kingdom, s0

i
7is 49, and finally, 9x3 is

al and the noise it makes,

o number by 9, the second 4

.'1‘. ‘ ¥
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because that is the most important responsibility of the media

”

“help strengthen democracy

 Finder

The answer is ST
the O . -
-y v 0f 1120 is 112, 1120-112=1008, 1008-420=588, and finally 588-93=495

The answer is “495” because 10%
W5 “rose” because it’s the only flower among the answers.

Ho.ém.mamiwﬁ.m
Gy “305” because the pattern shows that you subtract 85 from the first number, 75 from the
from the third number, and finally 55 from the fourth number.

H_.._.:m m:m%&w
$

second num 65

N

12. The answer is HM% because the second number is double the first, the third is triple the second, the
. fourth is four :Bmm,m_ﬁmyg:g and finally, the fifth is five times the fourth number. Therefore, 2280x

5=11,400. O
The answer is “play a no:m:%@w@‘ role in society” because none of the other answers explain why “women
learn to drive” more. \m\\“\
14. The answer is “1600 dollars” becaus riginally bought the car for only 8,000 dollars since
10,000x.2=2,000. Then, 8,000x.2=1600 a%/ww since he pays only 20% each six months.
15. The digits are placed: second digit of the first.n: Wmﬂ first digit of the second number, first digit of the first
number the second digit of the second number,* m the required number.
16. The answer is “cotton” because the other answers m@ﬁ.a metals, and cotton is soft.
17. The answer is “4.05%” because 1500x.09=135, and mex.&@om. _
18. The answer is “glacier” because it's the only frozen and solid a r, since the rest are all owing water.
19. The answer is “discover yourself” because none of the other m:mimmm Qn_m_z “the meaning of life” more
than “discover yourself.” O

20. The answer is “-1154” because you subtract by ascending powers of 6. ._.:M,uwm rence between the first two
numbers is -6, between the second and third numbers is -36, between the th d fourth numbers is -
~ 216,and finally between the fourth and missing fifth number is -1296. Therefore, 1296-142=  -1154.

13.

e answer is “bold” because the famous expression says that “fortune favors the bold.’ t

answer is “cow” because “bark” is the sound a “dog” makes just like “moo” isthie mo%_ Snowi ‘

4” because 12/1.5=8, and 8x4="32.” %&%‘
O, |

ocolate” because it's an ingredient, unlike the other answers 0
because it most closely means “abhor” than any of the other answers @

ause the pattern shows that you subtract 33 from the first number to get the third,
o the fifth, and finally 33 from the fifth to the missing ,wm,<,w§m ::3%2, ,

s a “kitten” is a <@§w aﬁ%g%m.- I o, o |
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The answer IS 17” because the pattern shows that you add one number to th or AMc
ymbers: Therefore, the series is 15, 16, and I i e second and fourth
n
~ answer is “25” because the pattern shows that you add 3 to the first number, 2 to th
then 1 to the third number, and then repeat. ’ € second number,
fhe answer ic “water” because a “forest” is made up of “trees” like an “ocean” is made up of “water’
e

- Jnswer is «144” because the pattern shows that you multiply the first number by 2, the second numb

’ er
by 3, and then repeat.
The answer is “4500” because the pattern shows that you multiply the second and fourth numbers‘y 30.

The answer is “B” because 2 is already less than 4, so it can’t be greater than any multiple of 4.

The answer i uchihuahua” because it is the only dog among the list, since the others are cats.

The an

<wer is “water” because “solid” is the opposite of “liquid” just as “ice” is the opposite of “water.”

u add 3/5 to the first andthird numbers in the

The answer is «7/5” because the pattern shows that yo

series.

The answer is “inhale” because it is the only answer that involves breathing and not eating.

The answer is «fylfil their emotional needs” because it most appropriately answers the reason that “people

get married.”
“100” because 1250x0.4=500 and 500 x0.2="100."

” causes “pollution” just like “war” causes” destruction.”

The answer is

The answer is “destruction” because “smoke

The answer is “118” because the pattern shows that you add 3 to the second and fourth number.

The answer is “3/7” because “18/19”=.95,and “3/7"=.43.

The answer is “they are equal humans” because it is the most accurate answer compared to all of the other

options.
The answer is “stink” because it is the only answer that Is specifically bad.
The answer is “B” because “24/3"=8.

The a = \ .
” nswer is “Shereen” because “Romeo” was in love with “Juliet” just as “Farhad” was in love with
Shereen.” Q)

The answer s “A”since 6x6 is 36.
5 The anSw ‘ 7]
@an because “Shakespeare” wrote drama plays, and “Picasso” painted art.

- The ans i
Wer is “yes” -
yes” because we know that “Zarah” is the oldest.

. The anSW o
er is “ . E:
children” because a man must have children to become a father.
MGII becaus .
e the pattern shows that you divide the larger number by 3. Therefore, 18/3is 6
COOki o 7 “” . ” .
ng” because you're “reading” a “book” and “cooking” in the “kitchen.”

even” because it n Y
10 “Crookeq » se it means the opposite of “crooked,” and most of the other answers are
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57. The answer is

58.

59.

60.
61.
62.
63.

64.

65.
66.

67.
68.
69.

70.
71.
722
73.

74,
75.
767
T
78.

79.
80.
B1.

igh Scoring Guide for AM;
200 The Hig 4

“g” hecause 12/2 is more than 3/5.

” hecause you multiply two sides t
0x10, which is 100.

o and the area of a square, and since all sides are the

The answer is “100

same length, it's just 1

b e the pattern shows that you subtract 13 from each previous number. Therefore,
ecaus

The answer is “14”
the Pattern is 53,40,27,14.

. 'l -4 n " ”n
ris “artist” because a “father” makes a “son” like an artist” makes “art.

The answe
The answer is “36” because 60x.6 is “36.”

The answer is “sophisticated” because it is the closest answer to being the opposite of“gross.”

The answer is “look pretty” since most women choose to wear “jewelry” to improve their look more so
than the other answers.

The answer is “5” because using the Pythagorean theorem, we know that aZ+b?=c?. Therefore, 9+16=25,
and the square root of 25 is “5.”

The answer is “water” because an animal breathes “air” like a “fish”breathes “water.”

The answer is “18” because you add 3 to each number starting with the second. Therefore, the pattern s 9,
12,15, 18.

The answer is “132” because the pattern shows that you.add 11 to the previous number.
The answer is “180” because the pattern shows thatyou add 20 to the previous number.

The answer consists of the digits of the first and second numbers arranged as: first digit of the second
number, second digit of the first number, second digit of the second and first digit of the first numbers and
So on.

The answer is “UK” because that’swhere “London” is the capital city.
The answer is “day” because “stars” come out at “night” like the “sun” comes out during the “day.”
The answer is “international relations” because the other answers are all family members

The answer is “2 white.and 6 black buckets” because 2 white buckets hold 7 litres, and 6 black buckets hold
Another 3 litres for10 litres total. :
The answer is.“27” because you add 9 to the second set of numbers. Therefore, the pattern is 9, 18, and 27-

The answer is*64” because the pattern shows that you subtract 8 from the previous number

The answer is “harmful” because it most closely means “mischievous.”
The answer is “612 miles/hour” because 3060/5=612

The answer is “10” because the other answers are squares of numbers For example, 12x12=144 5x5=2538
. mple, 12x12=144, e

x8=64, and 4x4=16.

The answer is “41” because the pattern is to add 6, then 7, then 8, then 9
: ’ »and finally 10 to get “41.”

The answer Is “finger” because “glasses” cover your “ like “rinec”
€ "rings” cover your inger.”

eyES"
The answer is “A” because “17” comes before “19
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wer is “hate” because “love” is a stronger emotion than “like” ju L o
he an> just as “hate” is a stro :
udislike.” Nger emotion

ris “26” because the pattern is to add 7 to the first two numbers, 3+7 is 10 and 547 is 12
' 1512, and

answe .
The 2dd 14 to the next two numbers, so 10+14 is 24, and 12+14 is the Correct Answer of “26 "
then . ;

nswer is “49” because the pattern is to add 7 to each previous number.
The @

ug75” because the pattern isyou add 90 to the first number, 80 to the second number, 70 to

answer is 5 " ”
Thethird number and so on until you add 50 to the last number, “625” to get the answer of “675”
the

Jnswer is «yncertain” because we don’t know how smart the other people in the class are. Some may
The

rter than “Hannah.”

pe sma -
nswer is “generous” because the other answers mean the similar thing as “miser.” However,
ea o ) ) jlii
T,h erous” means the opposite, since it means the person gives money away instead of keeping it for
L
gen
himself.

" pecause we already know that “person A” eats more than “Person B,” and since “Person

The answer is “no
B,” we know that “parson A” eats the most.

¢" eats less than “Person

The answer is “320” because you always double the previous number.

because the pattern shows that you half the'number and then add that to the same

The answer is “10.125”
“6 75” is “3.375,” and when you add that to “6.75" you

number to get the next number. Therefore, half of

get “10.125.”

The answer is “4” because you subtract 2 from every other.number. Therefore, 6-2 is 4.

The answer is “-73” because the pattern shows that’you subtract 20, then 21, then 22, then 23, and finally
24 from the previous number.

The answer is “3 rupees” because you need to divide both the kilo or grapes and the 30 rupees by 1000 to
convert them into grams. Therefore, 30/1000 is 0.03, and when you multiply that by “100grams” you get 3,

meaning it costs “3 rupees.”

The answer is “comfort” because none of the others mean the opposite of “pain” as closely as “comfort.”
The answer is “uncertain” because we don’t know how heavy “Shams” is compared to “Ahmer.”
The el ~

answer is “may b\e,/may be not” because we were never told who is the same height.

The ic tam N\ =0t .
answer is 15" because it is the only answer that is not a prime number.

R
e answ A 5 ” . . 2 .
er Is “asylum” because a “criminal” lives in a “prison” just like a “lunatic” lives in an “asylum.”

99A The ans@

“93” because the pattern shows that you add 13 to the first number, 16 to the second, 19 to
N 22 to the fourth to get the missing number of “93.”
-ihe answer |S ”An“a"

the third, ang

because we know that both “Sana” and “Sidra” are heavier than “Anila.”
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Online Learning Module - tabir.pk

Assignment 2 is designed for intensive learning, which can be accessed by logging on to The High Scoﬂng
Guide for AMC Online Module on tabir.pk. It familiarizes youwwith the

nature of questions ang how to
attempt them, improving your Préparation. This Module'j< mandatory to attempt for an all-roundeg
Preparation. While Preparing on the Module:

* Ifyou attempt a questio
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Assignment 1

Solved Papers and Explanations

The Assignment 1 comprises of Solved Papers and Explanations that have been included on the

pattern of the AMC Entry Test Past Papers questions. _
These questions test a variety of concepts, and provide the correct answers along with the

explanations. This will guide you to work on the areas where you need help. By following the
explanations, you can learn new concepts and polish them with practice.

Itis recommended for the candidates to refer to additional sources of information to practice their

skills and knowledge for an all-rounded preparation.

After you are done with Assignment 1, proceed to Assignment 2.

Remember: Practice will help you score brilliantly!
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C Moving from the outer rectanglefto the inner shapes, colour changes from black |

|

to grey to white.
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ector is dlwded\ into two segments and has a dot in
t should have two portions with one
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s

[/

A

”%

A The bottom left corner of the s
the outwards segment, hence suitable segmen

dot in outer side. Y

\\/

i
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v O@ v

C The corners of all the gles point towards the centre of the square and each smaller
square has a Slng in them so options A and D are eliminated. C is best choice
because the snze{& es

mall triangle corresponds to the size of other triangles.

Q\)
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The answer is C, if you pair the alternating images together, you see that the smaller black sphere
inside the target is reflected in its position. When looking at the answers, the only shape that has the

same type of reflection is C
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c D

sequence show the line moving to create 3

within the
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feor bape

|

B c e
image out &ﬁ plain 90 degree angle, the rest of the images are comprised of three lines
Lt the 90 degree m:n_@% has two lines. 4

9

@.mﬁ a matching pair of lines and symmetry

nd image does not belong, all the otheri
of their shape. The second one does no @ﬁ a matched line and therefore is

ed with CamScanner
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| T
q P [ s
> ol | AA | | P
~ P | e | il i ‘ ®
0~ | | € | AA ] | o8 »
‘ | ‘ f | , 1 ®
) ' | | | 1.0 V
O | | O Q
A B C D

The answer is C. The odd one out in the second sequence of images is the third image, as the line
comprised of circles is always diagonal and the line of circles in the third image¥s horizontal,

Choose the correct option to complete the pattern

17.

4 \ L 3 A
- >~ \ ./
PN
\/‘
A\
A — \
i \ \ by \ - \
> & \ . \ ( ) \ \ ‘ i
e ; % \ \ T \ \ \ .
o = R - \\ \ \ e
<>V : ) c D E

N
The answer is D, using the process of elimination, the first three images are excluded due to being il
the problem all ready. The other indication of D being the answer is th
problem have pairs, there are two rectangles, two circles,
leading to the only answer being the only shape that hasn

at all the shapes in the
and two squares (a rhombus is a square)
"t been paired yet, the triangle.
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the rectangles in the circles decrease
r, the trend of the third column
ectangles

n of circles,

r each column. Howeve
his means the answer will have two r

is C, as you travel down the first
e top row to the bottom r@
 each circle per row rem ain attwo, t
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t option

Choose the GRIee

19.

The answer is C, looking at the example image you see the same image being shifted into a different
orientation. This means the same action will be appliedtothe third image to give us our answer,

which is the same shift in orientation to our image. This is C.

20.

same logic, the answer must be a singular triangle which is B
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ntation of the shape was turned from

that the orie
for the solution

his means that the image

itself d not change, t
he image cannot change, this leaves only answer D.
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DR OE

s D, when looking at the first image and seeing the orientati
the solution contain the shape presented in the third image but in the same

on of the square of the

The answer i

second image,
orientation of the second image, this is D.

25.
41.
is to
as
is to ’_7
Answer:-
a b c d

The answer is B, the i .
RN e it st e et e AN
rechondic i atsi ' and leaves the rectangle insi . The
e e e e
shows.a smaller circle surrounded S ae OL:Slde shape that contains another shape. The third imageé
shapeare maintained when the out:r nhOt el: larger circle, seeing at the lines inside the smaller
M s .a;.:e Is taken outside of the solution, th ber of
ntaining the smaller shape, this w e
’ ould be answer B.

i\ o O N 1 st —
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t to practice nonverbal intelligence questions. To practice hundreds of
ing tes

llowing

~ the fo

isit
er 4V

tabir.pk

rect option to fill in the missing spot. Q‘C}
1e cor
ose the
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QR sovaploted w pattern. Each group has 4 circles

B 2 &
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o

to dark grey. O

%;::”er is C. The circle is comprised of the same sections just in different positions,
& Aand B, Looking at the remaining images the one that fits the incomplete circle

this rules out
e best is
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series
Choose the correct option to complete the

7. 0
ooo| © O ANAA||lOOAA
A A AA A O O AA
&
' O d bé‘b@% C
AA AN ’) poassl
- . ?\gs
i <
d %Qf‘/
N
<O

es from left to right, you see that the amoun
czﬁ'whlle the bottom level of rectangles and the

e only solution can be D.

vith each new se
es. This means
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r only the white squares change their

ram pai
ges its place

the light grey colour chan

t A best fits the parent figure. In the first diag
places. Similarly in the second diagram pair

e~
0{)
N\
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XXX

Answer:

§ 325

The answer is B, images 1 and 3 are reflections of each other, meaning that the solution to this
problem will be a reflection of image 2, which is b.

9.
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A e
$
e b c d e g

ines, whil&ﬂ}‘ s only made of two

he rest of the images are comprised of three li

d e

‘have three layers otpne shape fitting into another and
wo she pasmw put into another and nc
’_..

s - .

:

Scanne d with CamScanner



234 The High Scoring Guide o y

A sehs

and therefore the answer.
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The answer is C, as you look at the unstripped shapes, you see there are pairs of three different
shapes sharing thef\s\ﬁ\e inside pattern such as the circle, triangle, and square having the same

nsde t"angle((jﬁérefore the solution must be the third part of the second image pattern whichis a
heI"‘“‘"“‘@Eﬁrde and a triangle. The only image that is a square with a helix inside of it s C.
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18

o

[UDDDD

Answer:
o\ AN
b

Q;\d e

The answer Q}Y}\s you follow the sequence of images from left to right for each row, you see that
each pr ive image has one less circle inside the triangle as you move left. With the third row,
you see two circles in the triangle, then one, and the last one m

ust have image
that matches that criteria is A. no circles. The only imag
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t the first image in the column is inverted
in the third.
in the third

The answer is A. As you follow down each row, you see tha
f the first row is unstripped

in the last image in each row. The stripped section 0
Therefore the solution of this problem will show the stripped section of the first image
row as unstripped for the last image. The only image that fits this criteria is A;
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Answer:

@)|/a)a n\o\A
103 O8O
a b

=)

Qyayo
U=

~

YV

The answer is C{oni :
i X ng at the. patterns of the first two images the stripped section was shifted to
» the same occurred with the second set of images. However

same an@nother was done to alter the images other than moving th

With that in mi ! j .
. III"I mind, the solution will contain the Same patterns in its image and only the outlier
pattern will be moved, the only possible answer with that criteria is C

the patterns remained the
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>\ IS to?
©
@‘gb
%’\
D

g
b C \?Xk‘ d

B _i you look at the first two images you s&t the dark square in the first
. ’ .
o 5 f lthe compa aspect of this exercise means that the

- | to the right
ignt . . kl' uare presented ir;{ﬁa irst image also move up and to
yve the dark squa

only image that does this is B.Qg?
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22.

as

Answer:

(W &5
a b C

(o8
d

The answer is D. When you look at the first two images, they show the striped/coloured section of
the image, being reflected between the two images. Therefore the solution will show the coloured
section of the third image, being reflected from the left side to the right side. The only image that

does thi @’
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24.
is t
- (@) is to ? %%\%Q’%
")
Answer: ?9@"3&
ia : P
)
O &0
C&OQ" d
The answer is A. When looking c;mmmm .
e » You see that the first image is deconstructeé

taken to the outer left of the im mm“m:swﬂ : layer of the three shapes that overlap. s
"’“‘ Ieh showcases this is A, also do the same with the third
s\

Q

4
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d

+the first image, you se€ that every second shape is placed on the
es) while every first shape is stacked in the middle (triangles)-
the same pattern and deconstruction with our second row-

the circles are stacked. The only answer with the same
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Career Finder N ALITY TEST

O T
I’ERS TUDE TEST (MAT)
ME CH AN IC L 4 Which man has the heavier load? ¢ equ
0 can E:
wn eaSil)’? i :nst‘l,lver. mm@

—
g
Y
=
7w
)
w0
=
0

O
%é & A q?‘ B
B \

A 6 Which pi shows how mud slings froms,

hsmore? whesécf%\ icycle?
Whichweig <\ [:]
\N o/ ) ”
\\’} o ';"' “
A B
i the more owerful motor’ I
3. If the bigger wheel moves in the d.u'\gnén of 7 \e’VTlllaClh nﬁz?kr::eds p
arrow, which way will the s les wheel q

move?

<>-

\) A

/) B
4. @Wing panwillbe easier to handle? -
(}% B 8 Whichhorsewillbehardertohd® o
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if the small wheel goes in the direction shown, 13. Which wheel will keep going longer after the
) inwhich direction will the large wheel go? power has been shut of 2
in
AlBIC T
(o) Q@é
AYANS
WO
&
A B (,.\) J
N
e Q:)
14. Who uses more force to pull sgy\e roller?
- ‘ 3
10 Which one of the ice will cool a drink more
quickly?
A[BIC
| OUNCE | OUNCE
A
11.

B
Which picture shows the way a bomb fall

ng)ls. If the two boys weigh the same, which one of
from amoving air plane? b

them can balance a heavier boy on the other
end of his see saw?

AIBIC|
b 0
/ A

2 f the @v
arr

heel moves in the direction of
which direction will the big wheel

16.
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Career Finder
handle 18 moved forward, how will th

: If the
17 Which patr of men A or B is carrying maort N sy
weight? I equal mark ¢ IAIBI(" - P
| d @) Towardsh
(¢) First in one direction and then |

other %
A
(AlBIC] \C:;

\e
gl

A B
18 Which car 1s less likely to roll? If equal mark ¢ @\
‘ E B

22, Whic%)&}:?se objects is made of the heavier

Which boy gets more light on the page of his

book?
]!

19. Which wall will keep a house warmer
winter?

O
Ao
B

A

vill be steadiest on uneven
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If the handle is moved in the given direct;
ction,

% the weight will
A[BIC]

(a) moveup
(b) godown
(C) not move at all

Bottles shown in Fig. contain equal volumes of

26.

milk and butter. Which of the following

statementis true.

(a) Bottle containing butter will have
more weight.

(b) Bottle containing milk will have more
weight.

(c) Both the bottles will have same
weight.

. On ClOSin%A&witch of the circuit shown, the
' magnetic needle will always

north t
point:
(:) In the direction of current.
Opposiﬁetothedirecﬁonofcurrent.
In any direction irrespective of the

249

28.

29,

The ultimate Guide for

Air pressure (Barometer reading) at Mount
Everest and Karachi will be:
(@) High at mount Everast.
(b) High at Karachi.-
© Will be equal at bot

h places.

AIBIC

O
2 . :
If weight of the block% Bis equal then which
4ra force when pulled on the

block requires mg
surface. If A@ requires equal force then

mark “C”. L
xé?{

O

IRON —2P

NP /77 ////////////////////////

RUBBER ———B—b

T yorrrrrsssiiiids

Which one will have more weight.
(a) I cft of water atroom temperature

(b) Icftofice
(¢ Both will have the same weight.

ABIC]

1cft Water

A B
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31 Which hummer will pull nail more easily.

(a) HammerA. (b) Hammer B.
(¢) Neither of A and B

32. Which one of the wheel (gear) will
rotate faster?.A, B or C.

ABE ()~

The Ultimate Guide for AMC
250

11 possible equilateral triangles.

A[BIC

35. Count

A B
s | 7| 4.0
;“3.‘;_
{,.\’&/
N

: N
36. Count all the Big squares In the f& owing figure.
ABICI, -
o

e

\

s;\‘
T [1 w\\,”

| «,k;}/

A B C
T [5]7]4

7

]

[ 1

37. Find the circles with equal diameter.

33. In which direction wheel”X” turns‘ABor C. @ @ @ @ % @
Cc

34. HS@ you see different podiums. Which one is

C?emost difficult to tilt? A.,.B or C

\5\0 A B
=&
I

A B C
U=Z |W=Z| V=X

38.  Which set of lines is parallel? If all are
parallel write “S” in your answers.

NNNNNNS A o /.

AlBlc|S

7777777 SR ans
LLLLLLEAB IS S

NN 777

I
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Which one of the lettered figure makes a 43. Count the cubes in the figure given below
rectangle with the given figure “S” En-circle
the correct answer.

39

C D\ 7~

4. How many cubes are found in the figure given
below?

41. Count the cubes in the ﬁgur;givﬁcrﬁweloy... N
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ATION TESTS

WORD ASSOCI
(WAT)

" (,:(.}
Instructions o.i\"}
1. You have 15 seconds to see each word and make sent%":@é on it
\ ./
2 After due time the new word will be dlsplayed {}
@\“
3. The serial number is given with each word
&
4. You have to follow the serial numbe.r\/
RN -

5. Write your answer against the c\@r/respondmg serial number.
6 If you laid wrong serial n\tﬁ;\“Ber your answer will be considered

incorrect. /\

K.,
Example: Q“"’

<&
Bel
L elow :\} % §gmple of a word which is dlSplayed on the card or

- |GLASS
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6r.No

3.
4
5
6.
7
8
9

10.
K.
12.
13.
14.
15

253 The Ultimate Guide for AMC

WORD ASSOCIATION TESTS

Words Response

Character D

Travel

Journey

7%
Respect R\

Duty

Life

Poor

Use

Climb

Problem

Attempt

Happy
Books

Rest

Short *3\

16. De&&
17. @Xfe g e
18, ‘OSick e
19.  War R sl '
20. Alone
21.  Father
mglain Il
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WORD ASSOCIATION TESTS
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Sr.NoWords

Response O
1 CHARACTER A manshould have good character. @Qp
2 TRAVEL Ltravelled by train. , ‘%‘3\
ERSS A RN The aeroplane reduces thejourney. ‘ 93‘“
4 RESPECT Irespect my parents. \\\}:)
5. DUTY Duty should be done honestly. 'Q?g/
6 LIFE Life is full of blessings. g\\)\g\\“
7. POOR Lhelp the poor. é\ :
8 USE Use of cigarette isnot g¢
9

CLIMB Monkey climbs im’gg ickly.

10. PROBLEM Itry to solvg;njirxproblem myself.

11. ATTEMPT Aﬁg@vﬁgﬁgﬂ_—mw

12. HAPPY B ' always.

13. BOOKS < Aﬁvays read good books.

14. REST \>Q" Rest is good for atest.

15. SHO 3 M@g,b;ﬂliﬁ__—lﬂlfe'ﬁgggi

16. D ? Designon faceis forbiddenin Islam.
17. ?'iSAVE Save money whereitis possible.

O
a8~ sICcK
Yo war

20, ALONE
21, FATHER
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society m2K p
23.  MAKE urecanﬂotbech_aﬂ-&e—'w'

24, NATURE

& 23 m.

27 BEAT

. i i us.
25 CONTINUOUS Alwaysremainconfiniers o
| UNCTUALITY Punctualityisa ood habit. o .

29. P

nmadehimsad. O

30. FAILURE W D
31. SCIENCE Science improves the standard of life.,"

hofguighl
Scientists studied the space %;_r@g__x

32. SPACE

33. SKY Sky looks very beautiful/. z\?\g\

34. GOAL Ltry my best to achieven oal.

35. BUSY Man should alyg}ég%e busy in his work.
36. MOTHER Ilove my mother.

37. SAVE Mgiﬁm_@ﬁ

38. FALSE Dqﬁé’r;;ake the false friend.

O
39. KNOWLEDGE <:}{f,}t’cle knowledgeis a dangerous thing.

40.  SLEEP & Loften sleep in my room,

Q‘.
41. UNFAIBf\\> Don't collect money by unfair means.

42. SIS'@R> Ilovemysister.
43. A NOT lcannotbuy this car,

4.~ PROJECT
\& . REGULAR
46. ADVENTURE

47. FORTUNE
48. CHOOSE
49. IMPOSSIBL
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Direction:

Complete the following sentences:

it
e
SO RERE B

Live for others.
Wine has more demerits
Ibelieve in hard work

Your goalis very important in your life.

Warand peace are the part of o nation's life,

Isaw her alone and helped her.
During Journey he enjoys much.

Early in the Morning he says hig prayer.

He went to Kohat for LS.S.B. Tests.
—=—atlorl.5.S.B. Tests
Marriage is not a child play:

Our neighbours are goodof behavioyr.

The people of Pakistanare ve hard working.
Life of Muslim is devoted to Is]
—>c€voted toIslam

am.
Islamisa greatreligion.
Democracy iSneces Sary for progress.

The present generation is very intelligent.
The past-

government wag infavour of Atomic energy.
Thelife of 5 soldieris the nName of Discj line.

The problem of Kashmir shoylq be solved now.
= coesolved now

Timeisa horse without reins.
)
Hehasa knife to cut fruits.

Helived a Very simple life.
A black snake should beke tfar,
————=D€Keptfar

The main problem of Pakistan js OVerpopulation

Indiais de endent on Pakistan forits trade with Afghanistan.

than blessings.
a1 blessings
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THEMATIC APPERCEPTION TESTS (TAT)

OR
PICTURE STORY WRITING

. INSTRUCTIONS

1. There will be displayed 3 Pictures on the screen one after each.

2. You have to write a story on each picture.

3. You will be allowed 30 seconds to see the picture and 3% mmutes to
write the story. } v

4. After 4 minutes next picture will be displayed on the screen.. \ ’

5

You have to write the story in English language only.

ULzt U 8 Ut iz 658 Ut 3, LW TGz L 4o
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pICTURES FOR STORY WRITING

PICTURENO.1
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PICTURE NO. 3
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PICTURE

STORY WRITING

Jo.
Y
@?
xplanatory Answers =
wit‘h(< %
xaminer's Revierf(/

©
O
O
&

Qﬁb

O : ,
Suggested stories on Picture No. 1

Story No. 1 Qg/o

Akmal is a bold; tough and intelligent Forest Officer. He faced the wild animals
with cool courage and patience and succeeded in rescuing many poor victims. Once
‘was dfiving along aroad frequented by the wild elephants. Suddenly he’saw a

al girl being chased by a wild elephant at a distance. The girl was overco:
, faint dar d fell on the centre of the road. He realised that unless he acbec;ne
the gir wvmnlébe trampled by the elephant. He drove his car with terri e
; ol ous girl and bjl the path of the elephammm :
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Story No. 2

Inthe picture we see a beautiful gir] lying on the centre of the road. There is a car at a
e dlsfance - Whl_Ch one boy is sitting. The boy is Amjad, only son of rich parents,
and senior stud.ent in the same college. He was greatly attracted by the beauty of
Shazia and decided to have her at any cost and by any means. Shazia did not like ">
Amjad because of his many bad qualities, Besides she was in love with another boy,
who was very good though quite poor. One day Amjad chased Shazia, abdticted
her with the help of some bad characters and attempted to rape her in hisicar. She
struggled and fought with all her might and he eventually strangled her to death.
Then he abandoned her dead body on alonely road. Just then he heard some jeep or

lorry driving up. He got frightened, drove off in a mad hurry. In his agitated
condition he dashed against a tree and gotkilled.

Story No. 3

Sheraz was a business man. One day he was urgently called to the next town to
conclude some urgent business. He was to travel with substantial amount of
money, all by himself on the deserted road. He did net also want to take others with
him since he could not trust them. Ultimately he picked up some courage and
decided to drive down himself in his car. While half way through he saw a beautiful
girl lying on the centre of the road. Sheraz was afr.aid to stop and investigate why
she was lying there. But her beauty was too tempting. He stopped the car at some
distance and came near her to havea closer look. Just then the girl got up and cried
out aloud. A few armed men came rushing from nearby bushes. The gir] alleged
that he attempted to molest her. The men threate.ned blm With dire consequences.
He gave away all the money he c.arrled along .Wlth his wrist watch and diamond
ring to satisfy them. Toprevent him from rushing to the pollct?, they burnt his car.
He was overcome with shame. He did not want to return home in that condition. He

i i icide.
fellinto ariver anQBo tted suic

Story No. gg\
Irf %art and capable police officer. He was bold, cor}fldent and devoted to
fan waga 4av a kidnapping case was reported to him. Twe dacoits hag
his Q‘ ne at}i’f ] girl and her little brother forahuge ransom. He v N sy
kidnapped a beautifal G100, vty but could notlocate them, He ducigug o o8
% s his car to find further clues if any. On the way he saw tlgx
ther on the road in ious on the road. Atonce he rushed o her resene ans

kidnapped gil’l! ] Saba then said that she managed to slip gy from th
gave her ﬁrst.aldaﬂ:t}ir road because of hu:ég}:l; ;2d ;fmgue. She wag afraid thaet‘
dacoits but fainted © her little prother as s00 Y discovered her

the dacoits would KIILMEE - © it single handed. Saba led hiny g ¢,

: en e secret hj
trerefore decid dd to fffr‘\:; :gethem when they tried to attack him_ Ty, ret hide-
. hot and wounce=", .

ying unconsc

 caving two young lives, - 1hus by his brave
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EXAMINER'S
REVIEW on

Stories Of Picture No.1

Comments on Story No. 1
The hero is ready to risk his life in order to save an unknown victim: When faced with dar e |
able to think quickly and come out with a reasonable solution to overcome the problem The s

a positive and happy ending. The author thus reveals himself as a resourceful and im,
individual with a high sense of responsibility Socially he is a good mixer and displays a s
and helpful attitude. He makes good use of the opportunities presented to him. He hgsthi
drive to better his lot. %

™

Commem on Story No. 2

OLSUC mdh‘dmp._- I T N

& REJECTED
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Suggested stories on Picture No. 2

Story NO. 1

Shahid an intelligent, smart youngman began his career as an advocate just a year

ago. He got married and we see him at the jewel shop with his wife, selecting an

engagement ring for her. As he was about to select a costly diamond ring, Kanwal,
his wife insisted that he choose a gold ring at a nominal cost. She said that Shahid
chould spend 411 the money he should could find then on building up @ good law
library. Later on when he becomes a famous and reputed lawyer with large income,
he can buy her all thejewelsin the world to his heart's content. Shahid yielded to the
sensible advice of his bride, concentrating his efforts on elevating himself as the
leading lawyer of the country. With the encouragement of his wifé and by tireless
hard work he soon became the leading manin the legal profession. He was thenable
to present a fabulous diamond necklace to his wife, when fhey celebrated the tenth

anniversary of their wedding.

Story No. 2

Sohail though quite intelligent, was rather-lazy. He could secure only a third
division in the final engineer'mg examination. While all his efforts to land himself in
2 suitable job proved futile he decided to become 2 smuggler, dealing in the
movement of gold and diamonds: Inthe picture we see him at a jewel shop with his
accomplice. He is posingas a customer but really observing the place so that he can
commit a robbery there. But he was not prepared for the burglar alarm and the two
ferocious Alsatians. He was caught Ted-handed while attempting to rob the shop
and was sentenced t@ SeVen years rigorous imprisonment. At the jail he made an

abortive bid to e@“’pe and gotshot by the sentry in the process.

Story N s§/§
Shan i;@;t&ed a lot of money while still a college student when. his.father, abanker,
died fo'an automobile accident. AR obstinate and plgasure 19vlng individual, Shan
squandered his wealth on - gomaen. 1iEte We SeF him at a jewellery mart buying

costly ornaments for one of his girl friends. Finding girls falling easy prey to

attractive jewels, he Jecided to setuP ajewellery shop himself. But he spent all his

time away from the shop with women of €25y virtue. Soon his business proved to be

aterrible failure. He could not repay ms debts a1:1d had tg g}(\) to Prison indefault. The
disease he acquired became worse 1 the prison and he died unmourned and

uncared for by any on€ in the end-
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Story No. 4

Naveed, a well built, strong muscled and intelligent young man, has joined the

police force, as a detective inspector. He was bold and imaginative and volunteered

for the difficult risky assignment of catching the gang engaged in smuggling of
diamonds and gold. After studying the situation and analysing the case history-he

decided to concentrate on a big jewellery shop in the city. One day he saw a well
armed, beautiful young lady alighting from a posh, huge imported car and walking
into the jewel shop with a majestic approach. He followed her inside’'the shop
unobtrusively. He saw the lady removing a shining necklace from her shapely
white neck and handing it over to the owner, saying that it did not'stiit her and she
preferred another design. She spent some time looking at other pieces shown to her
and finally choose the one offered by the owner. Naveed saw that the one she
returned was a necklace made of real diamonds and the ome she now selected was a
mere imitation. When he attempted to question the lady, the thugs in the shop
attacked him. Naveed who was an adept in karate hadno problem in tackling them,
as well as the lady who brought out a revolver from her hand bag. He succeeded in
arresting the culprits and smashing the gang.

Scanned with CamScanner



The Ultimate Guide for AMC

Stories Of Picture No.2
Comments on Story No. 1

©
e X

ted with ar isti
S g‘xb‘;?ﬁmsnc ending. The hero has been depicted as a keen and {g\
who tions and will. The heroine of the story has been pictur

assuming person, out to help the hero. The author thus reveals

0::;\;'1; conserves his energy and resources and puts them to advanta
~ the ability to put in sustained hard work.

Comments on Story No. 2

find the hero engaging himself unsuccessfully in v
est work. He is eager to make money thr

‘The author displays anti-social
he is lazy and hence can cause serio
ch, he is not likely to improve with tr

gative characteristics.
ache to the organisation. With his

“) - REJECTED
&

ible attitude on the partof the author. He identifies himself
d self-control. The hero allows himself to drift and ends up
' roach is thus negative oriented. He appears to

his problems. An individual who cannot be

0 NOT SELECTED
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Suggested stories on Picture No. 3

Story No. 1

Ashraf is a keen and capable pilot of PIA. Although quite young, because of his
interest, enthusiasm and urge he had already clocked over 20,000 hours of flying
and risen to the position of senior jet pilot and captain of the ]um_bo jet. Besides
being an excellent pilot, he was also intelligent, smart and resourceful. On his own
initiative he had mastered the techniques of coping up with hijackers and trained
his crew very weil in that art. Himself and his devoted, disciplined crew hada good
understanding. Because of their alertness and imagination they successfally foiled
the efforts of some hijackers and brought them to book. Once when Ashraf was
piloting the Jumbo jet, a girl hijacker walked into the cock-pit and holding a
revolver in her hand, ordered him to change course. He was not perturbed but acted
with calm and confidence.

He verbally agreed to obey her orders but noted that/she was standing lightly
without anything to support her in case of a sudden turr of the aircraft. He pressed
the alarm bell to the passengers to fasten their belts;-gave the signal to the crew
members and suddenly banked the aircraft deeply to the right. The girl hijacker was
taken unawares and fell on the floor. The crew member who was ready and waiting
pounced on her and disarmed her. Withina few minutes the aircraft made an
emergency landing in a nearby airfield.The hijackers were handed over to the
police and the aircraft took off again and reached its destination safely. He was
awarded a medal for his courageous act.

/

A

T —————
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impressed with the youthful figure
at the girl, forgetting that his aircr
unfortunate. The aircraft dashed a

and be.auty of the girl hijacker. He began to stare-; X
aft was in a dangerous situation. That was rather,

gainst a hill and was blown to pieces. ™
78
N\

Story No. 3 ;
\Y

Sobia was a strikingly beautiful girl with provocative features. She was conscious of
her beauty and proud of her ability to make men go mad aftér-her. She joined the
airlines as an airhostess. Captain Azhar, a pilot in the same airlines was a gay
bachelor and both decided to have fun and it ended up in an affair. Very soon she
was with child and she entreated him to marry her. Hedid not like the idea of being
bothered with the responsibility of a wife and child. Once when they flew together
she threatened to commit suicide if Azhar did not marry her. He was tactless and
gotirritated. He told her to go to hell and ordered her to get out of the cock-pit. She
wasinfuriated and threatened to kill him first before ending her own life. He tried to
snatch the revolver from her. In the struggle the revolver exploded. He was fatally
injured and vital instruments of the aeroplane being damaged, the plane plunged
towards the ground and exploded. ;

AN/

QO
Story No. 4 Q.Q/

Lala Rukh was a bQlu\ﬁful and an intelligent girl with a f.riend.ly-dis-position. ?he
was the beau een of her college and graduated with distinction and first

division. Since ‘she had an adventurous disposition, she wanted to visit fpreign
countrie.sé at the same time did not wish to become a permanent career girl, she

i i i tess and served for five years on contract.- Mer a
dEGde}grj gixu:ii)::haesl’a& a;tg:ipak relations deteriorated badly and the hijacking

year?h : en took place. She as a devout
o@!F -endship aircraft by Indian gunme! A,
&iot a:{l;l;e;::;nne‘si tf protect the PIA aircraftagainst Indian hijacking attempts.

] concerned closely and intelligently. One day she
in a suspicious manner. He Joaded many
two passengers aboard skirting the

. ’ security officer in confidence and four smart
seamtychecks La",’ -y spc;l;et?:;iel in thtZPlane. During the flight there was a
1 dress were ma collaborators of the Captain. But their show was a
mywwtma,evolvermherband Sheforcedthg
anieaREeT warted the 1 jjacking attempt. Her Wy

e was observant and watched all co
found the Captain of her aircraft acting .
personal baggages in the aircraft. He also too

O/

hi.
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SOLUTION

How 1O write?
SELF DESCRIPTION

Wr.lte ym}ll;c(k)lwn life history up to the present day. Write the details as per the following headings.
POlflfS w cann 0? be covered under these headings are to be mentioned undepthe last heading.
Write each heading in your accountas interesting as possible. :

PART - 1: MY HOME

Divide this part into the following two headings:
() My Family

Describe your father and mother, brother and sister giving their
education, occupation and the behaviour of your father. Give the
behaviour of your parents towards you. Who has influenced you
most inyour life and why? Whom (Brother/Sister) you like most

&why?

(b) My Environment
Describe your home, mohallah, etc. Describe the type of people

. wholive around you, and your association with various people

\«2{\/ including friends/ girl friends.
&\/

DiVide%part into the following two headings:
ly Life _ : |

y Early Describe your life from birth to the primary class (upto 7th class).
Give details of how you spend your spare time. Types of schools

attended and your teachers etc.

b College Life : :
(b) ollege Describe your Jife upto the Matric. Type of students, standard of
education, tyPe of teachers. Any friends and their peculiarities.

1 gth & other Examinations.
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PART - 11 : I XTRA ACTIV ITIeES

b) Hobbies

P
S

Special Interes

PART - IV : MISCELLANEOUS

U.;;.um.m,,,,./,.n,,,!,.,#;f“:5_::_:.._;::.,x
(a) 5&.«45&:207::::. Army?

(b) My best character trait (with reasons).

(<) Any other details including details about your life that have not been included

headings above.

PART -V

.,./:f::?1?.,_,@7;., VENT/INCIDENT of your life. It may include unforgettabl€ drea
l Ors LA DK gream, tnras
7./ parents or teachers or greatest ambition
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MEDICAL TEST

After you have qualified in ISSB you will be asked to appear for Final Medical Test. These are afew
things which are tested:-

Urine Test

Eye Sight Test

Chest X Ray

Ear, Nose and Throat (ENT)
Height, Weightand Chest
Heart Examination

Teeth Test

Knee Knoking Test

Flat Foot Test

Bones Test

Blood Pressure Test
Inherited Disease Test
Colour Blindness Test

OC®NONE RN

e
G O

You must not be afraid of Medical Examination. You might have note appeared in one earlier, but
nonetheless you should not pay Heed to any stories or rumours about it. It is a simple examination. If
you are normal healthy person, there is no reason why you should not be able to qualify it. Howeveryou
should notbe disappointqdﬁ(tor one reason or another you are not selected in it. You must understand
that a strict check up i Q\‘éﬂe'because of the extraordinary hardships and physical tasks which an army
officer is suppose erform. In normal civilian life you seldom undergo those difficult tasks. It does
not happeninth feof a civilian that he has toruna mile in less than 10 minutes or run nine miles in 90
minutes or ~For physical exertions, better physical standards are required. It is mainly for this reason
that ev r?gﬁnal healthy people are rejected. Someone having heard murmur or flat foot may not
suff use of it throughout his life and lead a healthy life butin army he is likely to suffer because of
it, This s precisely why army selection board conserves even smaller things.
There are certain defects which may not be cured easily but with a little effort, you can improve other
hings. If a person has 5 eyesight, he may notimprove it but a person having 1.5is likely to improve. As
far as height is concerned, you can improve it with the help of certain exercises but notto a very great
extent. However an improvement of 2 inches may be possible with the help of some exercises. Inthe
same way you can easily gain weightor lessen itand improve the chest girth.

e e
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MEDICAL CHECK UP

There are a few points, which may help you in medical check up:

EYESIGHT

Do not tax your eyesight just before the check up. Do not read for long time while
waiting for the check up. Wash your eyes with cold water and if it is summer, do not
stand in sun, itmay have a temporary effect on your eyesight.

EARS

Please clean your ears before going for check up. There may be certain deposits in
your ears, please getthem cleaned from some ear specialist, if youneed it.

WEIGHT

If you have less weight, take milk before being weighed. If it is summer, takedot of
water, if you are over-weight, you may avoid morning breakfast. Those who have
less weight should sleep more and take good diet. Those who are over weight
should sleep less and take good exercise which may reduce_the-weight. The
physical exercises would help in balancing your weight. However you should not be

bothered, if you have less weight, you will gain it with the help of exercises and good
food.

CHEST

Apply olive oil on your chest in the morning-and do push ups daily increasing it to
fifty. Chest spander spring will also help to-broaden the expansion of your chest. You

can improve 2-inch in less than two months, if you perform those exercises
regularly.

HEART

N
You should get yourse{:wedlcally examined by some doctor and he can advise you
if you have minor trouble. It is always better to undergo medical examination

~

beforehand, if you feel th i i
i n%n 2 at there is some defect. For Big: defects, you may be
€. However, once you are O.K. you will be able to qualify for the

‘ : pply for commissio i
e}g re you must take this point in mind before appeal i

: : ing to medical b
be still better, if you try your luck once more in an oard. It may

) other course a i
sometimes rather than blocking your way for the rest of your life nd wait for

The Ultimate Guide for AMC

vestncle

Infors
N cava
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MINIMUM PHYSICAL STANDARD

The candidates must fulfil the minimum physical standard which is as follows:-

The Ultimate Guide for Al

1. Height with
- Chegst 4 outshoes . 5ft2inches
3- 5 t(Eorma|) 30 % inches
: est(Expanded) .. 32 Y%inches
. Minimum chest Measurement
Age years Height i ini
EJ 9 \ (Relative to age and height) Welghk(ninimuy
[16-17 || ea"—66 30" - 32" 110 Ibs
67" — 69" 30 2" -32 %"
70" and above 31" -33" L
18 - 20 64" — 66" | 317 -33 115 Ibs
67" — 69" 31 %" -33%"
70" and above || 32" - 34 JL
21 gl 22 64" oo 66" 31 1/2" B %, "/2" 120 Ibs T
67" — 69" 32" - 34"
70" and above 32"-347%"

HEIGHT & WEIGHT CHART WITH RESPECT TO AGE FACTOR

Age

(Height WEIGHT IN POUNDS
in Inches)

28 700 1105 ] 110 [ 115 [119
; 59 04 [ 109 | 114 | 119 | 124
| 60 o7 [ 112 [ 118 | 123 128
ol 11 | 116 | 122 [ 127 1132
62 115 | 120 [126 | 131 136
63 18 [ 124 | 130 | 135 | 141
04 52 128 | 134 | 140 | 145
)3 126 [ 132 [ 138 | 144 | 150
5 130 | 136 | 142 | 148 | 155
730 | 146 | 153 | 159
144 | 151 | 158 [164
129 1156 | 162 | 169
— 1153 | 160 | 167 | 174
157 1165 | 172 [ 179
162 1169 | 177 | 184
166 1174 | 182 | 189
171 1179 | 186 | 194
176 | 184 | 192 | 200
178 | 189 | 197 | 205

p—

Height RO

v
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Interview is essentj

) indi Y, by a Deputy President
. Iewmay have the followmg breakdown:-
. Family backgroung
2. Educationg) backgroung
3. Technical Questions
EXAMPLE:
a. 12+2/4 =9
b. 3x3=7
4. General Knowledge
5 Character Analysis
EXAMPLE:
a. Do you see Vulgar Channels/CDg?
b. How many girl friends do you have ?
C. Doyousee BPs?
6. General Awareness
EXAMPLE:
a. What did you eat at breakfast?
b. How many Kms. is Jehlum from here? (Ifthe Candidates belong to Jehlum)
7. Games and Hobbies
EXAMPLE:
a. Whatdo you'doin your spare time ?
b. Detailedinformation aboutthe game.
c. Details aboutthe hobby.
8. Islamiat
9. Current/ General Affairs
EXAMPLE:

a2, Whereisour PM/President these days?
AN What developments took place in the |ast week?
C. What do you understand by Afghanistan Crisis?

3
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Sample Interview
For Defense Forces

The Ultimate Guide for AMC

w_@;@g Assalam-o-Alaikum

Chairman Wa Alaikum-us-Salam, Please take your seat

Candidate Thank you, Sir.

Chairman What are the categories of modern war?

Candidate Sir, the categories of the modern war are: total war, limited war, local war, cold

war, etc.
First Member
Candidate

Will you please furnish some elaboration on “total war”?

Sir, the total war denotes the carrying on of conflict with all the resources and all
the weapons of mass destruction without any limitation to its nature and
geography. No distinction is made between the military and civil population.
There is seldom any respect for the rights of neutrals, morals or human rights,
etc. Such a war, usually, engulfs the entire werld and developsinto a global war.

Second Member Will you please give some detail “on limited-war”?

Candidate Sir, the limited war is restricted in many ways. It may be limited in its means of
objects and location. [t represents/a war in which weapons of war or destruction
are not used against the home front. In this. category there may be restriction on
the means of fighting, but locality is not limited.

Third Member Whatis“cold war’?

i i iti ilitary affair. It precedes a

. - r is mainly a polmcal rather than a .nuh ry It prece

- = C:ll ddgtiaraﬁon, ofywar. It refers to a condition of international dispute
i here betw&en negotiation and war itself. It is, in fact, a dangerous
59:1\ et‘;:)n wm&;elaﬁons among nations have become strained and the next step
situa ; /

oy

- the worsening p]ight can lead to armed war. The participant nations in the
m 4

: sgs i i t by the exercise of
. deed, in political and economic copﬂlct except by ise

col%ﬁgg;;t total war by which a country aims at uprooting the existing

mu !

b

It makes utmost attempts to weaken the enemy by winning

Ce_Of Pov:i(g]el allies, overthrowing constitutional authority through

@V » hl? posnd infiltration, confusing his beliefs and undermining his

v ae cold war, on account of division of the world in two blocs,

?‘ econormy- divergent policies, has acquired a world-wide range. Each bloc is

0(:'; ‘;Chg pefore war becomes inevitable, such a position that it can be
@ Seemgt;\oﬂiz mu’umum period of fighting.

also, about “hotwar”?

hen a country finds it difficult to settle an international dispute,
: onflict to solve that issue which is called “hot war” ora “shooting
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3ge no 215
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allthe other images have & matching pair o imes and

The second imege does not bebrg,
pe. The second one does not Fave 3 metched line and

symmetry on both sides of theirshey
therefore & asymmetrial, mekrgitthe odd one out.

Correction
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The answer is C.
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allthe other imeges have a matching pair of lines and

The second irmage does not belorg,
ond one does not teve a matched line and

symmet ry on both sides of their shape. The sec
the refore & asymmetrical, maKrg itthe odd one out.
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Answer.

@@

ojo

ls"r:":s:e'r: f‘.‘:o:x:gzt the paﬂemst?nhe first two images the stripped sectionwas
y same occurred with the second set of images. However the patterns
remained the same and another was done 10 alter the images other than moving the i
patiern 1o 1he rignt With that in mind, the solution will contain the same p:‘ne':‘ns' 'ou“m
wnage and only the outher patiern will be moved, the only possible answer with th:t‘ :rsnem

s
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D
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The answer i 4

B m"’h‘: zé:O";maat the patterns of the first two images the stripped section¥® (s

0 gme. ar:“same occurred with the second set of images. Howeve! the P""w

pattern 1o the right wn:n:th" was done 10 alter the images other than moving 11 °*

image and only the outi that in mind, the solution will contain the same parte™ " .
outlier pattern will be moved, the only possible answer Wi pat ¢t
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